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1. Children acquire gender roles through all of the
following, except-

(a) socialization (b) culture

(c) tutoring(Ans) (d) media

2. One of the critiques of standardized tests has been
that-

(a) their language is difficult to understand

(b) the tests cannot be administered on large
populations

(c) they do not give a clear picture of a child's
ability

(d) they represent largely the mainstream culture
and are therefore biased(Ans)

3. The theory of multiple intelligence says that-

(a) intelligence can be of several kinds(Ans)

(b) paper-pencil tests are not helpful

(c) intelligence can be multiplied with effective
pedagogy

(d) intelligence can be rapidly accelerated

4. Teacher can utilize both assessment for learning
and assessment of learning to-

(a) know learning needs of child and select
teaching strategy accordingly

(b) assess child's performance at periodic
intervals and certify his/her performance

(c) monitor children's progress and set
appropriate goals to fill their learning gaps

(d) know children's progress and achievement
level(Ans)

5. Which one of the following is not related to
Continuous and Comprehensive Evaluation?

(a) It is an integral part of teaching- learning
process.

(b) It focuses on child's achievement in different
learning areas.

(c) It is useful to label children as slow, poor or
intelligent.(Ans)

(d) It has been mandated by the Right to
Education Act of India.

6. Giftedness in children can be attributed to-

1. CkPps ---- dks NksM+dj vU; lHkh ds }kjk fyax Hkwfedk,¡

xzg.k djrs gSaA

(a) lekthdj.k

(b) laLd`fr

(c) V;w'u

(d) ehfM;k

2. ekudhd̀r ijh{k.kksa dh vkykspukvksa esa ls ,d ;g gS fd&

(a) mudh Hkk"kk dks le>uk eqf'dy gS

(b) ijh{k.k cM+h vkcknh ij ykxw ugha fd, tk ldrs gSa

(c) os cPPks dh {kerk dh Li"V rLohj ugha nsrs gSa

(d) os eq[; :i ls eq[;/kjk dh laLd̀fr dk izfrfufèkRo

djrs gSa vkSj blfy, i{kikrh gSa

3. ,dkf/d cqf¼ekuh dk fl¼kar dgrk gS fd&

(a) cqf¼ dbZ izdkj dh gks ldrh gS

(b) isij&isafly ijh{k.k lgk;d ugha gSa

(c) izHkkoh vè;kiu ds }kjk cqf¼ c<+kbZ tk ldrh gS

(d) cqf¼ rsth ls c<+kbZ tk ldrh gS

4. f'k{kd lh[kus ds fy, ewY;kadu vkSj lh[kus ds ewY;kadu

nksuksa dk mi;ksx dj ldrs gSa&

(a) cPps dh lh[kus dh t:jrksa dks tkuus esa vkSj

rnuqlkj f'k{k.k j.kuhfr dk p;u djus esa

(b) vkof/d vrajkyksa ij cPPks ds izn'kZu dk vkdyu

djus vkSj mlds izn'kZu dks izekf.kr djus esa

(c) cPPkksa dh izxfr dh fuxjkuh djus vkSj muds lh[kus

ds vrajky dks Hkjus ds fy, mfpr y{; fu/kZfjr

djus esa

(d) cPpksa dh izxfr vkSj mifyC/ Lrj dks tkuus esa

5. fuEufyf[kr esa ls dkSu&lk lrr vkSj O;kid ewY;kadu ls

lacaf/r ugha gS\

(a) ;g f'k{k.k&vf/xe izfØ;k dk ,d vfHkÂ vax gSA

(b) ;g fofHkÂ f'k{kk&{ks=kksa esa cPps dh miyfC/ ij

dafnzr gSA

(c) ;g cPPkksa dks /hes] [kjkc ;k cqf¼eku ds :i esa

fpfàr djus esa mi;ksxh gksrk gSA
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(a) a resource-rich environment

(b) successful parents

(c) a disciplined routine

(d) an interplay between heredity and
environment(Ans)

7. Children coining from socio-economically
disadvantaged back-grounds need a classroom
environment which-

(a) values and uses their cultural and linguistic
knowledge(Ans)

(b) discourages the use of their language so that
they learn the mainstream language

(c) categorizes children based on their abilities

(d) teaches them good behaviour

8. The intervention needed for creative and talented
children in the classroom rests on-

(a) giving extra time to them

(b) being affectionate towards them

(c) giving them the responsibility of teaching
other children

(d) use of customized and stimulating
instructional methods by the teacher(Ans)

9. Which one of the following ways is not a suitable
way to help hyperactive children learn?

(a) Offering alternative ways of learning

(b) Including physical activity in their daily
schedule

(c) Reprimanding them often for being
restless(Ans)

(d) Breaking up a task into small, manageable
segments

10. Patterns of divergent thinking identify children, who
are

(a) dyslexic (b) creative(Ans)

(c) resilient (d) disabled

11. Which one of the following does not describe the
ways in which a teacher can model problem solving
for children in the classroom?

(a) Be honest about making mistakes while
solving something

(b) Use vocabulary like think, ideas, trial and
different answers

(c) Ask questions with convergent answers(Ans)

(d) Discuss your thought processes about solving

(d) bls Hkkjr ds f'k{kk ds vf/dkj vf/fu;e }kjk

vfuok;Z fd;k x;k gSA

6. cPpksa esa izfrHkk'kfyrk ------- ds dkj.k gks ldrh gSA
(a) ,d lalk/u&le`¼ okrkoj.k
(b) liQy ekrk&firk
(c) ,d vuq'kkflr fnup;kZ
(d) vkuqoaf'kdrk vkSj okrkoj.k ds chp ,d var%fØ;k

7. lkekftd&vkfFkZd :i ls oafpr i`"BHkwfe ls vkus okys
cPpksa dks d{kk ds ekgkSy dh vko';drk gksrh gS] tks&
(a) muds lkaLd`frd vkSj Hkk"kkbZ Kku dh egRo nsrk gSA

rFkk mudk mi;ksx djrk gS
(b) mudh Hkk"kk ds mi;ksx ds grksRlkfgr djrk gS rkfd

os eq[;/kjk dh Hkk"kk lh[k ldsa
(c) cPpksa dks mudh {kerkvksa ds vk/kj ij oxhZd`r

djrk gS
(d) mUgsa vPNk O;ogkj fl[kkrk gS

8. d{kk esa l`tukRed vkSj izfrHkk'kkyh cPpksa ds fy,
vko';d gLr{ksi fuHkZj djrk gS&
(a) mUgsa vfrfjDr le; fn, tkus ij
(b) muds izfr Lusgh gksus ds ukrs ij
(c) mUgsa vU; cPPkksa dks i<+kus dh ftEesnkjh nsus ij
(d) f'k{kd }kjk vuqdwfyr vkSj izsjd funsZ'ku rjhdksa ds

mi;ksx ij
9. vfrlaosnu'khy cPpksa dks lh[kus esa enn djus ds fy,

fuEufyf[kr esa ls dkSu&lk rjhdk mi;qDr rjhdk ugha gS\
(a) vf/xe ds oSdfYid rjhdksa dh is'kd'k
(b) muds nSfud dk;ZØe esa 'kkjhfjd xfrfof/ dk

lekos'k
(c) cspSu gksus ij vDlj mUgsa iQVdkj yxkuk
(d) ,d dk;Z dks NksVs] izca/uh; [kaMksa esa rksM+uk

10. vyx&vyx lksp okys iSVuZ mu cPpksa dh igpku djrs
gSa] tks&
(a) fMLysfDld gSa
(b) l`tukRed gSa
(c) izR;kLFkh gSa
(d) fodykax gSa

11. fuEufyf[kr esa ls dkSu&lk f'k{kd }kjk d{kk esa cPpksa ds
fy, leL;k gy djus ds rjhds dk o.kZu ugha dj ldrk
gSaA
(a) dqN gy djrs le; xyfr;ksa dks djus ds izfr

bZekunkj jguk
(b) lksp] fopkj] ijh{k.k vkSj fofHkÂ mÙkjksa tSlh 'kCnkoyh

dk iz;ksx djuk
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a particular problem

12. Which one of the following is an emotion?

(a) Fear(Ans) (b) Attention

(c) Stimulus (d) Memory

13. A three-year-old child explains that milk is
produced by a machine at the milk booth.

Which one of the following offers the best
explanation of the child's understanding?

(a) The child's answer is based on his/her
experience of buying milk from the milk
booth.(Ans)

(b) The child has never seen cows.

(c) The child's family does not offer a stimulating
environment to the child.

(d) The child has very limited exposure of the
world.

14. Which one of the following best describes a
teacher's role?

(a) A teacher should adhere to the prescribed
textbook

(b) Completing the syllabus on time leaving
enough time for revision is important

(c) Creating a relaxed space where children learn
through dialogue and inquiry(Ans)

(d) Teacher's most important role in the
classroom is to maintain discipline

15. Which one of the following classrooms encourages
rich learning?

(a) A classroom with open activity comers and
a variety of children's literature in open
shelves accessible any time of the day(Ans)

(b) A classroom with neatly organized material
in cupboards brought out once a week for
free play

(c) A classroom with structured and planned
learning driven by textbook content

(d) A classroom with a variety of material
displayed in the class beyond the reach of
children so that the material lasts longer

16. Which one of the following best describes the role
of textbooks in the classroom?

(a) They maintain homogeneity in learning across
a State or the Nation.

(b) They provide guidance to teachers and
parents about the course of study.

(c) They form the most essential learning
resource in a resource- starved context.

(c) vfHklj.k mÙkjksa okys iz'u iwNuk
(d) fdlh fo'ks"k leL;k dks gy djus ds ckjs esa viuh

fopkj&izfØ;kvksa ij ppkZ djuk
12. fuEufyf[kr esa ls dkSu&lk ,d laosx gS\

(a) Mj
(b) è;ku
(c) mÙkstuk
(d) Le`fr

13. ,d rhu lky dk cPpk crkrk gS fd nw/ cwFk ij ,d
e'khu }kjk nw/ dk mRiknu gksrk gSA
fuEufyf[kr esa ls dkSu&lk cPps dh le> dk lcls
vPNk Li"Vhdj.k iznku djrk gSA
(a) cPps dks tokc nw/ cwFk ls nw/ [kjhnus ds vius

vuqHko ij vk/kfjr gSA
(b) cPps us xk;ksa dks dHkh ugha ns[kk gSA
(c) cPps dk ifjokj cPPks dks izsjd okrkoj.k iznku ugha

djrkA
(d) cPps dks nqfu;k dk cgqr lhfer vukoj.k@Kku gSA

14. fuEufyf[kr esa ls dkSu&lk f'k{kd dh Hkwfedk dk lcls
vPNk o.kZu djrk gSA
(a) ,d f'k{kd dks fu/kZfjr ikB;iqLrd dk ikyu

djuk pkfg,
(b) ikB;Øe dks le; ij iwjk djus ds lkFk&lkFk

nksgkjkus ds fy, i;kZIr le; nsuk egÙoiw.kZ gS
(c) vkjke ds fy, txg cukuk] tgk¡ cPps  laokn vkSj

iwNrkN ds ekè;e ls lh[krs gSa
(d) d{kk esa f'k{kd dh lcls egÙoiw.kZ Hkwfedk vuq'kklu

dks cuk, j[kuk gS
15. fuEufyf[kr esa ls dkSu&lh d{kk lè¼ f'k{kk dks izksRlkfgr

djrh gS\
(a) og d{kk ftlesa [kqyh xfrfof/ dksusa gksa vkSj fofHkÂ

izdkj ds cky lkfgR; [kqyh rkd ('ksYiQ) esa j[kh
gksa] tks fnu ds fdlh Hkh le; izkIr fd;k tk ldsa

(b) vyekjh esa vPNh rjg laxfBr lkexzh okyh d{kk]
tgk¡ lkexzh dks lIrkg esa ,d ckj eqDr [ksy ds
fy, ckgj yk;k tkrk gSA

(c) ikB;iqLrd lkexzh }kjk lapkfyr lajfpr vkSj
;kstukc¼ vf/xe okyh d{kk

(d) og d{kk ftlesa iznf'kZr fofHkÂ izdkj dh lkexzh
cPpksa dh igq¡p ls ijs gks rkfd lkexzh yacs le;
,d pyrh jgs

16. fuEufyf[kr esa ls dkSu&lk d{kk esa ikB;iqLrdksa dh
Hkwfedk dk lcls vPNk o.kZu djrk gS\
(a) os ,d jkT; ;k jk"Vª esa vf/xe eas ,d:irk cuk,

j[krs gSaA
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(d) They are one of the resource and reference
materials available in the class.(Ans)

17. The National Curriculum Framework-2005 derives
its understanding from-

(a) behaviourism

(b) constructivism(Ans)
(c) cognitive theories (d) humanism

18. The children in a class can be considered to be
motivated if-

(a) they maintain discipline in the class

(b) all are regular in attendance

(c) they ask questions seeking clarification from
the Teacher(Ans)

(d) they come to school neatly dressed in uniform

19. Which one of the following is the most suitable to
improve children's learning?

(a) Teacher should explain the content using
different examples and illustrations.

(b) All types of learning material should be there
in the class.

(c) Teacher should facilitate children to interact
with each other on real-life situations.(Ans)

(d) Regular assessment test should be conducted.

20. The discipline which has a significant role in a
learning environment is of the kind which helps-

(a) to create silence

(b) teachers to give instructions

(c) children rote memorize their lessons

(d) children to regulate and monitor their own
learning(Ans)

21. Which one of the following statements is true
about the role of heredity and environment?

(a) A child's ability to learn and perform is
completely decided by the genes.

(b) Good care and a nutritious diet can fight off
any disorder a child is born with.

(c) Environment plays a significant role only in
the child's language development,

(d) Certain aspects of development are
influenced more by heredity and others more
by environment.(Ans)

22. Which one of the following statements cannot be
attributed to Piaget's theory?

(a) Children construct and use knowledge about
their world.

(b) os vè;;u ds ikB;Øe ds ckjs esa f'k{kdksa vkSj
ekrk&firk dks ekxZn'kZu iznku djrs gSaA

(c) os lalk/u&jfgr lanHkZ esa lcls vko';d vf/xe
lalk/u cukrs gSA

(d) os d{kk esa miYc/ lalk/u vkSj lanHkZ lkexzh esa ls
,d gSaA

17. jk"Vªh; ikB;p;kZ ÚseodZ& 2005 us viuh le> -------  ls
izkIr dh gSA
(a) O;ogkjokn (b) jpukokn
(c) laKkukRed fl¼kar (d) ekuorkokn

18. d{kk esa cPPkksa dks iszfjr le>k tk ldrk gS ;fn&
(a) os d{kk esa vuq'kklu cuk, j[krs gSa
(b) os lHkh mifLFkfr esa fu;fer gSa
(c) os f'k{kd ls Li"Vhdj.k izkIr djus ds fy, iz'u

iwNrs gSa
(d) os vPNh rjg ls onhZ igus Ldwy esa vkrs gSa

19. fuEufyf[kr esa ls dkSu&lk cPpksa esa vf/xe esa lq/kj
djus ds fy, lcls vf/d mi;qDr gS\
(a) f'k{kd dks fofHkÂ mnkgj.kksa vkSj fp=kksa dk mi;ksx

djds fo"k; dh O;k[;k djuh pkfg,A
(b) d{kk esa lHkh izdkj dh f'k{k.k&lkexzh gksuh pkfg,A
(c) f'k{kd dks okLrfod thou fLFkfr;ksa ij cPpksa dks

,d&nwljs ds lkFk ckrphr djus esa enn djuh
pkfg,A

(d) fu;fer ewY;kadu ijh{kk vk;ksftr dh tkuh pkfg,A
20. vuq'kklu] tks vf/xe okrkoj.k eas ,d egÙoiw.kZ Hkwfedk

fuHkkrk gS] fdl rjg dh enn djrk gS\
(a) pqIih lk/s jgus ds fy,
(b) f'k{kdksa dks funsZ'k nsus esa
(c) cPpksa dks muds ikB jVdj ;kn djus esa
(d) cPpksa dks viuh f'k{kk dks fofu;fer vkSj ekWuhVj

djus ds fy,
21. vkuwoaf'kdrk vkSj i;kZoj.k dh Hkwfedk ds ckjs esa fuEufyf[kr

esa ls dkSu&lk dFku lR; gSa\
(a) lh[kus vkSj izn'kZu djus dh ,d cPps dh {kerk

thuksa }kjk iwjh rjg ls fu/kZfjr dh tkrh gSA
(b) vPNh ns[kHkky vkSj ikSf"Vd vkgkj cPps ds fdlh

Hkh tUetkr fodkj dks nwj dj ldrk gSA
(c) i;kZoj.k dsoy cPps ds Hkk"kk&fodkl esa egÙoiw.kZ

Hkwfedk fuHkkrk gSA
(d) fodkl ds dqN igyw vkuqoaf'kdrk vkSj dqN vU;

i;kZoj.k ls vf/d izHkkfor gksrs gSaA
22. fuEufyf[kr esa ls dkSu&lk dFku fi;kts ds fl¼kar ds
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(b) Learning takes place through constant
practice.(Ans)

(c) Children act on their environment.

(d) Development occurs in qualitative stages.

23. Which one of the following is not a limitation of

the preoperational thought?

(a) Development of the symbolic thought(Ans)

(b) Egocentrism

(c) Irreversibility

(d) Tendency to concentrate

24.  Play has a significant role in development of young

children for the following reasons, except-

(a) it stimulates their senses

(b) it is just a pleasant way to spend time(Ans)

(c) they acquire new skills and learn when to

use them

(d) they gain mastery over their body

25. Which one of the following questions invites

children to think critically?

(a) What is the right answer?

(b) Can you think of a similar situation?

(c) What are the different ways in which we

can solve this?(Ans)

(d) Do you know the answer to this?

26. Which one of the following options best describes

progressive education?

(a) Thematic units, regular unit tests, ranking

(b) Personalized learning, ability grouping,

labeling students

(c) Project method, ability grouping, ranking

(d) Learning by doing, project method,

cooperative learning(Ans)

27. Which one of the following statements about

progressive education explains-Education is life

itself ?

(a) Schools are not required, children can learn

from their life experiences.

(b) Education in schools should reflect the social

vuqlkj dgk ugha tk ldrk gS\
(a) cPps viuh nqfu;k ds ckjs esa Kku dk fuekZ.k vkSj

mi;ksx djrs gSA
(b) fujaarj vH;kl ls vf/xe gksrk gSA
(c) cPps vius i;kZoj.k ij fØ;k djrs gSaA
(d) fodkl xq.kkRed pj.kksa esa gksrk gSA

23. fuEufyf[kr esa ls dkSu&lh iwoZ&lafØ;kRed fopkj dh

,d lhek ugha gS\

(a) izrhdkRed fopkj dk fodkl

(b) vgaeU;rk

(c) vuqRØe.kh;rk

(d) è;ku dasfnzr djus dh izofÙk

24. ----------- ds vykok] fuEufyf[kr dkj.kksa ls [ksy ;qok cPpksa

ds fodkl esa ,d egÙoiw.kZ Hkwfedk fuHkkrk gS%

(a) ;g mudh bafnz;ksa dks mÙksftr djrk gS

(b) ;g le; fcrkus dk ,d lq[kn rjhdk gS

(c) os u, dkS'ky gkflr djrs gSa vkSj lh[krs gSa fd mUgsa

dc mi;ksx fd;k tk,

(d) os vius 'kjhj ij fuiq.krk izkIr djrs gSa

25. fuEufyf[kr esa ls dkSu&lk iz'u cPpksa dks xaHkhj :i ls

lkspus ds fy, vkeaf=kr djrk gS\

(a) lgh tokc D;k gS\

(b) D;k vki blh rjg dh fLFkfr ds ckjs esa lksp ldrs

gSa\

(c) fofHkÂ rjhdksa ls ge bls dSls gy dj ldrs gaS\

(d) D;k vki bldk mÙkj tkurs gSa\

26. fuEufyf[kr esa ls dkSu&lk fodYi izxfr'khy f'k{kk dk

lcls vPNk o.kZu djrk gS\

(a) fHkeSfVd bdkb;k¡] fu;fer bdkbZ ijh{k.k] jSfdax

(b) O;fDrxr vf/xe] {kerk lewg cukuk] Nk=kksa dh

yscfyax

(c) ifj;kstuk fof/] {kerk lewg cukuk] jSfdax

(d) dj ds lh[kuk] ifj;kstuk fof/] lg;ksx ls lh[kuk

27. izxfr'khy f'k{kk ds ckjs esa fuEufyf[kr eas ls dkSu&lk

dFku crkrk gS& f'k{kk Lo;a gh thou gS\

(a) Ldwyksa dh vko';drk ugha gS] cPps vius thou ds
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and natural world.(Ans)

(c) Life is the true educator.

(d) School education should continue as long as

possible.

28. Which one of the following can be considered as
a contribution of Kohlberg's theory?

(a) The theory has elaborate testing procedures.

(b) It establishes a clear relation-ship between
moral reasoning and action.

(c) His belief is that children are moral
philosophers.

(d) His theory has supported an association
between cognitive maturity and moral
maturity.(Ans)

29. The Zone of Proximal Development refers to-

(a) the developmental phase when child takes
complete responsi-bility for learning

(b) a context in which children can almost
perform a task on their own with the right
level of support(Ans)

(c) the point in learning when support can be
withdrawn

(d) the phase when maximum development is
possible

30. An androgynous personality-

(a) has a balance of what are generally
considered masculine and feminine traits
(Ans).

(b) tends to be assertive and arrogant

(c) adheres to stereotypical gender roles
prevalent in the society

(d) refers to men with feminine traits

vuqHkoksa ls lh[k ldrs gSaA

(b) Ldwyksa esa f'k{kk lkekftd vkSj izkd`frd nqfu;k dks

izfrfcafcr djsA

(c) thou lPpk f'k{kd gSA

(d) Ldwy f'k{kk dks ;FkklaHko yacs le; rd tkjh

j[kuk pkfg,A

28. dksg~ycxZ ds fl¼kar ds ;ksxnku ds :i esa fuEufyf[kr esa
ls fdls ekuk tk ldrk gS\

(a) bl fl¼kar esa foLr`r ijh{k.k izfØ;k,¡ gSaA

(b) ;g uSfrd rdZ vkSj dkjZokbZ ds chp ,d Li"V
laca/ LFkkfir djrk gSA

(c) mudk foJkol gS fd cPPks uSfrd nk'kkZfud gSaA

(d) muds fl¼kar us laKkukRed ifjidrk vkSj uSfrd
ifjiDdrk ds chp ,d lg;ksx dk leFkZu fd;k
gSA

29. fudVorhZ fodkl dk {ks=k lanfHkZr djrk gS&

(a) ml fodklkRed pj.k dks] tc cPpk lh[kus dh
iwjh ftEesnkjh ysrk gS

(b) ,d lanHkZ dks] ftlesa cPps lg;ksx ds lgh Lrj ds
lkFk dksbZ dk;Z yxHkx Lo;a dj ldrs gSa

(c) ml lh[kus ds fcanq dks] tc lg;ksx okil fy;k tk
ldrk gS

(d) ml pj.k dks] tc vf/dre fodkl laHko gS

30. ,d mHk;fyaxh O;fDrRo&

(a) eS vkerkSj ij ekus x, enkZuk vkSj L=kh xq.kksa dk
lek;kstu gksrk gS

(b) esa n`<+ vkSj vgadkjh gksus dh vknr gS

(c) lekt esa izpfyr :f<+oknh fyax Hkwfedkvksa dk
ikyu djrk gS

(d) L=kh y{k.kksa okys iq:"kksa dks lanfHkZr djrk gS
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31. Creativity is thought to be related to the concept of-
(1) crystallized intelligence
(2) convergent thinking
(3) divergent thinking(Ans)
(4) fluid intelligence

32. The acceptable sound combinations of a language
are specified in its rules.
(1) grammatical (2) syntactic
(3) inflection (4) phonological(Ans)

33. The position where thought patterns are influenced
by language is called-
(1) linguistic determination(Ans)
(2) cognitive bias
(3) sociolinguistic genesis
(4) cultural tendency

34. Ravi repairs appliances by testing hypothesis
about the cause of the malfunction based on his
experiences with the symptoms. He uses-
(1) algorithms (2) mental set
(3) heuristics(Ans)  (4) insight

35. Divya often divides the assigned job into small
tasks which she can handle easily. She is using-
(1) secondary elaboration
(2) subgoal analysis(Ans)
(3) functional fixedness
(4) reductionism

36. Society determines the roles of male and female."
This statement articulates-
(1) gender as a hereditary endowment
(2) gender as an intuitive construct
(3) gender as a social construct(Ans)
(4) gender as an inherent construct

37. Grading, coding, marking and credit accumulation
systems are some of the examples of-
(1) symbolizing position of children in the class
(2) depicting the academic progress in report

card
(3) scoring procedure of assessment of learners'

achievement(Ans)
(4) evaluation procedure of answer sheets of the

examination

38. Assessment of learners' achievement helps the

31. l̀tukRedrk dks ---- dh vo/kj.kk ls lacaf/r ekuk tkrk gSA

(a) joknkj ckSf¼drk (b) vfHkl`r lksp

(c) fofo/ lksp (d) nzo ckSf¼drk

32. fdlh Hkk"kk ds Lohd`r èofu la;kstuksa dks blds -----
fu;eksa ds varxZr crk;k tkrk gSA

(a) O;kdjf.kd (b) okD;kRed

(c) foHkfÙkQ&fo"k;d (d) èofu&laca/h

33. tc lkspus dh izfØ;k fdlh Hkk"kk }kjk izHkkfor gksrh gS]
rks ,slh fLFkfr dks dgrs gSa&

(a) Hkk"kk fu/kZfjr

(b) laKkukRed i{k

(c) lkekftd&Hkk"kk;h mn~Hkr

(d) laLd`fr izHkkfor

34. vius vuqHkoksa vkSj y{k.kksa ds vk/kj ij midj.kksa esa
[kjkch ds dkj.k dh ifjdYiuk dk ijh{k.k dj jfo
midj.kksa dh ejEer djrk gSA og mi;ksx djrk gS&

(a) dyu&fof/ dk (b) ekufld n`<+rk dk

(c) vuqekuh fof/ dk (d) varnZ̀f"V dk

35. fnO;k vdlj funsZf'kr dk;kZsa dks NksVs&NksVs fgLlksa esa
foHkkftr dj vklku cuk nsrh gSA og mi;ksx djrh gS&

(a) f}rh;d foLrkj.k fof/ dk

(b) miy{; fo'ys"k.k fof/ dk

(c) fØ;kRed tM+rk fu;ked fof/ dk

(d) de djus dh fof/ dk

6. ^^iq:"k vkSj efgyk dh Hkwfedkvksa dk fu/kZj.k lekt
djrk gSA** ;g dFku crkrk gS fd&

(a) ySafxdrk ,d vkuqoaf'kd izfrHkk gS

(b) ySafxdrk ,d varKkZuh vorj.k gS

(c) ySafxdrk ,d lkekftd vorj.k gS

(d) ySafxdrk ,d varfuZfgr vorj.k gS

7. xzsafMx] dksfMax] vadu vkSj ØsfMV lap; iz.kkfy;k¡ ------ ds
dqN mnkgj.k gSA

(a) d{kk esa cPpksa dh fLFkfr dh fu:i.k fof/

(b) vkys[k&i=k (fjiksVZ dkMZ) esa vdknfed izxfr dks
n'kkZus

(c) vf/xedrkZvksa dh miyfC/ ds vkdyu dh
x.ku&fof/

(d) ijh{kk ds mÙkj&i=kksa ds eY;kadu dh izfØ;k
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teachers to-

(1) evaluate the effectiveness of pedagogy(Ans)

(2) make ability grouping of learners in the

classrooms

(3) prepare activity log for teaching

(4) maintain the performance record of learners

39. Inclusive Education is based on the principle of-

(1) equity and equal opportunities(Ans)

(2) social existence and globalization

(3) world brotherhood

(4) social equilibrium

40. The Rights of Persons with Disabilities Act has

been enacted in the year-

(1) 1995 (2) 1999

(3) 2016(Ans) (4) 1992

41. Children with individual differences -should be

taught in a school having teachers-

(1) trained to use different pedagogy to meet

their diverse learning needs(Ans)

(2) trained to teach children with specific

individual differences

(3) trained to make them homogeneous learners

(4) to teach in different sections of classrooms

based on their  individual differences

42. The Right of Children to Free and Compulsory

Education Act, 2009 ensures the rights of children

with disabilities to free education from-

(1) 3 years to 18 years

(2) 6 years to 14 years

(3) 6 years to 22 years

(4) 6 years to 18 years(Ans)

43. Providing teaching-learning materials in accessible

formats to the diverse learners implies-

(1)  Universal Code of Teaching Practices

(2) Universal Humanistic Approach of Teaching

(3) Universal Design of Learning(Ans)

(4) Universal Inclusive Education Ethical

Considerate
44. ______ involves self-awareness and control of

8. vf/xedrkZvksa dh miyfC/ dk vkdyu f'k{kdksa dh
lgk;rk djrk gS&

(a) f'k{k.k&vf/xe fof/;ksa dh izHkko'khyrk dk ewYa;du
djus esa

(b) d{kkvksa esaa vf/xedrkZvksa ds {kerk lewg cukus esa

(c) f'k{k.k ds fy, xfrfof/;ksa dh lwph rS;kj djus esa
(d) vf/xerkZvksa ds izn'kZu dk fjdkWMZ j[kus esa

9. lekos'kh f'k{kk ----- ds fl¼kar ij vk/kfjr gSA

(a) lerk ,oa leku volj

(b) lkekftd vfLrRo ,oa oS'ohdj.k

(c) fo'o ca/qrk

(d) lkekftd larqyu

10. fnO;kaxtu vf/dkj vf/fu;e o"kZ ------ esa ykxw fd;k x;k gSa

(a) 1995 (b) 1999

(c) 2016 (d) 1992

11. O;fDrxr fofo/rkvksa okys cPpksa dks i<+kus ds fy, ,sls
fo|ky; gksus pkfg, tgk¡ f'k{kd&

(a) fofo/ vf/xe vko';drkvksa ds vuqlkj fofHkÂ
f'k{k.k&vf/xe izfof/;ksa dk iz;ksx djus esa izf'kf{kr
gksa

(b) fof'"V O;fDRkxr fofo/rkvksa okys cPpksa dks i<+kus
ds fy, izf'kf{kr gksa

(c) cPPkksa dks le:i vf/xedrkZ cukus esa izf'kf{kr gksa

(d) O;fDrxr fofo/rkvksa ds vk/kj ij oxhZd`r dh xbZ
d{kkvksa ds fofHkÂ oxkZs esa i<+k ldsa

12. fu%'kqYd ,oa vfuok;Z cky f'k{kk vf/dkj vf/fu;e]
2009 fnO;kax cPpksa dh fu%'kqYd f'k{kk ds vf/dkjksa dks
lqfuf'pr djrk gS&

(a) 3 o"kZ ls 18 o"kZ rd ds fy,

(b) 6 o"kZ ls 14 o"kZ rd ds fy,

(c) 6 o"kZ ls 22 o"kZ rd ds fy,

(d) 6 o"kZ ls 18 o"kZ rd ds fy,

13. fofo/ vf/xedrkZvksa ds fy, lqxE; Lo:iksa esa
f'k{k.k&vfèkxe lkefxz;k¡ iznku djus dk rkRi;Z ------- ls
gSA

(a) f'k{k.k O;kolkf;drk dh lkoZHkkSfed lafgrk

(b) f'k{k.k ds lkoZHkkSfed ekuooknh n`f"Vdks.k

(c) vf/xe dh lkoZHkkZfed lajpuk

(d) lkoZHkkSfed lekos'kh f'k{kk ds uSfrd fopkj
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cognitive abilities, e.g., planning, reviewing and
revising, etc.
(1) Metacognition(Ans) (2) Cognition
(3) Accommodation (4) Centration

45. When children think to interpret the received
information according to their experiences, it is
called-
(1) creative thinking (2) abstract thinking
(3) concrete thinking(Ans) (4) re f lec t ive
thinking

46. Teaching learners at varying levels of difficulty based
on the ability of individual learner is known as-
(1) selective instruction
(2) precision teaching
(3) errorless instruction
(4) differentiated instruction(Ans)

47. Maintenance is the specific stage of learning which
is antecedent to stage of learning.
(1) motivation (2) independent
(3) generalization(Ans) (4) acquisition

48. Zajonc believes that cognition and emotion are-
(1) independent(Ans)(2) interrelated
(3) integrated (4) interdependent

49. A teacher is teaching children by demonstration
of a task to correct the performances of an
already learned task. He is using method of
teaching.
(1) observation (2) correction
(3) modelling(Ans) (4) imitation

50. According to Mann and Janis, decision maker
children analyze the problem, list the alternatives
and weigh each option for its advantages and
disadvantages. His behaviour reflects-
(1) vigilant(Ans) (2) outgoing
(3) autocratic (4) surveillance

51. In thinking, a child as a problem solver evaluates
the truth or likelihood of statements.
(1) aesthetic (2) abstract
(3) logical(Ans) (4) creative

52. The task in which the children get experience while
enjoying themselves is known as-
(1) consumer type task(Ans)
(2) producer type task
(3) problem type task
(4) drill and practice task

53. Multisensoiy approach in teaching- learning is the

14. Lotkx:drk ,oa laKkukRed {kerkvksa dk fu;a=k.k tSls &
;kstuk cukuk] leh{kk djuk vkSj la'kks/u djuk bR;kfn -
------ esa varfuZfgr gSaA
(a) laKkucks/ (b) laKku
(c) lek;kstu (d) dsanzhdj.k

15. tc cPps izkIr dh xbZ lwpukvksa dh O;k[;k djus ds fy,
vius vuqHkoksa ds vk/kj ij lksprs gSa] rks mls ------- dgk
tkrk gSA
(a) l`tukRed lskp (b) vewrZ lksp
(c) ewrZ lksp (d) izfrfØ;koknh lksp

16. vf/xedrkZvksa dks O;fDrxr {kerk ds vk/kj ij mudh
dfBukb;ksa ds fofHkÂ Lrjksa dks è;ku esa j[krs gq, i<+kus dh
fof/ dks ------ dgk tkrk gSA
(a) p;fur vuqns'ku (b) lVhd f'k{k.k
(c) =kqfVghu&vuqns'ku (d) foHksnh vuqns'ku

17. izfrikyu vf/xe dk ,d fof'k"V pj.k gS] tks vf/xe
ds ------- pj.k dk iwoZorhZ gSA
(a) vfHkizsj.k (b) vkRefuHkZjrk
(c) lkekU;hdj.k (d) vf/xzg.k

18. ttksad dk ;g ekuuk gS fd laKku vkSj Hkko ------- gksrs gSaA
(a) Lora=k (b) varlZacaf/r
(c) ,dhd̀r (d) vU;ksU;kfJr

19. igys ls lh[ks gq, dk;kssZ esa lq/kj ykus ds fy, f'k{kd
cPpksa dks izn'kZu nsdj lh[kk jgk gSA og f'k{k.k dh ----
fof/ dk iz;ksx dj jgk gSA
(a) voyksdu (b) la'kks/u
(c) izfr:i.k (d) vuqdj.k

20. eSÂ vkSj tSful ds vuqlkj] fu.kZ; ysus okys cPps leL;k
dk fo'ys"k.k djrs gSa] fodYiksa dh lwph cukrs gSa vkSj
blds iQk;ns vkSj uqdlku ds izR;sd igyw ij fopkj djrs
gSaA mldk O;ogkj izLrqr djrk gS&
(a) lrdZ (b) fuorZeku
(c) fuajdq'k (d) pkSdl

21. ,d leL;k lq/kjd cPpk ------- fopkj ds vk/kj ij
dFkuksa dh lPpkbZ ;k laHkkouk dk ewY;kadu djrk gSA
(a) lkSan;Zcks/ (b) vewrZ
(c) rkfdZd (d) l̀tukRed

22. ftl fn, x, dk;Z dks djrs le; cPpsa Lo;a vkuan ysrs
gq, vuqHko izkIr djrs gS] mls ------- dgk tkrk gSA
(a) miHkksDrk izdkj dk dk;Z
(b) fuekZ.kRed izdkj dk dk;Z
(c) leL;kRed izdkj dk dk;Z
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simultaneous use of visual, auditory, tactile and
senses to enhance learning.
(1) vestibular (2) perceptual
(3) observational (4) kinesthetic(Ans)

54. The development from central part of the body
towards peripheries or extremities denotes the-
(1) principles of decentralized development
(2) principles of proximodistal
development(Ans)
(3) principles of cascade development
(4) principles of radiated development

55. School is an institution of socialization of children
where-
(1) school routines occupy the central position
(2) school activities occupy the central position
(3) schoolteachers occupy the central position
(4) schoolchildren occupy the central
position(Ans)

56. If you join a teacher fraternity and choose to dress
like most of the others in your group, you are
exhibiting-
(1) obedience
(2) compliance
(3) conformity(Ans)
(4) group identity

57. The concept of object permanence is attained
during Piaget's stage of development.
(1) preoperational
(2) concrete operational
(3) formal operational
(4) sensorimotor(Ans)

58. Individualized Education Programme is planned
from the perspective of-
(1) Child-centered Education Programme(Ans)
(2) Open School Education Programme
(3) e-Learning Education Programme
(4) Special Education Programme

59. Between months of age, most children begin to
combine words into short sentences while
speaking.
(1) 18 and 24(Ans) (2) 24 and 30
(3) 30 and 36 (4) 12 and 18

60. The concept of Intelligence Quotient or IQ was
developed by-
(1) Binet (2) Stern(Ans)
(3) Terman (4) Galton

(d) fMªy vkSj vH;kl dk;Z

23. cgq&laosnh f'k{k.k&vf/xe dh izfof/ esa vf/xe&laoèkZu
gsrq n`';] JO;] Li'kZ vkSj ------- laosnukvksa dk ,d lkFk
iz;ksx fd;k tkrk gSA

(a) d.kZ&dVksj (b) izR;{khdj.k

(c) voyksdu (d) xfrcks/d

24. 'kjhj ds dsanzh; Hkkx ls ifjf/;ksa ;k vxzkaxks dh vksj dk
fodkl n'kkZrk gS&

(a) fodsanzhd`r fodkl ds fl¼karks dks

(b) eè;&cká fodkl ds fl¼karks dks

(c) lksikuh; fodkl ds fl¼karksa dks

(d) fofdj.kh; fodkl ls fl¼krksa dks

25. Ldwy cPpksa ds lekthdj.k dh ,d ,slh laLFkk gS tgk¡&

(a) izeq[k LFkku Ldwy dh fnup;kZ dk gksrk gS

(b) izeq[k LFkku Ldwy dh xfrfof/;ksa dk gksrk gS

(c) izeq[k LFkku Ldwy ds f'k{kdksa dk gksrk gS

(d) izeq[k LFkku Ldwyh cPpksa dk gksrk gS

26. tc vki ,d f'k{kd lewg ls tqM tkrs gSa vkSj vius lewg
ds vU; yksxksa dh gh rjg iks'kkd /kj.k djus yxrs gSa] rks
vki izn'kZu dj jgs gksrs gSa&

(a) lewg vkKkdkfjrk dk

(b) lewg funsZ'k&vuqikyu dk

(c) lewg dh vuq:irk

(d) lewg dh igpku dk

27. fdlh oLrq ds LFkkf;Ro dh vo/kj.kk fi;kts ds fodkl
ds ------- pj.k esa izkIr gks tkrh gSA

(a) iwoZ&ifjpkyu (b) ewrZ ifjpkyu

(c) vkSipkfjd ifjpkyu (d) laosnh&xked

28. O;fDRkxr f'k{kk dk;ZØe dh ;kstuk ----- ds lanHkZ esa
cuk;h tkrh gSA

(a) cky&dasfnzr f'k{kk dk;ZØe

(b) eqDr fo|ky;h f'k{kk dk;ZØe

(c) bZ&vf/xe f'k{kk dk;ZØe

(d) fo'ks"k f'k{kk dk;ZØe

29. -------- eghuksa dh vk;q ds chp vf/dka'k cPps 'kCnksa dks
feykdj NksVs&NksVs okD;ksa eas cksyuk 'kq: dj nsrs gSA

(a) 18 ls 24 (b) 24 ls 30

(c) 30 ls 36 (d) 12 ls 18

30. cqf¼yfC/ dk vkbúD;wú dh vo/kj.k nh xbZ Fkh&

(a) fcus ds }kjk (b) LVuZ ds }kjk

(c) VeZu ds }kjk (d) xSyVkWu ds }kjk
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61. Which of the following constructs does Right
to Education Act, 2009 advocate ?

(1) Inclusive education(Ans)

(2) Segregation

(3) Mainstreaming

(4) Integrated education

62. ………. Is the philosophy that all children
have a right to get equal education in a regular
school system.

(1) Mainstreaming

(2) Special education

(3) Multi-cultural education

(4) Inclusion(Ans)

63. A teacher should -

(1) promote students belonging to certain
cultures.

(2) ignore cultural differences and diversity
amongst students.

(3) communicate that she respects and
values all cultures in the classroom.(Ans)

(4) maximize comparisons amongst students.

64. Children learn effectively when -

(1) they memorise facts given in the
textbook.

(2) they copy answers written by the teacher
on the blackboard.

(3) they actively participate in different
activities and tasks.(Ans)

(4) the teacher fully controls everything that
happens in the class including the children.

65. Children should _______  questions in the
class.

(1) be discouraged to ask

(2) not be allowed to ask

(3) be stopped from asking

(4) be encouraged to ask(Ans)

61- fuEufyf[kr lajpukvksa esa ls f'k{kk dk vf/dkj nsus
ds fy, lgh@lcls mi;qDr fodYi pqfu,%
(1) lekos'kh f'k{kk
(2) i`Fkdj.k
(3) eq[;/kjk f'k{k.k
(4) ,dhd`r f'k{kk

62- -------- ;g fopkj/kjk gS fd lHkh cPpksa dks ,d
fu;fer fo|ky; O;oLFkk esa leku f'k{kk izkIr djus
dk vf/dkj gSA
(1) eq[;/kjk f'k{kk
(2) fo'ks"k f'k{kk
(3) cgqy&lkaLd`frd f'k{kk
(4) lekos'kh f'k{kk

63- ,d f'k{kd dks pkfg, fd
(1) og fo'ks"k @ leqnk; ds cPpksa dks c<+kok nsA
(2) og fo|kfFkZ;ksa ds chp lkaLd`frd fofHkUurkvksa
rFkk fofo/rk dh vuns[kh djsaA
(3) ;g lEiszf"kr djsa fd og d{kkd{k esa lHkh
laLd`fr;ksa dk lEeku djrh gSa ,oa egÙo nsrh gSA
(4) og fo|kfFkZ;ksa ds chp rqyuk dks vf/dre
djsaA

64- cPPks izHkkoh :i ls lh[krs gSa tc&
(1) os ikB;iqLrd eas fn, x, rF;ksa dks ;kn djrs
gSA
(2) os ';keiV ij vè;kid ds }kjk fy[ks x,
mÙkjksa dh udy djrs gSa\
(3) os fofHkUu xfrfof/;ksa ,oa dk;ksZ esa lfØ; :i
ls Hkkx ysrs gSaA
(4) f'k{kd d{kk esa gksus okyh lHkh ?kVukvksa o
cPpksa dks iw.kZ :i ls fu;af=kr djrk gSA

65- cPPkksa dks d{kk esa iz'u&
(1) iwNus ds fy, grksRlkfgr djuk pkfg,A
(2) iwNus dh vuqefr ugha nsuh pkfg,A
(3) iwNus ls jksduk pkfg,A
(4) iwNus ds fy, iszfjr djuk pkfg,A
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66. Which of the following is NOT a key process
through which meaningful learning occurs ?

(1) Repetition and practice

(2) Instruction and direction

(3) Exploration and interaction

(4) Memorization and recall(Ans)

67. Which of the following represents the correct
matching of children in column-A with their
primary characteristic in column-B ?

Column-A

i. Gifted

ii. Learning disabled

iii. Creative

iv. Attention Deficit Hyperactivity Disorder
(ADHD)

Column-B

a. Lacks reading fluency

b. Can think of original solutions

c. Tendency to get distracted easily

d. Ability to learn quickly and independency

i ii iii iv

(1) d a b c(Ans)

(2) d c a b

(3) a b d c

(4) d c b a

68. Children's errors -

(1) should be immediately corrected by
asking them to do repeated practice

(2) are a part of learning and give an insight
into their thinking.(Ans)

(3) are insignificant in the teaching- learning
process.

(4) reflect how careless children are.

69. Assessment -

(1) should be a part of the teaching- learning
process.(Ans)

(2) should be done only in terms of marks.

(3) should be based on objective type written
tasks.

(4) should be undertaken as a separate
activity.

66. fuEufyf[kr esa dkSu&lh ,d eq[; izfØ;k ugha gS
ftlds }kjk lkFkZd vf/xe ?kfVr gksrk gS\
(1) iqujko`fr ,oa vH;kl
(2) funsZ'k ,oa lpkyu
(3) vUos"k.k ,oa ikjLifjd fØ;k
(4) daBLFkhdj.k ,oa Lej.k

67- fuEufyf[kr esa ls dkSu lk LrEHk&d ds cPpksa dks
LrEHk&[k esa mudh izkFkfed fo'ks"krkvksa ds lgh
feyku dks izLrqr djrk gSA

LrEHk&d
I. izfrHkk'kkyh
II. vf/xe v'kDrk
III. l̀tukRed
IV. vo/ku deh vfrlfØ;rk O;frØe (ADHD)

LrEHk&[k
(a) /kjkizokg i<+us esa deh gSA
(b) ewy lek/kuksa ds ckjs esa lksp ldrk gSA
(c) vlkuh ls fopfyr gksus dh vknr gSA
(d) 'kh?kzrk ls ,oa Lora=k :i ls lh[kus dh ;ksX;rk

i ii iii iv
(1) d a b c
(2) d c a b
(3) a b d c
(4) d c b a

68. cPpksa dh xyfr;k¡ ---------
(1) ckj ckj vH;kl djus ds fy, dg dj rqjar
lq/kj nsuh pkfg,A
(2) vf/xe dk ,d Hkkx gSa rFkk muds fopkjksa esas
,d varnZ̀f"V nsrh gSA
(3) f'k{k.k&vf/xe izfØ;k eas egRoghu gSA
(4) iznf'kZr djrh gSa fd cPps fdrus ykijokg gSaA

69. ewY;kadu dks ---------
(1) f'k{k.k&vf/xe izfØ;k dk ,d Hkkx gksuk pkfg,A
(2) dsoy uEcjksa ds lanHkZ esa djuk pkfg,A
(3) oLrqfu"B izdkj ds fyf[kr dk;ksZ ij vk/kfjr
gksuk pkfg,A
(4) ,d vyx xfrfof/ ds :i es nsuk pkfg,A
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70. In a constructivist frame, learning is -

(1) passive and individualistic.

(2) the process of acquisition of knowledge.

(3) a change in behaviour as a result j of
experience.

(4) active and social in its character.(Ans)

71. When teachers have positive beliefs about
students and their abilities, the students -

(1) become relaxed and stop putting in any
efforts to learn.

(2) become demotivated and stressed.

(3) are not affected in any way.

(4) are eager and motivated to learn.(Ans)

72. A teacher can encourage children to become
effective problem solvers by -

(1) giving them plenty of opportunities to
answer similar kinds of questions from the
textbook.

(2) emphasizing on rote memorisation of the
information given in the textbook.

(3) encouraging children to make intuitive
guesses and to look at multiple solutions to
the problem.(Ans)

(4) writing step-by-step solution to all the
questions in the textbook.

73. Use of methods where learner's own initiative
and efforts are involved is an example of -

(1) Deductive method

(2) Learner-centered method(Ans)

(3) Traditional method

(4) Inter-personal intelligence

74. What principle does the following highlight ?

"Students who do not perform well, feel that
they are not 'good enough' and feel
demotivated. They are then likely to give up
easily without trying or persisting in doing
tasks."

(1) Cognition and emotions are not related.

(2) Heredity and environment are not
separable.

(3) Heredity and environment are not
related.

(4) Cognition and emotions are not
separable.(Ans)

70. lajpukRed n`f"Vdks.k ds vuqlkj] vf/xe -------- gSA
(1) ,d fuf"Ø; ,oa O;fDrijd izfØ;k
(2) tkudkjh ds vtZu dh izfØ;k
(3) vuqHko ds izfj.kke ds :i esa O;ogkj esa ,d
ifjorZu gksus dh izfØ;k
(4) ,d lfØ; ,oa lkekftd izfØ;k

71. tc f'k{kd dks fo|kfFkZ;ksa ,oa mudh ;ksX;rkvksa ds
ckjs esssa ldkjRed fo'okl gksrk gS rc fo|kFkhZ&
(1) fuf'pUr gks tkrs gSa rFkk lh[kus ds fy, fdlh
Hkh rjg dk iz;kl djuk can dj nsrs gSaA
(2) dk mRlkg Hkax gks tkrk gS rFkk os ncko esa vk
tkrs gSaA
(3) fdlh Hkh :i esa izHkkfor ugha gksrs gSaA
(4) lh[kus ds fy, mRlqd ,oa iszfjr jgrs gSA

72. ,d f'k{kd cPpksa dh izHkkoh :i ls leL;k dk
lekèkku djus esa l{ke cuus ds fy, fdl rjg ls
izksRlkfgr dj ldrh gS\
(1) ikB~;iqLrd ls ,d gh izdkj ds iz'uksa ds mÙkj
ds vH;kl ds fy, mUgsa i;kZIr ek=kk esa volj iznku
djdsA
(2) ikB~;iqLrd esa nh xbZ lqpukvksa ds daBLFkhdj.k
djus ij cy nsdjA
(3) cPpksa dks leL;k dss ckjs esa lgtkuqHkwr vuqeku
yxkus ,oa cgq&fodYiksa dks ns[kus ds fy, izksRlkfgr
djdsA
(4) ikB~;iqLrd ds lHkh iz'uksa ds O;ofLFkr rjhds
ls lek/ku fy[kdjA

73. og fof/;k¡ ftuds iz;kssx esa fo|kfFkZ;ksa dh Lo igy
o iz;kl 'kkfey gSa] fuEu esa ls fdldk mnkgj.k gSa\
(1) fuxeukRed fof/
(2) vf/xedÙkkZ dsafnzr fof/
(3) ijEijkxr fof/
(4) vUroSa;fDr cqf¼

74. uhps fy[kh gqbZ fLFkfr fdl fl¼kar dks n'kkZrh gS\
^^tks fo|kFkhZ vPNk izn'kZu ugha dj ikrs gS] os
eglwl djrs gSa fd os ̂ ^i;kZIr :i ls vPNs** ugha gS
vkSj grksRlkfgr eglwl djrs gSA rc muesa fcuk iz;kl
ds dk;Z dks vklkuh ls NksM+ nsus dh laHkkouk gSA
(1) laKku ,oa losx lacaf/r ugha gSA
(2) vkuqoaf'kdrk ,oa i;kZoj.k vyx ugh gSaA
(3) vkuqoaf'kdrk ,oa i;kZoj.k lacaf/r ugha gSA
(4) laKku ,oa laosx vyx ugha gSaA
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75. Which of the following is the primary
socialising agency ?

(1) School

(2) Government

(3) Media

(4) Family(Ans)

76. The major proposition of Jean Piaget's theory
is that -

(1) Children's thinking is superior to adults.

(2) Children's thinking is quantitatively
different from adults.

(3) Children's thinking is qualitatively
different from adults.(Ans)

(4) Children's thinking is inferior to adults.

77. Gender is a/an -

(1) psychological entity

(2) social construct(Ans)

(3) economic concept

(4) biological determinant

78. Which of the following correctly identifies the
broad domains of development ?

(1) Emotional; intellectual; spiritual and self

(2) Physical; personality; spiritual and
emotional

(3) Social; physical; personality; self

(4) Physical; cognitive; social and
emotional(Ans)

79. Which of the following statements about
intelligence is correct ?

(1) Intelligence is a relatively permanent
change in behaviour as a result of experience.

(2) Intelligence is hereditary trait that
involves mental activities such as memory and
reasoning.

(3) Intelligence is multi-dimensional
involving several abilities not entirely
measureable by intelligence tests.(Ans)

(4) Intelligence is the ability to think
convergently.

80. In progressive-education children are seen
as -

(1) passive imitators

(2) active explorers(Ans)

(3) blank slates

75. fuEufyf[kr esa dkSu izkFkfed lkekthdj.k ekè;e gSaa\
(1) fo|ky;
(2) ljdkj
(3) ehfM;k
(4) ifjokj

76. thu fi;ktws ds fl¼kar dk izeq[k izLrko gS fd&
(1) cPPkksa dh lksp o;Ldksa ls csgrj gksrh gSA
(2) cPpksa dh lksp ek=kkRed :i esa o;Ldksa ls
fHkUUk gksrh gSA
(3) cPpksa dh lksp xq.kkRed :i ls o;Ldksa ls
fHkUu gksrh gSA
(4) cPpksa dh lksp o;Ldksa ls fuEu gksrh gSA

77. tsaMj&
(1) ,d euksoSKkfud lÙkk gSA
(2) ,d lkekftd lajpuk gSA
(3) ,d vkfFkZd vo/kj.kk gSA
(4) ,d tSfod fu/kZjd gSA

78. fuEufyf[kr esa ls dkSu fodkl ds O;kid vk;keksa dh
lgh igpku djrk gS\
(1) laosxkRed] ckSf}d] vkè;kfRed ,oa Lo
(2) 'kkjhfjd] O;fDRo] vkè;kfRed ,oa laosxkRed
(3) lkekftd] 'kkjhfjd] O;fDrRo Lo
(4) 'kkjhfjd] laKkukRed] lkekftd vkSj laosxkRed

79. cqf¼ ds ckjs esa fuEufyf[kr dFkuksa es ls dkSu&lk lgh
gS\
(1) cqf¼ vuqHko ds ifj.kke ds :i esa O;ogkj esa
,d vis{kkd`r LFkk;h ifjorZu gSA
(2) cqf¼ ,d vkuqoaf'kd fo'ks"kd gS ftlesa ekufld
xfrfof/;k¡ tSls Lej.k ,oa rdZ 'kkfey gksrh gSA
(3) cqf¼ cgq&vk;keh gS ftlesa cqf¼ ijh{k.kksa ds
}kjk iw.kZ :i ls ifjes; u dh tkus okyh dbZ
;ksX;rk,¡ 'kkfey gSaA
(4) cqf¼ vfHklkjh :i ls lkspus dh ;ksX;rk gSA

80. izxfr'khy f'k{kk esa cPpksa dks fdl rjg ls ns[kk
tkrk gS\
(1) fuf"Ø; vuqdkjdksa ds :i esa
(2) lfØ; vUos"kdksa ds :i esa
(3) [kkyh LysVksa ds :i esa
(4) NksVs o;Ldksa ds :i esa
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(4) miniature adults

81. According to Lev Vygotsky, learning is-

(1) an individual activity

(2) a passive activity

(3) a conditioned activity

(4) a social activity(Ans)

82. Which of the following characterizes a child
in the preoperational stage ?

(1) Goal-directed behaviour

(2) Deferred Imitation

(3) Irreversibility of thought(Ans)

(4) Circular reactions

83. Which of the following statements regarding
children and their learning is correct ?

(1) Children's motivation to learn and their
capability to learn is pre-determined by
heredity only.

(2) Children's socio-economic background
determines and limits their motivation and
learning capability.

(3) Children have to be rewarded and
punished to make them motivated for
learning.

(4) All children are naturally motivated to
learn and are capable of learning.(Ans)

84. There are individual variations in the rate of
motor development, yet the sequence of
motor development is from __________ to
_________.

(1) proximodistal, cephalocaudal

(2) gross motor development; fine motor
development(Ans)

(3) fine motor development; gross motor
development

(4) cephalocaudal; proximodistal

85. The period that initiates the transition to
adulthood is -

(1) Middle childhood

(2) Pre-operational period

(3) End childhood

81. yso ok;xksV~Ldh ds vuqlkj vf/xe&
(1) ,d O;fDrxr xfrfof/ gSA
(2) ,d fuf"Ø; xfrfof/ gSA
(3) ,d vuqcaf/r xfrfof/ gSA
(4) ,d lkekftd xfrfof/ gSA

82. fuEufyf[kr esa ls dkSu lk iwoZ fØ;kRed voLFkk
dky ds cPps dks fo'ksf"kr djrk gS\
(1) y{;&funsZf'kr O;ogkj
(2) foyafcr vuqdj.k
(3) fopkjksa dh vuqRØe.kh;rk
(4) oqrZy izfrfØ;k

83. cPPkksa vkSj muds ifj.kke ds lanHkZ esa fuEufyf[kr
dFkuksa esa ls dkSu lk lgh gS\
(1) cPPkksa dks lh[kus ds fy, vfHkizsj.kk rFkk lh[kus
ds fy, mudh l{kerk dsoy vkuqokaf'kdrk ds }kjk
iwoZ fu/kZfjr gSA
(2) cPpksa dh lkekftd&vkfFkZd i`"BHkwfe mudh
iszj.kk ,oa vf/xe l{kerk dks fu/kZfjr o lhfer
djrk gSa
(3) cPpksa dks vf/xe gsrq iszfjr djus ds fy, mUgsa
iqjLd`r ,oa nafMr djuk gksrk gSA
(4) lHkh cPPks lh[kus ds fy, LokHkkfod :i ls
iszfjr gksrs gsSa rFkk lh[kus esa l{ke gSaA

84. pkyd fodkl dh nj esa O;fDrxr fofo/rk,¡ gksrh
gSa] fiQj Hkh pkyd fodkl dk Øe ------------- ls --
----- rd gSA
(1) v/ksxkeh_ 'kh"kZxkeh
(2) vifj"d`r (LFkwy) pkyd fodkl_ ifj"d`r
(LFkwy) pkyd fodkl
(3) vifj"d`r (LFkwy) pkyd fodkl_ ifj"d`r
(LFkwy) pkyd fodkl
(4) 'kh"kZxkeh_ v/ksxkeh

85. og vof/ tks o;Ldrk ds laØe.k dh igy djrh
gS] mls D;k dgrs gSa\
(1) eè; ckY;koLFkk
(2) iwoZ&fØ;kRed vof/
(3) ckY;koLFkk dh lekfIRk
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(4) Adolescence(Ans)

86. According to Jean Piaget, children -

(1) learn by observing others following a
process of observational learning.

(2) can be conditioned to behave in particular
ways by carefully controlled stimulus -
response associations.

(3) can be taught to behave and learn in
specific manner using principles of rewards
and punishment.

(4) actively construct knowledge as they
manipulate and explore the world.(Ans)

87. Lev Vygotsky refers to the verbal dialogues
that children have with themselves as -

(1) private speech(Ans)

(2) distorted speech

(3) problematic speech

(4) egocentric speech

88. Associating toys, articles of clothing,
household items, occupations and colours
with specific sex, is a demonstration of -

(1) gender stereotyping(Ans)

(2) gender theory

(3) gender relevance

(4) evolved gender identity

89. In an elementary classroom it is important to
_________ the experiences that a child brings
with her.

(1) neglect

(2) ignore

(3) build on(Ans)

(4) deny

90. A child argues that Heinz shouldn't steal the
drug (medicine that can save his wife) because
he will be caught and sent to jail if he does
so. According to Kohlberg, which stage of
moral understanding does the child fall under
?

(1) The social-order maintaining orientation

(2) The punishment and obedience
orientation(Ans)

(3) The universal ethical principle
orientation

(4) fd'kksjkoLFkk
86. thu fi;kts ds vuqlkj] cPps &

(1) isz{k.kkRed vf/xe dh izfØ;k dk vuqlj.k djrs
gq, nwljksa dk voyksdu djds lh[krs gSaA
(2) dks míhiu&vuqfØ;k laca/ksa ds lko/kuhiwoZd
fu;a=k.k ds }kjk ,d fo'ks"k rjhds ls O;ogkj djus
ds fy, vuqcaf/r fd;k ;k ldrk gSA
(3) dks iqjLdkj ,oa n.M ds fl¼karks dk iz;ksx
djrs gq, fof'k"V rjhds ls O;ogkj djuk ,oa lh[kuk
fl[kk;k tk ldrk gSA
(4) Kku dks lfØ; :i ls lajfpr djrs gS] tSls&tSls
os nqfu;k esa O;ogkj dkS'ky dk iz;ksx djrs gSa rFkk
vUos"k.k djrs gSaA

87. ekSf[kd laokn tks cPps vius vk; ls djrs gSa] mUgsa
yso ok;xksRldh D;k dgrs gSa\
(1) O;fDrxr okrkZ
(2) Hkzkar okrkZ
(3) leL;kRed okrkZ
(4) vgadsafnzr okrkZ

88. f[kykSus] igukos dh oLrq,¡] ?kjsyw lkefxz;k¡ O;olk;ksa
,oa jaxksa dks fof'k"V fyax ds lkFk lacafèkr djuk D;k
iznf'kZr djrk gS\
(1) tsaMj :f<+okfnrk
(2) tsaMj fl¼kar
(3) tsaMj izklafxdrk
(4) fodflr tsaMj igpku

89. ,d izkjafHkd d{kkd{k esa ,d cPph vius lkFk tks
vuqHko ykrh gS
(1) mldh mis{kk djuh pkfg,A
(2) mu ij è;ku ugha nsuk pkfg,A
(3) mUgsa 'kkfey dj mudk lap; djuk pkfg,A
(4) mUgsa vLohdkj djuk pkfg,A

90. ,d cPpk rdZ izLrqr djrk gS fd fgat dks nokbZ dh
pkjsh ugha djuh pkfg, (og nokbZ tks mldh iRuh
dh tku cpkus ds fy, t:jh gS)] D;ksafd ;fn og
,slk djrk gS rks mls idM+k tk,xk vkSj tsy Hkst
fn;k tk,xkA dksycxZ ds vqulkj og cPpk uSfrd
le> dh fdl voLFkk ds varxZr vkrk gS\
(1) lkekftd&Øe fua;=kd vfHkfoU;kl
(2) n.M ,oa vkKkikyu vfHkfoU;kl
(3) lkoZhHkkSe uSfrd fl¼kar vfHkfoU;kl
(4) ;a=kh; mís'; vfHkfoU;kl
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(4) The instrumental purpose orientation

91. To understand individual differences in
development it is important

(a) to look at the environmental factors that
affect individuals.

(b) to consider maturation of the body and
the brain.

(c) to consider both inherited
characteristics as well as environmental
factors and their interplay.(Ans)

(d) to look at the inherited characteristics
that give each person a special start in life.

92. Which of the following is not a principle of
development ?

(a) Development is relatively orderly.

(b) Development takes place gradually over
a period of time.

(c) Exact course and nature of development
is determined at the time of birth itself.(Ans)

(d) Individuals develop at different rates.

93. Several research studies show that teachers
have more overall interaction with boys than
girls. What is the correct explanation for this
?

(a) Boys need more attention than girls.

(b) This is an example of gender bias in
teaching.(Ans)

(c) Boys are easier to manage than girls in
the classroom.

(d) Boys have much more academic
capabilities than girls.

94. Which of the following is central to the
concept of progressive eduation?

(1) Belief in the capability and potential of
every child (Ans)

(2) Standard instruction and assessment

(3) Extrinsic motivation and uniform
assessment parameters

(4) Textbook centric Learning

95. What instructional adaptations should a
teacher make while working with students
who are 'Visually Challenged' ?

(a) Use a variety of visual presentations.

(b) Orient herself so that the students can
watch her closely.

(c) Focus on a variety of written tasks
especially worksheets.

91. fodkl esa oS;fDrd fofHkUurk dks le>us ds fy,
D;k egRoiw.kZ gS\
(a) i;kZoj.kh; dkjdksa ij fopkj djuk tks yksxksa
dks izHkkfor djrs gSaA
(b) 'kjhj ,oa fnekx ds ifjiDou ij fopkj djukA
(c) o'kkaxr fo'ks"krkvksa ds lkFk&lkFk i;kZoj.kh;
dkjdksa ,oa mudh ikjLifjd fØ;k ij fopkj djukA
(d) oa'kkxr fo'ks"krkvksa ij fopkj djuk tks izR;sd
O;fDr dks thou esa fo'ks"k 'kq:vkr nsrh gSaA

92. fuEufyf[kr esa ls dkSu&lk fodkl dk fl¼kar ugha
gS\
(a) fodkl rqyukRed :i ls Øfed gksrk gSA
(b) fodkl le; ds lkFk /hjs&/hjs ?kfVr gksrk gSA
(c) fodkl dh lVhd xfr ,oa izd̀fr tUe ds le;
gh fu/kZfjr gks tkrh gSA
(d) O;fDr vyx&vyx xfr ls fodkl djrs gSaA

93. vusd 'kks/ vè;uksa ls irk pyrk gS fd f'k{kd
yM+fd;ksa dh vis{kk yM+dksa ls vf/d ikjLifjd
fØ;k djrs gSaA bldk lgh foospu D;k gS\
(a) yM+fd;ksa dh rqyuk esa yM+dksa dks vf/d vo/
ku dh vko';drk gksrh gSA
(b) ;g f'k{k.k esa fyx i{kikr dk ,d mnkgj.k gSA
(c) d{kk esa yM+fd;ksa dh rqyuk esa yM+dksa dks vf/
d vklkuh ls fu;af=kr fd;k tk ldrk gSA
(d) yM+fd;ksa dh rqyuk esa yM+dksa esa 'kSf{kd {kerk,¡
dkiQh vf/d gksrh gSA

94. fuEufyf[kr esa ls dkSu&lk izzxfr'khy f'k{kk dh vo/
kj.kk ds ckjs esa izeq[k gS\
(a) izR;sd cPps dh {kerk ,oa laHkkouk esa fo'okl
djuk
(b) ekud funZs'k ,oa ewY;kadu
(c) ckã iszj.kk rFkk ,d:i ewY;kdau ekunaM
(d) ikB~;iqLrd dasnzh; vf/xe

95. ^n`'; :i ls ckf/r* fo|kfFkZ;ksa ds lkFk dk;Z djrs
le; ,d f'k{kd dks fdl izdkj ds vuqns'ku
vuqdwyu djus pkfg,\
(a) dbZ izdkj dh n`'; izLrqfr;ksa dk iz;ksx djukA
(b) Lo;a vfHkfoU;kl djuk rkfd fo|kFkhZ mls
è;ku ls ns[k ldsaA
(c) vusd izdkj ds fyf[kr dk;ksZa] fo'ks"k :i ls
odZ'khvksa ij è;ku dsafnzr djukA
(d) Li"V :i ls cksyuk rFkk Nwdj eglwl djus
okyh lkefxz;ksa dk vf/d ek=kk esa iz;ksx djukA
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(d) Speak clearly and use a lot of touch and
feel materials.(Ans)

96. Co-operative learning and peer-tutoring
…………. in an inclusive classroom.

(a) should be actively discouraged

(b) should be occasionally used

(c) should not be used

(d) should be actively promoted(Ans)

97. Which of the following is most important in
an inclusive classroom ?

(a) Standardized testing

(b) Promoting competitive learning

(c) Individualized education plan(Ans)

(d) Uniform instruction

98. Which of the following is a correctly matched
pair of learners and their primary
characteristics ?

(a) 'Dyslexic' learners - Lack reading and
writing fluency(Ans)

(b) Creative learners - Hyperactive; slow in
completing work

(c) Attention deficit learners - High
motivation; can sustain attention for long
periods of time.

(d) Hearing impaired learners - Cannot
comprehend visual information

99. The ability to come up with original and
divergent solutions to a problem is a primary
characteristic of

(a) Impaired children

(b) Creative children(Ans)

(c) Children with learning disability

(d) Egocentric children

100. Which of the following would not be
consistent with a constructivist environment
?

(a) Students work collaboratively and are
given support to engage in task-oriented
dialogue with each other.

(b) Teachers elicit students' ideas and
experiences in relationship to key topics and
plant teaching-learning to elaborate or
restructure their current knowledge.

(c) Teachers employ specific end of the term

96. lg;ksxkRed vf/xe ,oa gemez lkfFkZ;ksa ds }kjk
f'k{k.k dk ,d lekos'kh d{kk sea fdl izdkj ls
mi;ksx djuk pkfg,A
(a) lfØ; :i ls grksRlkfgr djuk pkfg,A
(b) dHkh&dHkh iz;ksx djuk pkfg,A
(c) iz;ksx ugha djuk pkfg,A
(d) lfØ;k :i ls vkxs c<+kuk pkfg,A

97. fuEufyf[kr esa ls dkSu&lk lekos'kh d{kk esa lcls
vf/d egRoiw.kZ gS\
(a) ekudhd`r ijh{k.k
(b) izfr;ksxh vf/xe dks c<+kok nsuk
(c) fof'k"V f'k{kk ;kstuk
(d) ,d:i funsZ'k

98. vf/xedÙkkZvksa ,oa mudh izkFkfed fo'ks"krkvksa ds
feyuk ;qXeksa esa ls fuEufyf[kr esa ls dkSu lk lgh gS\
(a) ^iBu&v{kerk* vf/xedrkZ& /kjkizokg i<+us
,oa fy[kus esa deh gSA
(b) l`tukRed vf/xedÙkkZ&vfrlfØ;_ dk;Z dks
iwjk djus esa /hes gSaA
(c) vo/kukRed deh vf/xedÙkkZ&mPPk vfHkiszj.kk]
yEcs le; rd vo/ku cuk, j[k ldrs gSA
(d) JO; {kfrxzLr vf/xedÙkkZ &ǹ'; lwpukvksa dks
le> ugha ldrs gSaA

99. ,d leL;k dks ewy ,oa vilkjh lek/kuksa ds lkFk
djus dh ;ksX;rk fuEufyf[kr esa ls fdldh ,d
izkFkfed fo'ks"krk gS\
(a) {kfrxzLr cPpksa dh
(b) l`tukRed cPpksa dh
(c) vf/xe v'kDrrk okys cPpksa dh
(d) vgadsafnzr cPpksa dh

100. fuEufyf[kr esa ls dkSu lk ,d lajpukRed ifjos'k
ds lkFk vuqdwy ugha gks ldrk gS\
(a) fo|kFkhZ lg;ksxkRed rjhd ls dk;Z djrs gSa
rFkk vkil ls dk;Z&dsafnzr okrkZ esa yxs jgus ds fy,
lg;ksx fn;k tkrk gSA
(b) f'k{kd izeq[k izdj.kksa ds laca/ esa fo|kfFkZ;ksa
fopkjksa ,oa vuqHkoksa dks izkIRk djrs gSa rFkk muds
orZeku Kku dh iqulZjpuk ;k foLr`r djus ds fy,
f'k{k.k&vf/xe dh ;kstuk cukrs gSA
(c) vè;kid fof'"V l=kkolku ewY;kadu j.kuhfr;ksa
dks ykxw djrs gSa rFkk izfØ;kvksa ds ctk; izn'kZu ij
iQhMcSd nsrs gSaA
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assessment strategies and give feedback on
products rather than processes.(Ans)

(d) Students are given frequent
opportunities to engage in complex,
meaningful, problem- based activities.

101. A teacher should encourage students to set
…………. rather than …………… .

(a) performance goals; learning goals

(b) failure avoiding goals; marks seeking
goals

(c) marks seeking goals; failure avoiding
goals

(d) learning goals; performance goals(Ans)

102. Which of the following does not result in
meaningful facilitation of learning ?

(a) Promoting repetition and recall(Ans)

(b) Use of examples and non-examples

(c) Encouraging multiple ways of looking at
a problem

(d) Connecting new knowledge to pre-
existing knowledge

103. Which of these is an example of extrinsic
motivation ?

(a) "I learn so much when I do my
homework."

(b) "Doing homework makes me
understand my concepts better."

(c) "I complete my homework because the
teacher gives us marks for each
assignment."(Ans)

(d) "I enjoy doing my homework because it
is so much fun."

104. In a primary classroom a teacher should

(a) give only non-examples

(b) give both examples and non-
examples(Ans)

(c) not give any examples and non-examples

(d) give only examples

105. Which of the following strategies would
promote meaning-making in children ?

(a) Transmission of information

(b) Using punitive measures

(d) fo|kfFkZ;ksa dks tfVy] lkFkZd ,oa leL;k&vk/
kfjr xfrfof/;ksa esa yxs jgus ds fy, yxkrkj volj
iznku fd, tkrs gSaA

101.,d f'k{kd dks fo|kfFkZ;ksa dks ------------ fu/kZfjr
djus ds fy, izksRlkfgr djuk pkfg, ctk, ---------
- dsA
(a) izn'kZu y{;_ vf/xe y{;
(b) vliQyrk ls cpus ds fy, y{;_ vad ysus ds
fy, y{;
(c) vad ysus ds fy, y{;_ vliQyrk ls cpus ds
fy, y{;
(d) vf/xe y{;_ izn'kZu y{;

102. fuEufyf[kr esa ls dkSu lk vf/xe ds lkFkZd ljyhdj.k
ds :i esa ifj.khr ugha gksrk gS\
(a) nksgjkuis ,oa Lej.k djus dks c<+kok nsukA
(b) mnkgj.kksa ,oa xSj&mnkgj.kksa dk iz;ksx djukA
(c) ,d leL;k ij vusd rjhdksa ls fopkj djukA
(d) igys ls fo|eku Kku ls u, Kku dks tksM+ukA

103.buesa ls dkSu&lk ckã vfHkiszj.kk dk ,d mnkgj.k
gS\
(a) ^^eS cgqr vf/d lh[krh gw¡ tc eS viuk
x`gdk;Z djrh gw¡A**
(b) ^^x`gdk;Z djus esa eS viuh vo/kj.kkvksa dks
vPNh rjg ls le> ikrh gw¡A**
(c) ^^eS viuk x̀gdk;Z iwjk djrh gw¡ D;ksafd f'k{kd
izR;sd fu;r dk;Z ds fy, gesa vad nsrs gSaA
(d) ^^eS viuk x`gdk;Z djuk ialn djrh gw¡ D;ksafd
;g cgqr vkuUnk;d gSA**

104.,d izkFkfed d{kkd{k eaas ,d f'k{kd dks D;k
djuk pkfg,\
(a) dsoy xSj&mnkgj.k nsus pkfg,A
(b) mnkgj.k ,oa xSj&mnkgj.k nksuksa nsus pkfg,A
(c) mnkgj.k ;k xSj&mnkjg.k nksuksa ugha nsus pkfg,A
(d) dsoy mnkgj.k nsus pkfg,A

105. fuEufyf[kr j.kfufr;ksa esa ls dkSu lh cPpkas esa vFkZ
fuekZ.k dks c<+kok nsxh\
(a) lwpukvksa dk lajp.k
(b) naMkRed lk/uksa dk iz;ksx djuk
(c) ,d:i ,oa ekudhd`r ijh{k.k
(d) vUos"k.k ,oa ifjppkZ
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(c) Uniform and standardized testing

(d) Exploration and discussion(Ans)

106. Which of the following are examples of
effective learning strategies ?

(i) Setting goals and time tables

(ii) Making organizational charts and
concept maps

(ill) Thinking of examples and non-
examples(Ans)

(iv) Explaining to a peer

(v) Self-questioning

107. In the constructivist frame child viewed as

(a) 'tabula rasa' or 'blank slate whose life is
shaped entirely by experience.

(b) a 'passive being' who can be shaped and
molded into any fom through conditioning.

(c) a 'problem solver' and a 'scientific
investigator'.(Ans)

(d) 'miniature adult' who is less than adult
in all aspects such as size, cognition,
emotions.

108. A teacher's role while using co-operative
learning in her class -

(a) is to leave the class and let children work
on their own.

(b) is to be supportive and monitor each
group.(Ans)

(c) is to support the group which has the
'bright' and 'talented' children.

(d) is to be a silent spectator and let children
do what they want.

109. Children's errors and misconceptions -

(a) are a hindrance and obstacle to the
teaching-learning process.

(b) should be ignored in the teaching-
learning process.

(c) signify that children's capabilities are far

106. fuEufyf[kr essa ls dkSu izHkkoh vf/xe j.kuhfr;ksa ds
mnkgj.k gSa\
(i) y{; ,oa le;&lkfj.kh fu/kZfjr djukA
(ii) laxBukRed pkVkSZ ,oa vo/kj.kkRed uD'ks
cukukA
(iii) mnkgj.kksa ,oa xSj&mnkgj.kksa ds ckjs esa lkspukA
(iv) gemez lkFkh dks le>kukA
(v) Lo;a ls iz'u djukA

107.lajpukRed <kaps esa cPps dks fdl :i esa ns[kk tkrk
gS\
(a) ^dksjh ifV;k* ;k ^[kkyh LysV* ftlds thou
dks vuqHko ds }kjk iw.kZ :i ls vkdkj fn;k tkrk gSA
(b) ,d ^fuf"Ø; izk.kh* ftls vuqca/u ds }kjk
fdlh Hkh :i esa vkdkj fn;k tk ldrk gS rFkk <kyk
tk ldrk gSA
(c) ,d ̂ leL;k&lek/ku djus okyk* rFkk oSKkfud
vUos"kd ds :i esaA
(d) ^y?kq o;Ld* ds :i esa tks lHkh i{kksa tSls
vkdkj] laKku rFkk laosx esa o;Ld dh rqyuk esa de
gSA

108.viuh d{kk esa lg;ksxkRed vf/xe dk iz;ksx djrs
le; ,d f'k{kd dh Hkwfedk fdl izdkj dh gksrh
gS\
(a) d{kk dks NksM+ nsuk rFkk cPpksa dks Lo;a dk;Z
djus nsukA
(b) lg;ksxkRed gksuk RkFkk izR;sd lewg dh fuxjkuh
djukA
(c) ml lewg dk lg;ksx djuk ftlesa ̂ gksugkj* ,oa
izfrHkk'kkyh cPps gSaA
(d) ,d ewd n'kZu gksuk rFkk cPps tks djuk pkgrs
gSa] mUgsa djus nsukA

109.cPpksa dh xyfr;k¡ ,ao Hkzkar&/kj.kk,¡ ---------- -
(a) f'k{k.k&vf/xe izfØ;k ds fy, :dkoV ,oa
foèu gSA
(b) f'k{k.k &vf/xe izfØ;k esa vuns[kh djuh pkfg,A
(c) lwfpr djrh gSa fd cPPkksa dh {kerk,¡ o;Ldksa
dh rqyuk esa cgqr fuEu Lrj dh gSaA
(d) f'k{k.k&vf/xe izfØ;k esa ,d egÙoiw.kZ dne
gSA
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inferior than that of adults.

(d) are a significant step in the teaching-
learning process. (Ans)

110. According to Piaget, specific psychological
structures (organized ways of making sense
of experience) are called

(a) schemes(Ans)

(b) images

(c) mental maps

(d) mental tools

111. "With an appropriatequestion / suggestion,
the child's understanding can be extended far
beyond the point which she could have
reached alone." Which construct does
them above statement highlight ?

(a) Equilibration

(b) Conservation

(c) Intelligence

(d) Zone of proximal development(Ans)

112. According to Lev Vygotsky, basic mental
capacities are transformed into higher
cognitive processes primarily through

(a) social interaction(Ans)

(b) stimulus-response association

(c) adaptation and organization

(d) rewards and punishment

113. Which of the following statements denotes the
relationship between development and
learning correctly?

(a) Learning takes place irrespective of
development.

(b) Rate of learning far exceeds the rate of
development.

(c) Development and learning are inter-
related and inter-dependent.(Ans)

(d) Development and learning are not
related.

114. One of the major accomplishments of
concrete operational stage is

(a) Ability to conserve(Ans)

110. fi;kts ds vuqlkj] fof'k"V euksoSKkfud lajpuk,¡
(vuqHko ls lgh vFkZ fudkyus ds O;ofLFkr rjhds)
dks D;k dgk tkrk gSA
(a) Ldhek
(b) izfreku
(c) ekufld eSi
(d) ekufld midj.k

111. ^^,d mfpr iz'u@lq{kko ds }kjk cPph dh le>
dks ml fcanq ls cgqr vkxs ys tk;k tk ldrk gS ftl
ij og vdsys igw¡p ldrh gSA**
fuEufyf[kr esa ls dkSu lh lajpuk mijksDr dFku dks
izdkf'kr djrh gS\
(a) lkE;/kj.k
(b) laj{k.k
(c) cqf¼
(d) lehiLFk @ fudVLFk fodkl dk {ks=k

112. yso ok;xksVLdh ds vuqlkj] vk/kjHkwr ekufld
{kerkvksa dks eq[; :i ls fdlds }kjk mPprj
laKkukRed izfØ;kvksa esa cnyk tkrk gSa\
(a) lkekftd ikjLifjd fØ;k
(b) míhiu&vuqfØ;k laca/
(c) vuqdwyu ,oa la?kVu
(d) iqjLdkj ,oa n.M

113. fuEufyf[kr dFkuksa esa ls dkSu&lk fodkl ,oa vf/xe
ds chp laca/ dks lgh rjhds ls lwfpr djrk gS\
(a) vf/xe fodkl dk è;ku fd, fcuk ?kfVr gksrk
gSA
(b) vf/xe dh nj fodkl dh nj ls dkiQh vf/
d gksrh gSA
(c) fodkl ,oa vf/xe vr%lacaf/r vkSj var%
fuHkZj gksrs gSaA
(d) fodkl ,oa vf/xe lacaf/r ugha gSA

114. fuEufyf[kr ea ls dkSu lk ewrZ fØ;kRed voLFkk ds
izeq[k dkS'kyksa esa ls ,d gS\
(a) lqjf{kr j[kus dh ;ksX;rk
(b) ifjdfYir fuxeukRed rdZ
(c) f}rh;d orqZy izfrØ;k,¡
(d) lthokRed fparu
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(b) Hypothetic - deductive reasoning

(c) Secondary circular reactions

(d) Animistic thinking

115. Constructivists such as Jean Piaget and Lev
Vygotsky view learning as

(a) conditioning of responses

(b) passive repetitive process

(c) process of meaning-making by active
engagement(Ans)

(d) acquisition of skills

116. Selecting and presenting stories and clippings
from newspaper that portray both men and
women in non- traditional roles is an effective
strategy to

(a) promote gender constancy

(b) encourage stereotypical gender roles

(c) counter gender stereotypes(Ans)

(d) promote gender bias

117. Read the following description and identify
the stage of moral reasoning of Kohlberg.

Description :

Right action is defined by self-chosen ethical
principles of conscience that are valid for all
humanity, regardless of law and social
agreement.

(a) The social - contract orientation

(b) The social - order maintaining orientation

(c) The universal ethical principle
orientation(Ans)

(d) The instrumental purpose orientation

118. As per Howard Gardner's theory 0f multiple
intelligence, how would the intelligence of a
person with the following characteristics be
categorized ?

Characteristics:

"Ability to detect and respond appropriately
to the moods, temperaments, motivations
and,  intentions of others."

(a) Intrapersonal (b)

115. thu fitk;s ,oa yso ok;xksV~Ldh tSls lajpukoknh
vf/xe dks fdl :i esa ns[krs gS\
(a) izfrfØ;kvksa dk vuqca/u
(b) fuf"Ø;k vko`Ùkh; izfØ;k
(c) lfØ; fofu;kstu ls vFkZ&fuekZ.k dh izfØ;k
(d) dkS'kyksa dk vtZu

116. lekpkj&i=kkas ls dgkfu;ksa ,oa drjuksa dk p;u
djuk ,oa izLrqr djuk tks iq:"k ,oa efgykvksa nksuksa
dks xSj&ijEijkxr Hkfedkvksa eas fpf=kr djrs gS]
fuEufyf[kr esa ls fdlds fy, ,d izHkkoh j.kuhfr
gS\
(a) YkSafxd@tsaMj fLFkjrk dks c<+kus ds fy,A
(b) :f<oknh ySafxd@tSaMj Hkwfedkvksa dks izksRlkgu
nsus ds fy,A
(c) ySafxd@tsaMj :f<+;ksa dk lkekuk djus ds fy,A
(d) ySafxd@tsaMj i{kirk dks c<+kus ds fy,A

117. fuEufyf[kr o.kZu dks if<+, rFkk dksgycxZ ds uSfrd
rdZ dh voLFkk dks igpkfu,A
o.kZu%
var%dj.k ds Lo&p;fur uSfrd fl¼karksa ds }kjk
lgh dk;Z ifjHkkf"kr fd;k tkrk gSA tks dkuwu ,oa
lkekftd le>kSrs ij è;ku fn, fcuk lEiw.kZ ekuork
ds fy, oS/ gksrk gSA
(a) lkekftd&vuqca/u vfHkfoU;kl
(b) lkekftd&Øe O;oLFkk vfHkfoU;kl
(c) lkoZHkkSe uSfrd fl¼kar vfHkfoU;kl
(d) ;a=kh; mís'; vfHkfoU;kl

118. gkoZM xkMZuj ds cgq&cqf¼ fl¼kar ds vuqlkj
fuEufyf[kr fo'ks"krkvksa ls ;qDr ,d O;fDr dh cqf¼
dks fdl izdkj ls oxhd`r fd;k tk ldrk gS\
fo'ks"krk,¡%
^^nwljksa dh euksn'kk] LoHkko] iszj.kk rFkk vfHkizk;
dks mfpr rjhds ls irk yxkus ,oa izfrfØ;k djus dh
;ksX;rk*
(a) varjkoS;fDrd
(b) varoS;fDrd
(c) uSnkfud
(d) izd`froknh
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Interpersonal(Ans)

(c) Therapeutic (d)
Naturalistic

119. Which of the following should be the reasons
for assessment of children ?

(i) To separate and label children into 'non-
achievers', low-achievers', 'average' and
'high- achievers'.

(ii) To improve teaching-learning processes
in the classroom.

(iii) To find out what changes and progress
in learning that takes place in the child over
a period of time.

(iv) To discuss the capabilities, potential,
strengths and challenging areas of the child
with the parents.

(a) (i), (ii), (iii)

(b) (ii), (iii), (iv)(Ans)
(c) (ii), (iv)
(d) (i), (ii), (iii), (iv)

120. Which of the following play an important role
in a child's socialization ?

(i) Media

(ii) School

(iii) Family

(iv) Neighbourhood

(a) (ii), (iii)
(b) (i), (iii), (iv)

(c) (i), (ii), (iii), (iv)(Ans)
(d) (iii), (i)

121. Which of the following is the most effective
method to encourage conceptual
development in students?

(1) Give students multiple examples and
encourage them to use reasoning.(Ans)

(2) Use punishment till students have made
the required conceptual changes.

(3) New concepts need to be understood on
their own without any reference to the old
ones.

119. cPpksa ds ewY;kadu ds fy, fuEufyf[kr esa ls dkSu ls
dkj.k gksus pkfg,\
(i) cPPkksa dks ^xSj&miyfC/ okys*] ^fuEu&miyfC/
okys*] ^vkSlr* ,oa ^mPp&miyfC/ okys* ds :i esa
vyx djuk ,oa uke nsukA
(ii) d{kk esa f'k{k.k&vf/xe izfØ;kvksa esa lq/kj
djukA
(iii) le; ds lkFk cPpkas esa gksus okys vf/xe
ifjorZuksa ,oa izxfr ds ckjs eas irk yxkukA
(iv) cPps dh {kerkvksa] laHkkoukvksa] l'kDr i{kksa
,oa pqukSrhiw.kZ i{kksa ds ckjs esa ekrk&firk ds lkFk
ppkZ djukA
(a) (i), (ii), (iii)
(b) (ii), (iii), (iv)
(c) (ii), (iv)

(d) (i), (ii), (iii), (iv)

120. fuEufyf[kr esa ls dkSu cPps ds lekthdj.k esa ,d
egÙoiw.kZ Hkwfedk vnk djrs gSa\
(i) ehfM;k
(ii) fo|ky;
(iii) ifjokj
(iv) ikl&iM+ksl
(a) (ii), (iii)
(b) (i), (iii), (iv)
(c) (i), (ii), (iii), (iv)
(d) (iii), (i)

121. fo|kfFk;ksa esa laizR;;kRed fodkl dks izksRlkgu nsus
ds fy, fuEufyf[kr esa ls dkSu&lh fof/ lclsa izHkkoh
gS\
(1) fo|kfFkZ;ksa dks cgqr&ls mnkgj.k nsuk vkSj mUgsa
rdZ'kfÙkQ dk mi;ksx djuds ds fy, izksRlkfgr
djukA
(2) tc rd fo|kfFkZ;ksa esa oakfNr laizR;;kRed
ifjorZu u gks tk,] rc rd naM dk mi;ksx djukA
(3) iqjkus izR;;ksa ls fdlh lanHkZ ds fcuk u, izR;;ksa
dks vius vki le>k tkuk pkfg,A
(4) ;kn djus ds fy, dgdj fo|kfFkZ;ksa ds xyr
fopkjksa dks lgh fopkjksa esa cnyukA
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(4) Replace the students’ incorrect ideas
with correct ones by asking them to
memorize.

122. Primary schoolchildren will learn most
effectively in an atmosphere:

(1) Where the focus and stress are only on
mastering primarily cognitive skills of reading
writing and mathematics

(2) Where the teacher leads all the learning
and expects students to play a passive role

(3) Where their emotional needs are met
and they feel that they are valued (Ans)

(4) Where the teacher is authoritative and
clearly dictates89 what should be done

123. A child sees a crow flying past the window
and says, “A bird.” What does this suggest
about the child’s thinking

(A) The child has previously stored
memories.

(B) The child has developed the concept of
a ‘bird’.

(C) The child has developed some tools of
language to communicated her experience.

(1) A, B, and C (Ans) (2) Only B
(3) A and B (4) B and C

124. What should a teacher tell her students to
encourage them to do task with intrinsic
motivation?

(1) “Complete the task fast and get a toffee.”

(2) “Try to do it, you will learn.” (Ans)

(3) “Come on, finish it before she does.”

(4) “Why can’t you be like him? See, he has
done it perfectly.”

125. How can a teacher encourage her students
to be intrinsically motivated towards learning
for the sake of learning?

(1) By supporting them in setting individual
goals and their mastery(Ans)

(2) By offering tangible rewards such as

122.izkFfked fo|ky; ds cPpsa bl okrkoj.k esa lcls
izHkkoh <aXk ls lh[ksaxs%
(1) tg¡k ewy:i ls i<+us] fy[kus vksj xf.kr dh
laKkukRed dq'kyrkvksa ij gh è;ku dk dsanz gksrk gS
vkSj cy fn;k tkrk gS
(2) tgk¡ f'k{kd lkjs vf/xeksa esa vkxs gksrk gS vkSj
fo|kfFkZ;ksa ls fuf"Ø; jgus dh vis{kk djrk gS
(3) tgk¡ mudh laosxkRed vko';drkvksa dh iwfrZ
gksrh gS vkSj os vuqHko djrs gaS fd os egÙoiw.kZ gSa
(4) tgk¡ f'k{kd ,dkf/dkjoknh gS vksj Li‘ vkns'k
nsrk gS fd D;k fd;k tkuk pkfg,

123.,d cPpk f[kM+dh ds lkeus ls dkSos dks mM+rk gqvk
ns[krk gS vkSj dgrk gS] ̂ ^,d i{khA** blls cPps ds
fopkj ds ckjs esa D;k irk pyrk gS\
(A) cPps dh Le`fr;k¡ igys ls HkaMkfjr gksrh gSaA
(B) cPps esa ̂ i{kh* dk izR;; fodflr gks pqdk gSA
(C) cPps us vius vuqHko crkus ds fy, Hkk"kk ds
dqN midj.kksa dk fodkl dj fy;k gSA
(1) A, B,  vkSj C
(2) dsoy B
(2) A vkSj B
(4) B  vkSj C

124.dksbZ f'kf{kdk vius fo|kfFkZ;ksa dks D;k dgs fd mUgsa
Hkhrjh iszj.kk ds lkFk dk;Z djus ds fy, izksRlkfgr
dj lds\
(1) ^^dke tYnh iwjk djks rks rqEgsa ,d VkWiQh
feysxhA**
(2) ^^bls djus dh dksf'k'k djks] rqe lh[k tkvksxsA**
(3) ^^pyks] bls mlds djus ls igys lekIr dj
yksA**
(4) ^^rqe mlds tSls D;ksa ugha gks ldrs\ ns[kks]
mlus bls ,dne Bhd dj fn;kA**

125.dksbZ f'kf{kdk vius fo|kfFkZ;ksa dks vè;;u ds fy,
vè;;u djus gsrq vkarfjd :i ls mRiszfjr djus ds
fy, dSls izksRlkfgr dj ldrh gS\
(1) O;fÙkQxr y{; fu/kZfjr djus vkSj muesa fuiq.krk
ikus esa mUgasa enn nsdj
(2) lkiQ fn[kkbZ iM+us okys buke nsdj] tSls&
VkWiQh
(3) muesa fpark vkSj Mj iSnk djds
(4) izfr;ksfx;kRed ijh{k.k ls
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toffees

(3) By inducing anxiety and fear

(4) By giving competitive tests

126. In an elementary classroom, an effective
teacher should aim at the students to be
motivated:

(1) by using punitive measures so that they
respect the teacher

(2) to perform so that they get good marks
in the end of the year examination

(3) to learn so that they become curious and
love learning for its own sake (Ans)

(4) to rote memorize  so that they become
good at recall

127. Which of the following in an example of
effective school practice?

(1) Individualized learning (Ans)

(2) Competitive classroom

(3) Constant comparative evaluation

(4) Corporal punishment

128. The cephalocaudal principle of development
explains how development proceeds from:

(1) head to toe (Ans)

(2) rural to urban areas

(3) general to specific functions

(4) differentiated to integrated functions

129. Which of the following is a sensitive period
pertaining to language development?

(1) Adulthood

(2) Early childhood period (Ans)

(4) Prenatal period

(3) middle childhood period

130. A 6-year-old girl show exceptional sporting
ability. Bothe of her parents are
sportspersons, send her for coaching
everyday and train her on weekends. Her
capabilities are most likely to be the result of
an interaction between;

(1) health and training

(2) discipline and nutrition

126. fdlh izkajfHkd d{kk esa izHkko'kkyh f'k{kd dk
mís'; fo|kfFkZ;ksa dks mRiszfjr djuk gksxk%
(1) naMkRed mik;ksa dk iz;ksx djds ftlesa os
f'k{kd dk lEeku djsa
(2) ,sls dke djus ds fy, ftlls ijh{kk ds var esa
os vPNs vad ik ldsa
(3) lh[kus ds fy, ftlls os ftKklq cusa vkSj lh[kus
ds fy, gh lh[kuk ialn djsa
(4) jVdj ;kn djus ds fy, ftlls os izR;kLej.k
djus esa vPNs cusa

127. fuEufyf[kr esa ls dkSu&lk mnkgj.k izHkko'kkyh fo|ky;
dh izFkk dk gS\
(1) O;fÙkQlkis{k vf/xe
(2) izfr;ksfxrkRed d{kk
(3) fuajrj rqyukRed ewY;kadu
(4) 'kkjhfjd naM

128. fodkl dj f'kj % inkfHkeq[k fn'kk fl¼kUr O;k[;k
djrk gS fd fodkl bl izdkj vkxs c<+rk gS%
(1) flj ls iSj dh vksj
(2) xzkeh.k ls 'kgjh {ks=kksa dh vksj
(3) lkekU; ls fof'k‘ dk;ksZa dh vksj
(4) fHkÂ ls ,dhd`r dk;kZsa dh vksj

129.Hkk"kk fodkl ds fy, lcls laosnu'khy le;
fuEufyf[kr esa ls dkSu&lk gS\
(1) o;LdkoLFkk
(2) izkajfHkd cpiu dk le;
(3) tUeiwoZ dk le;
(4) eè; cpiu dk le;

130.,d 6 o"kZa dh yM+dh [ksydwn esa vlk/kj.k ;ksX;rk
dk izn'kZu djrh gSA mlds ekrk&firk nksuksa gh
f[kykM+h gSa] mls fuR; izf'k{k.k izkIr djus Hkstrs gSa
vkSj lIrkgkar esa mls izf'k{k.k nsrs gSaA cgqr laHko gS
fd mldh {kerk,¡ fuEufyf[kr nksuksa ds chp ijLij
izfrfØ;k dk ifj.kke gksaxh%
(1) LokLF; vkSj izf'k{k.k
(2) vuq'kklu vkSj ikSf‘drk
(3) vkuqoaf'drk vkSj i;kZoj.k
(4) o`f¼ vkSj fodkl
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(3) heredity and nutrition heredity and
environment (Ans)

(4) growth and development

131. Which of the following are secondary agents
of socialization?

(1) School and immediate family members

(2) Family and relatives

(3) Family and neighbourhood

(4) School and neighbourhood (Ans)

132. According to Lev Vygotsky,. The primary
cause of cognitive development is:

(1) adjustment of mental schemas

(2) stimulus-response pairing

(3) equilibration

(4) social interaction (Ans)

133. In the context of Kohlberg’s stages of moral
reasoning, under which stage would the given
typical response of a child fail?

“Your parents will be proud of you if you are
honest. So you should be honest.”

(1) Good girl-good boy orientation (Ans)

(2) Law and order orientation

(3) Punishment- obedience orientation

(4) Social contract orientation

134. According to Jean Piaget, which of the
following in necessary for learning?

(1) Belief in immanent justice

(2) Reinforcement by teachers and parents

131. fuEufyf[kr esa dkSu&ls lekthdj.k ds xkS.k okgd gks
ldrs gSa\
(1) fo|ky; vkSj fudVÙke ifjokj ds lnL;
(2) ifjokj vkSj fj'rsnkj
(3) ifjokj vkSj ikl&iM+ksl
(4) fo|k;y vkSj ikl&iM+ksl

132.yso okbxksRLdh ds vuqlkj laKkukRed fodkl ewy
dkj.k gSa%
(1) ekufld izk:iksa (Ldhek”k) dk lek;kstu
(2) míhid&vuqfØ;k ;qXeu
(3) larqyu
(4) lkekftd vU;ksU;fØ;k

133. fdlh cPps dk fn;k x;k fof'k‘ mÙkj dksycxZ ds
uSfrd rdZ ds lksiuksa dh fo"k;oLrq ds fdl lksiku
ds varxZr vk,xk\
^^;fn vki bZekunkj gSa] tks vkids ekrk&firk vki
ij xoZ djsaxsA blfy, vkidks bZekunkj jguk pkfg,A**
(1) vPNh yM+dh&vPNk yM+dk vuqdwyu
(2) dkuwu vkSj O;oLFk vuqdwyu
(3) naM&vkKkdkfjrk vuqdwyu
(4) lkekftd ladqpu vuqdwyu

134.thu fi;kts ds vuqlkj vf/xe ds fy, fuEufyf[kr
esa ls D;k vko';d gS\
(1) bZ'ojh; U;k; ij fo'okl
(2) f'k{kdksa vkSj ekrk&firk }kjk iqucZyu
(3) f'k{kkFkhZ ds }kjk i;kZoj.k dh lfØ; [kkstchu
(4) o;Ldksa ds O;ogkj dk voyksdu
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(3) Active exploration of the environment
by the learner (Ans)

(4) Observing the behaviour of adults

135. According to Jean Piaget, schema bulding
occurs as a result of modifying new
information to fit existing schemes and by
modifying old schemes as per new
information.

These two processes are known as:

(1) equilibration and modification

(2) assimilation and accommodation (Ans)

(3) accommodation and adaption

(4) assimilation and adaption

136. In a progressive classroom setup, the teacher
facilitates learning by providing an
environment that:

(1) Discourages inclusion

(2) Encourages repetition

(3) promotes discovery (Ans)

(4) is restrictive

137. Howard Gardner’s theory of Multiple
Intelligence (MI) suggests that:

(1) teachers should use MI as a framework
for devising alternative ways to teach the
subject matter (Ans)

(2) ability is density and does not change
over a period of time

(3) every child should be taught every
subject in eight different ways in order to
develop all of the intelligences

(4) Intelligence is solely determined by IQ
tests

138. A 5-year-old talks to herself while typing to
fold a T-shirt. Which of the following
statements is correct in the context of the
behaviour displayed by the girl?

(1) Jean Piaget would explain this as social
interaction, while Lev Vygotsky would
explain this as an exploration.

(2) Jean Piaget Lev Vygotsky would explain
this as the child’s attempt to imitate her
mother.

(3) Jean Piaget and Lev Vygotsky would
explain this as egocentric nature of the child’s
thoughts.

(4) Jean Piaget would explain as egocentric

135.thu fi;kts ds vuqlkj izk:i (Ldhek) fuekZ.k
orZeku ;kstukvksa ds vuq:i cukus gsrq uohu tkudkjh
esa la'kks/u vkSj uohu tkudkjh ds vk/kj ij iqjkuh
;kstukvksa esa la'kks/u ds ifj.kke ds :i esa ?kfVr
gksrk gSA bu nks izfØ;kvksa dks tkuk tkrk gS%
(1) lkE;hdj.k vkSj27 la'kks/u ds :i esa
(2) lekos'ku vkSj lek;kstu ds :i esa
(3) lek;kstu vkSj vuqdwyu ds :i esa
(4) lekos'ku vkSj vuqdwyu ds :i esa

136. fdlh izxfr'khy d{kk dh O;oLFkk esa f'k{kd ,d
,sls okrkoj.k dks miyC/ djkdj vf/xe dks lqxe
cukrk gS] tks%
(1) lekos'ku dh grksRlkfgr djrk gS
(2) vko`fr dks c<+kok nsrk gS
(3) [kkst dks izksRlkgu nsrk gS
(4) fu;ked gS

137.gkWoMZ xkMZuj dk cgqcqf¼ fl¼kar lq>krk gS fd%
(1) f'k{kd dks pkfg, fd fo"k;oLrq dks oSdfYid
fof/;ksa ls i<+kus ds fy, cgqcqf¼;ksa dks ,d :ijs[kk
dh rjg xzg.k djs
(2) {kerk HkkX; gS vkSj ,d vof/ ds Hkhrj ugha
cnyrh
(3) gj cPps dks izR;sd fo"k; vkB fHkÂ rjhdksa ls
i<+k;k tkuk pkfg, rkfd lHkh cqf¼;k¡ fodflr gksa
(4) cqf¼ dks dsoy cqf¼yfC/ ( IQ) ijh{kk ls gh
fu/kZfjr fd;k tk  ldrk gksa

138.dksbZ 5 lky dh yM+dh ,d Vh&'kVZ dks rg djrs
gq, vius vki ls ckr djrh gSaA yM+dh }kjk iznf'kZr
O;ogkj ds lanHkZ esa fuEufyf[kr esa  ls dkSu&lk
dFku lgh gS\
(1) thu fi;kts bldh O;k[;k lkekftd vU;ksU;fØ;k
ds :i esa djsxk vkSj yso okbxksRLdh bls [kkstchu
ekusxkA
(2) thu fi;kts vkSj yso okbxksRLdh bldh O;k[;k
cPps ds }kjk viuh ek¡ ds vuqdj.k ds :i esa djsaaxsA
(3) thu fi;kts vkSj yso okbxksRLdh bldh O;k[;k
cPps ds fopkjksa dh vagdsanzhr izd`fr ds :i esa
djssaxsA
(4) thu fi;kts bls vagdsafnzr Hkk"kk dgsxk vkSj
yso okbxksRLdh bldh O;k[;k cPps ds }kjk fu”kh
Hkk"kk ls viuh fØ;kvksa dks fu;fer djus ds iz;klksa
ds :i ls djsxkA
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speech, while Lev Vygotsky would explain
this as the child’s attempt to regulate her
actions through private speech. (Ans)

139. ‘Gender’ is a/an :

(1) innate quality

(2) social construct (Ans)

(3) biological entity

(4) physiological construct

140. As a teacher, who firmly believes in social
constructivist theory of Lev Vygotsky, which
of the following methods would you prefer for
assessing your students?

(1) Fact-based recall questions

(2) Objective multiple-choice type questions

(3) Collaborative projects (Ans)

(4) Standardized tests

141. To cater to individual differences in his
classroom, a teacher should:

(1) engage in a dialogue with students and
value their perspectives (Ans)

(2) impose strict rules upon his students

(3) have uniform and standard ways of
teaching and assessment

(4) segregate and label children based on
their marks

142. Assessment is purposeful if:

(1) it is done once at the end of the year

(2) comparative evaluations are made to
differentiate between the students’
achievements

(3) it induces fear and stress among the
students

(4) it serves as a feedback for the students
as well as the teachers (Ans)

143. According to NCF, 2005, the role of a teacher
has to be:

(1) permissive

(2) facilitative (Ans)

(3) authoritative

(4) dictatorial

144. Research suggests that in a diverse
classroom, a teacher’s expectations from her
students _______ their learning.

(1) should not be correlated with

139. ^fyax* gS%
(1) lgt xq.k
(2) lkekftd lajpuk
(3) TkSfod lÙkk
(4) 'kkjhfjd lajpuk

140.yso okbxksRLdh ds lekt lajpuk fl¼kar esa n`<+
fo'okl j[kus okys f'k{kd ds ukrs vki vius cPpksa
ds vkdyu ds fy, fuEufyf[kr esa ls fdl fof/ dks
ojh;rk nsaxs\
(1) rF;ksa ij vk/kfjr izR;klej.k ds iz'u
(2) oLrqijd cgqfodYih izdkj ds iz'u
(3) lg;ksxh izkstsDV
(4) ekudhd`r ijh{k.k

141.viuh d{kk dh oS;fÙkQd fHkÂrkvksa ls fuiVusa ds
fy, f'k{kd dks pkfg, fd%
(1) cPpksa ls ckrphr djs vkSj muds n`f"Vdks.k dks
egÙo ns
(2) fo|kfFkZ;ksa ds fy, dBksj fu;eksa dks ykxw djs
(3) f'k{k.k vkSj vkdyu ds leku vkSj ekud
rjhds gksa
(4) cPpksa dks muds vadks ds vk/kj ij vyx dj
mudks ukfer djs

142.vkdyu mís';iw.kZ gksrk gS ;fn%
(1) ;g dsoy ,d ckj o"kZ ds var esa gks
(2) fo|kfFkZ;ksa dh miyfC/;ksa esa varj djus ds fy,
rqyukRed ewY;kadu fd, tk,¡
(3) blls fo|kfFkZ;ksa esa Hk; vkSj ruko dk lapkj gks
(4) blls fo|kfFkZ;ksa vkSj f'k{kdksa dks izfriqf‘
(iQhmcSd) izkIr gks

143. jk‘ªh; ikB;p;kZ dh :ijs[kk (,uú lhú ,iQú)]
2005 ds vuqlkj f'k{kd dh Hkwfedk gS%
(1) vuqefrijd
(2) lqfo/knkrk
(3) lÙkkonh
(4) vf/uk;dh;

144.vuqla/ku lq>krs gSa fd ,d fofo/ d{kk esa vius
fo|kfFkZ;ksa ls f'kf{kdk dh vis{kk,¡ fo|kfFkZ;ksa ds
vf/xe%
(1) ds lkFk lacaf/r ugha ekuh tkuh pkfg,
(2) ij dksbZ izHkko ugha NksM+rh
(3) ij egÙoiw.kZ izHkko NksM+rh gaS
(4) dk ,dek=k fu/kZjd gksrh gSa
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(2) do not have any effect on

(3) have a significant impact on (Ans)

(4) are the sole determinant of

145. Inclusion of children with special needs:

(1) will increase the burden on schools

(2) requires a  change in attitude, content
and approach to teaching (Ans)

(3) is an unrealistic goal

(4) is detrimental to children without
disabilities

146. “Having a diverse classroom with children
from varied social, economic and cultural
backgrounds enriches the learning
experiences of all students.” This statement
is:

(1) Correct, because it makes the classroom
more hierarchical

(2) incorrect, because it leads to
unnecessary competition

(3) incorrect, because it can confuse the
children and they may feel lost

(4) correct, because children learn many
skills from their peers (Ans)

147. A child with hearing impairment:

(1) can do very well in a regular school if
suitable facilitation and resources are
provided (Ans)

(2) will never be able to perform on a-par with
classmates in a regular school

(3) should be sent only to a school for the
hearing impaired and not to a regular school

(4) will not benefir from academic education
only and should be given vocational training
instead

148. Which of the following is a characteristic of a
gifted learner?

(1) He is highly temperamental.

(2) He engages in ritualistic behavior like

145. fo'ks"k vko';drk okys cPpksa dks 'kkfey djuk%
(1) fo|ky;ksa ij Hkkj c<+k nsxk
(2) f'k{k.k ds izfr n`f"Vdks.k] fo"k;oLrq vkSj /
kj.k ifjorZu dh vis{kk j[krk gS
(3) ,d dkYifud y{; gS
(4) ftuesa v{kerk u gks mu cPpksa ds fy, gkfudkjd
gS

146. ^^fofo/ izdkj dh lkekftd] vkfFkZd vkSj lakLd̀frd
i`’Hkwfe ds cPpksa ls ;qÙkQ d{kk lHkh fo|kfFkZ;ksa ds
vf/xe vuqHkoksa dks c<+rh gSA**
;g dFkku gS%
(1) lgh] D;ksafd blls d{kk vf/d Js.khc¼ fn[kkbZ
nsrh gS
(2) xyr] D;skafd ;g vuko';d Li/kZa dh vksj ys
tkrk gS
(3) xyr] D;ksafd ;g cPpksa ds fy, nqfo/k mRiÂ
dj ldrk gS vkSj os Lo;a dks vyx&Fkyx eglwl
dj ldrs gSa
(4) lgh] D;ksafd cPps vius lkfFk;ksa ls vusd
dkS'ky lh[krs gSa

147.lquus esa vleFkZ cPPkk%
(1) fu;fer fo|ky; esa cgqr vPNk dj ldrk gS
;fn mls mi;qÙkQ lqfo/k vkSj lk/u miyC/ djk,
tk,¡
(2) fu;fer fo|ky; esa vius lgikfB;ksa ds leku
dHkh izn'kZu ugha dj ldsxk
(3) Jo.k vleFkZrk okys cPPkksa ds fo|ky; esa gh
Hkstk tkuk pkfg,] fu;fer fo|ky; esa ugh
(4) dsoy vdknfed f'k{kk ls ykHk ugha mBk
ik,xk] mls muds LFkku ij O;kolkf;d f'k{kk nh
tkuh pkfg,A

148. fuEufyf[kr esa ls dkSu&lh fo'ks"krk izfrHkkoku f'k{kkFkhZ
dh gS\
(1) og cgqr gh rqudfe”kkt gksrk gSA
(2) og jLeh O;ogkj djrk gS tSls&gkFk FkiFkikuk]
Mksyuk vkfnA
(3) pg vkØked vkSj dqafBr gks tkrk gSA
(4) ;fn d{kk dh xfrfof/;k¡ vf/d pqukSfriw.kZ
ugha gksrh gSa] rks og de izsfjr vuqHko djrk gS vkSj
Åc tkrk gSA
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hand flapping, rocking, etc.

(3) He gets aggressive and frustrated.

(4) He can feel understimulated (Ans)

149. A teacher can enhance effective learning in
her elementary classroom by:

(1) encouraging competition amongst her
students

(2) connecting the content to the lives of the
students(Ans)

(3) offering rewards for small steps in
learning

(4) drill and practice

150. Which of the following statements about
children are correct?

(1) Children are problem recipients of
knowledge.

(2) Children are problem solvers.

(3) Children are scientific investigators.

(4) Children are active explorers of the
environment.

(A) A, B, C and D (B) A, B and C

(C) A, B and D (D) B, C and D (Ans)

149.,d f'kf{kdk viuh izkFkfed d{kk esas izHkkoh vf/
xe dks c<+k ldrh gS%
(1) vius fo|kfFkZ;ksa esa izfr;ksfxrk dks izksRlkgu
nsdj
(2) fo"k;oLrq dks fo|kfFkZ;ksa ds thou ds lkFk
lacf/r djds
(3) vf/xe esa NksVh&NksVh miyfC/;ksa ds fy, iqjLdkj
nsdj
(4) fMªy vkSj vH;kl ds }kjk

150.cPpksa ds ckjs esa fuEufyf[kr dFkuksa esa ls dkSu&ls
lgh gSa\
(1)cPps tkudkjh ds fuf"Ø; izkIrdrkZ gSaA
(B) cPps leL;k lek/kudÙkkZ gSaA
(C) cPps oSKkfud 'kks/drkZ gSaaA
(D) cPps i;kZoj.k ds lfØ; vUos"kd gSaA
(1)A, B, C vkSj D (B) A, B vkSj C

(C) A, B vkSj D (D) B, C vkSj D
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151. Two students read the name passage yet
construct entirely different interpretations of
its meaning. Which of the following is true
about them?

(1) It is not possible and the students need
to re-read the passage.

(2) It is possible because the teacher has
not explained the passage.

(3) It is possible because different factors
affect learning of individuals in varied ways.
(Ans)

(4) It is not possible because learning is not
meaning-making

152. According to the National Curriculum
Framework, 2005; learning is_______ and
______ in its character.

(1) active: social (Ans)

(3) Passive: simple

(2) passive; social

(4) active; simple

153. To enable students to think independently
and become effective learners, it is important
for a teacher to :

(1) offer rewards for each success achieved
by the students

(2) teach students how to monitor their own
learning (Ans)

(3) give information  in small units or chunks

(4) present information in an organized
manner to make it cashier to recall

154. If a teacher wants her students to acquire
problem-solving skills, the studentsq should
be engaged in activities that involve:

(1) structured worksheets containing
multiple-choice questions

(2) recall, memorization  and comprehension

(3) drill and practice

(4) inquiring reasoning and decision making
(Ans)

155. Knowing the naïve conceptions that students
bring to the classroom:

(1) pulls down the teacher’s morale since in
increases his work

(2) does not serve any purpose of the teacher

(3) helps the teacher to plan teaching (Ans)

151. nks fo|kFkhZ ,d gh vorj,.k dks i<+rs gSa] fiQj
Hkh blds fcydqy fHkÂ vFkZ yxkrs gSA muds ckjsa esa
fuEufyf[kr esa ls D;k lR; gS\
(1) laHko ugha gS vkSj fo|kfFkZ;ksa dks mls nqckjk
i<+uk pkfg,A
(2) laHko gS] D;ksafd f'k{kd us vorj.k dks le>k;k
ugha gSA
(3) laHko gS] D;ksafd D;fDr ds vf/xe dks fofo/
dkj.k fofHkÂ fof/;ksa ls izHkkfor djrs gSaA
(4) laHko ugha gS] D;ksfd vf/xe dk vk'k; vFkZ
yxkuk ugha gSA

152. jk"Vªh; ikB;kp;kZ dh :ijs[kk] 2005 ds vuqlkj
vf/xe vius LoHkko esa ______ vkSj ______ gSA
(1) lfØ;_ lkekftd
(2) fuf"Ø;_ ljy
(3) fuf"Ø;_ lkekftd
(4) lfØ;_ ljy

153. fo|kkfFkZ;ksa dks Lora=k :i ls fparu djus rFkk
izHkkoh f'k{kkFkhZ cuus esa l{ke cukus gsrq f'k{kd ds
fy, ;g egÙoiw.kZ gS%
(1) fo|kkfFkZ;ksa ds }kjk izkir dh xbZ izR;sd liQyrk
ds fy, mUgsa iqjLdkj nsuk
(2) fo|kfFkZ;ksa dks fl[kkuk fd fdl izdkj ls vius
vf/xe dk vuqoh{k.k djsa
(3) NksVh&NksVh bdkb;ksa ;k [kaMksa esa tkudkjh iznku
djuk
(4) ,d la?kfVr rjhds ls tkudkjh dks izLrqr djuk
rkfd iqu%Lej.k djus  esa ljy gks

154.;fn dksbZ f'kf{kdk pkgs fd mlds fo|kFkhZ
leL;k&lek/ku dS'ky izkIr dj ys rks fo|kfFkZ;ksa
dks ,sls fØ;kdykiksa esa yxkuk pkfg, ftuesa gks%
(1) cgqfodYih iz'kuksa okys Lrjhd`r dk;Zi=kd
(2) izR;kLej.k] jVuk vkSj le>uk
(3) fMªy vkSj vH;kl
(4) iwNuk] rdZ djuk vkSj fu.kZ; ysuk

155.d{kk rd igq¡pus okyh cPpksa dh Hkksyh vo/kj.kvksa
dks tkuuk%
(1) f'k{kd ds gkSlys dks iLr dj nsrk gS D;ksafd
blls mldk dk;ZHkkj c<+rk gS
(2) f'k{kd ds fdlh mís'; dh iwfrZ ugha djrk
(3) f'k{kd ds fy, vius f'k{kd dks vf/d lkFkZd
cukus dh ;kstuk cukus esa lgk;d gksrk gS
(4) f'k{kd dh ;kstuk vkSj f'k{k.k esa :dkoV
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(4) hampers the teacher’s planning and
teaching

156. Which of the following factors affect learning?

(A) Motivation of the learner

(B) Maturation of the learner

(C) Teaching strategies

(D) Physical and emotional health of the
learner

(1) A, B, C And D (Ans)

(2) A and B

(3) A and C

(4) A, B and C

157. Meaningful learning is :

(A) pairing and association between the
stimulus and the response

(B) imitation of adults and more able peers

(C) passive receiving of the given
information

(D) active creation of knowledge structures
from personal experience(Ans)

158. Which of the following is not one of the
primary tasks of a teacher for effective
students learning?

(1) Transmitting information to the students
in a didactic manner (Ans)

(2) Knowing the concepts that students
bring to the classroom

(3) Requiring students to respond to higher-
order questioning

(4) Teaching students how to monitor and
improve their own leering by effort

159. Which of the following statements about
principles of development is incorrect?

(1) Development depends on maturation
and learning

(2) Development takes place due to a
constant interaction between heredity and
environment.

(3) Every child goes through stages of

curk gS
156. fuEufyf[kr esa ls dkSu&ls rÙo vf/xe dks izHkkfor

djrs gSa\
(A) f'k{kkFkhZ dk mRizsj.k
(B) f'k{kkFkhZ dh ifjidrk
(C) f'k{k.k ;qfÙkQ;k¡
(D) f'k{kkFkhZ dk 'kkjhfjd vkSj laosxkREkd LokLF;
(1) A, B, C vkSj D

(2) A vkSj B

(3) A vkSj C

(4) A, B vkSj C

157.lkFkZd vf/xe gS%
(A) míhid rFkk mÙkj ds chp ;qXeu rFkk lkgp;Z
(B) o;Ldksa vkSj vf/d l{ke lkfFk;ksa dk vuqdj.k
(C) nh xbZ lwpuk dk fuf"Ø; xzg.k
(D) futh vuqHkoksa ls Kku dh lajpukvkas dk lfØ;
fuekZ.k

158. fo|kfFkZ;ksa ds izHkko'kkyh vf/xe ds fy, fuEufyf[kr
eas ls dkSu&lk] f'k{kd ds izkajfHkd dk;ksZ esa ls ,d
ugha gS\
(1) fo|kfFkZ;ksa dks mins'kkRed fof/ ls lwpuk iznku
djuk
(2) fo|kfFkZ;ksa dh mu /kj.kvksa dks tkuuk ftUgsa
ysdj os d{kk esa vkrs gsSa
(3) fo|kfFkZ;ksa ls mPprj Lrj ds iz'uksa ds mÙkj dh
vis{kk djuk
(4) cPPkksa dks ;g fl[kkuk fd os vius vf/xe
iz;klksa dks dSls ns[k vkSj lq/kj ldrs gSa

159. fodkl ds fl¼karksa ds ckjs esa fuEufyf[kr esa ls
dkSu&lk dFku x+yr gS\
(1) fodkl ifjiDo; vkSj vf/dxe ij vk/kfjr
gksrk gSA
(2) fodkl oa'kkuqxrrk vkSj okrkoj.k ds chp
lrr vU;ksU;fØ;k ls gksrk gSA
(3) izR;sd cPPkk fodkl ds pj.kksa ls xqtjrk gS
fiQj Hkh cPpksa esa oS;fÙkQd fHkÂrk,¡ cgqr gksrh gSaA
(4) fodkl ,d ifjek.kkRed izfØ;k gS ftldk
Bhd&Bhd ekiu gks ldrk gSA
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development, yet there are wide individual
differences among children.

(4) Development is a quantitative process
which can be ‘measured precisely. (Ans)

160. The unique interaction _______ and ______
can result in different paths and outcomes of
development.

(1) challenge; limitations

(2) heredity; environment (Ans)

(3) stability; change

(4) exploration; nutrition

161. Which of the following is true of school and
socialization?

(1) School is an important agent of
socialization. (Ans)

(2) School does not play any role in
socialization.

(3) School plays very little role in
socialization.

(4) School is the first primary agent of
socialization

162. Which of the following statements is correct
about jean Piaget’s theory of cognitive
development?

(1) Piaget argues that instead of progressing
through stages, cognitive development is
continuous.

(2) Piaget has proposed five distinct stages
of cognitive development.

(3) The stages are invariant which means
that no stage can be skipped. (Ans)

(4) The sequence of the stages can vary
according to the cultural context of children.

163. The concept of ‘conservation’ as proposed
by jean Piaget means that:

(1) it is important to protect wildlife and
forests

(2) certain physical properties remain the
same even when outward appearances
change (Ans)

160. _____ rFkk _____ dh fof'k’ vU;ksU;fØ;k dk
ifj.kke fodkl ds fofo/ ekxkZsa vkSj fu"d"kksZ ds :i
eas gks ldrk gSA
(1) pqukSfr;k¡_ lhek,¡
(2) oa'kkuqØe_ i;kZoj.k
(3) fLFkjrk_ ifjorZu
(4) [kkst_ iks"k.k

161. fo|ky; vkSj lekthdj.k ds ckjs esa fuEufyf[kr esa
ls D;k lR; gS\
(1) fo|ky; lekthdj.k dk ,d egÙoiw.kZ dkjd
gSA
(2) lekthdj.jk esa fo|ky; dh dksbZ Hkwfedk ugha
gksrhA
(3) lekthdj.k esa fo|ky; dh cgqr FkksM+h Hkwfedk
gksrh gSA
(4) fo|ky; lekthdj.k dk igyk eq[; dkjd
gSA

162.thu fi;kts ds laKkukRed fodkl ds fl¼akr ds ckjs
esa fuEufyf[kr dFkuksa esa ls lgh dFku dkSu&lk gS\
(1) fi;kts dk rdZ gS fd laKkukRed fodkl]
pj.kksa es vkxs c<+us dh vis{kk fuajrj gksrk gSA
(2) fi;kts us laKkukRed fodkl ds ik¡p Li’
pj.k izLrkfor fd, gaSA
(3) fdlh pj.k dks NksM+k ugha tk ldrk D;ksafd ;s
pj.k fLFkj gSaA
(4) cPPkksa ds lkaLd`frd vk/kj ds vuqlkj bu
pj.kksa dk Øe cnyk tk ldrk gSA

163.thu fi;kts ds }kjk izLrqr ^laj{k.k* ds izR;; ds
rkRi;Z gS fd%
(1) oU;thou vkSj ouksa dk laj{ku cgqr egÙkoiw.kZ
gS
(2) dqN HkkSfrd xq.k/eZ ogh jgrs gSa pkgs ckgjh
vk`dfr;k¡ cny tk,¡
(3) ifjdYiuk ij fof/or~ ijh{k.k ls lgh fu"d"kZ
ij igq¡pk tk ldrk gS
(4) nwljksa ds ifjn`'; dks è;ku esa j[kuk ,d
egÙoiw.kZ laKkukRed {kerk gS

164.gkWoMZ xkMZuj ds cgqcqf¼ fla¼kr ds vuqlkj fuEufyf[kr
dk feyku dhft,%

cqf¼ dk izdkj var voLFkk
(a) laxhrkRed (i)

laxhrkRed
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(3) one can arrive at the correct conclusion
by systematically testing hypothesis

(4) taking the perspective of other into
consideration is an important cognitive ability

164. Match the following in the light of Howard
Gardner’s theory of Multiple Intelligence:

Type of Intelligence End State

(a) Musical (i)
Therapist

(b) Linguistic (ii)
Poet

(c) Interpersonal (iii) Athlete

(c) Spatial (iv)
Violinist

(v) Sculptor

(1) a-v, b-ii, c-iv, d-i
(2) a-v, b-ii, c-iv, d-i
(3) a-v, b-ii, c-iv, d-i
(4) a-v, b-ii, c-iv, d-i(Ans)

165. According to Lev Vygotsky:

(1) Interaction with adults and peers does
not influence language development

(2) language development changes the
nature of human thought (Ans)

(3) culture plays a very small role in
language development

(4) children learn language through an
language acquisition device

166. Lawrence Kohlberg’s theory of moral
reasoning has been criticized on several
counts. Which of the following statements is
correct in the context of this criticism?

(1) Kohlberg has not given typical
responses to each stage of moral reasoning.

(2) Kohlberg has duplicated Piaget’s
methods of arriving at his theoretical
framework.

(3) Kohlberg’s theory does not focus on
children’s responses.

(4) Kohlberg’s has based his study primarily
on a male sample.   (Ans)

167. Which of the following highlights assessment
for learning?

(1) The teacher assesses conceptual
understanding of the students besides
focusing on the processes of thinking. (Ans)

(b) Hkkf"kd (ii)

laxhrkRed
(c) varoSZ;fÙkQd (iii)

f[kykMh
(d) LFkkfud (iv)

ok;fyu&oknd

(v) ewfrZdkj
(1) a-v, b-ii, c-iv, d-i
(2) a-v, b-ii, c-iv, d-i
(3) a-v, b-ii, c-iv, d-i
(4) a-v, b-ii, c-iv, d-i

165.yso okbxksRldh ds vuqlkj%
(1) o;Ldksa dks lkfFk;ksa ls vU;ksU;fØ;k djus dk
Hkk"kk ds fodkl esa dksbZ izHkko ugha iM+rk
(2) Hkkf"kd ds fodkl ekuo fparu ds LoHkko dks
cny nsrk gS
(3) Hkkf"kd fodkl esa laLd`fr dh Hkwfedk cgqr
de gksrh gS
(4) cPps Hkk"kk vtZu dh ,d ;qfÙkQ ls dksbZ Hkk"kk
lh[krs gsSa

166.ykWjsal dksycxZ ds uSfrd rdZ ds fl¼kar dh vusd
ckrksa ds fy, vkykspuk dh tkrh gSA bl vkykspuk
ds lanHkZ esa fuEufyf[kr esa ls dkSu&lk dFku lgh gS\
(1) dksycxZ us uSfrd rdZ ds izR;sd lksiku ds fy,
fo'ks"k mÙkj ugha fn;k gSA
(2) viuh lS¼akfrd :ijs[kk ij igq¡pus ds fy,
dksycxZ us fi;kts ds fl¼karks dks nksgjk;k gSA
(3) dksycxZ dk fl¼kar cPPkksa ds izR;qÙjksa ij
è;ku&dsafnzr ugha djrkA
(4) dksycxZ us vius vè;;u dks ewyr% iq:"kksa ds
uewuksa ij vk/`r j[kk gSA

167. fuEufyf[kr esa ls dkSu&lk vf/xe ds vkdyu dks
mtkxj djrk gS\
(1) f'k{kd fo|kfFkZ;ksa dh fparu izfØ;kvkaas ij
è;ku nsus ds vykok mudh vo/kj.kkRed le> dk
Hkh vkdyu djrk gSA
(2) f'k{kd ^ekud* mÙkjksa ls fo|kfFkZ;ksa ds mÙkjksa dh
rqyuk djds mudk vkdyu djrk gSA
(3) f'k{kd ikB;&iqLrdksa esa nh xbZ tkudkjh ds vk/
kj ij fo|kfFkZ;ksa dk vkdyu djrk gSA
(4) f'k{kd fdlh fo|kFkhZ ds fu"iknu dk vkdyu
nwljksa ds fu"iknu dh rqyuk esa djrk gSA
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(2) The teacher assesses the students by
comparing their responses to ‘standard’
responses.

(3) The teacher assesses the students based
on the information given in the textbooks.

(4) The teacher assesses a student based
on his/her performance in comparison to
others.

168. ‘Child-centered’ pedagogy means:

(1) the teacher dictating the children what
should be done

(2) giving primacy to children’s experiences
and their voices (Ans)

(3) enabling the children to follow
prescribed information

(4) the teacher leading all the learning in the
classroom

169. Which of the following statements describes
Piaget and Vygotsky’s views on language and
thought correctly?

(1) According to Vygotsky, thought emerges
first and according to Vygotsky, Language has
a profound effect on thought.

(2) Both view thought as emerging from the
child’s language. (Ans)

(3) Bothe view thought as emerging from the
child’s language.

(4) Both view language as emerging from the
child’s thought.

170. Watching her granddaughter arguing with the
father for going on a school trip, the
grandmother says, “Why can’t you be
obedient like a good girl? Who will marry you
if you behave like a boy?” This statement
reflects which of the following?

(1) Gender constancy

(2) Gender stereotypes about attributes of
girls and boys (Ans)

(3) Improper gender identification of the girl

(4) Difficulties faced by families in child-
rearing

171. Which of the following statements about

168. ^ckydsafnzr* f'k{kk&'kkÏ dk vFkZ gS%
(1) f'k{kd }kjk cPpksa dks vkns'k nsuk fd D;k
fØ;k tkuk pkfg,A
(2) cPpksa ds vuqHkoksa vkSj mudh vkokt dks
izeq[krk nsuk
(3) fu/kZfjr lwpuk dk vuqlj.k djus esa cPpksa dks
l{ke cukuk
(4) d{kk esa lkjh ckrsa lh[kus ds fy, f'k{kd dk
vkxs&vkxs gksuk

169. fuEufyf[kr esa ls dkSu&lk dFku Hkk"kk vkSj fopkj
ds ckjs esa fi;kts vkSj okbxksRLdh ds n`f"Vdksa.k dk
lgh o.kZu djrk gS\
(1) okbxksRLdh ds vuqlkj igys fopkj tUe ysrk gS
vkSj fi;kts ds vuqlkj Hkk"kk dk fopkj ij Hkkjh
izHkko iM+rk gSA
(2) fi;kts ds vuqlkj igys fopkj tUe ysrk gS
vkSj okbxksRLdh ds vuqlkj Hkk"kk dk fopkj ij Hkkjh
izHkko iM+rk gSA
(3) nksuksa ekursa gSa fd cPps dh Hkk"kk ls fopkj tUe
ysrs gSaA
(4) nksuksa Hkk"kk dks cPps ds fopkjkasa ls tUe ysrh gqbZ
ekurs gSaA

170. fo|ky;&;k=kk ij tkus ds fy, iksrh dks vius firk
ls cgl djrs gq, ns[kdj nknh dgrh gS] ^^rqe
vPNh yM+dh dh rjg vkKkdkjh D;ksa ugha gks\ rqe
yM+dksa dh rjg O;ogkj djksxh rks rqe ls dkSu 'kknh
djsxk\** ;g dFku fuEufyf[kr esa ls fdldks
izfrfcfEcr djrk gS\
(1) fyax le:irk
(2) yM+fd;ksa vkSj yM+dksa ds LoHkko ds ckjs esa
:f<+c¼ èkkj.kk
(3) yM+dh ds fyax dh xyr igpku
(4) cPPkksa ds ikyu&iks"k.k esa ifjokj dh dfBukb;k¡

171.vkdyu ds ckjs esa fuEufyf[kr dFkuksa esa ls dkSu&ls
dFku lgh gSa\
(A)vkdyu ls fo|kfFkZ;ksa dh ;g lgk;rk feyuh
pkfg, fd os viuh 'kfÙkQ;ksa vkSj fjfÙkQ;ksa dks ns[k
ldsa vkSj f'k{kd rnuqlkj mUgsa Bhd dj ldsaA
(B) vkdyu rHkh lkFkZd gksrk gS tc fo|kfFkZ;ksa
dk rqyukRed ewY;kadu Hkh gksA
(C) vkdyu dsoy Lej.k'kfÙkQ dk gh ugha] cks/u
vkSj vuqiz;ksx dk Hkh gksuk pkfg,A
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assessment are correct?

(A) Assessment should help students see
their strengths and gaps and help the teacher
fine-tune her teaching accordingly.

(B) Assessment is meaningful only if
comparative evaluations of students are
made.

(C) Assessment should assess not only
memory but also understanding and
application.

(D) Assessment cannot be purposeful if it
does not induce fear and anxiety.

(1) B and C (2) A and B
(3) B and D (4) A and C (Ans)

172. According to the Right to Education Act,
2009, children with special needs should
study:

(1) at home with their parents and
caregivers providing necessary support

(2) in special schools created exclusively for
them

(3) in inclusive education setups with
provisions to cater to their individual needs
(Ans)

(4) in vocational training centers which
prepare them for life skills

173. An effective teacher in a classroom, where
students come from diverse backgrounds,
would:
(1) push students from deprived
backgrounds to work hard so that they can
match up with their peers
(2) focus on their cultural knowledge to
address individual differences among the
group (Ans)
(3) ignore cultural knowledge and treat all
his students in a uniform manner
(4) create groups of students with those from
the same economic background put together

174. Match the following principles of
development with their correct descriptions:

Principle
Description

(a) Prozimodistal trend (i) D i f f e r e n t
children
(b) Cephalocaudal trend (ii) Head to toe
sequence
(c) Interindividual (iii) In a single
child, the differences rate of

(D) vkdyu rc rd mís';iq.kZ ugha gks ldrk tc
rd mlls Hk; vkSj fpark dk lapkj u gksA
(1) B vkSj C (2) A vkSj B

(3) B vkSj D (4) A vkSj C

172. f'k{kk dk vf/dkj vf/fu;e] 2009 ds vuqlkj
fo'ks"k vko';drk okys cPpksa dks Ik<+uk pkfg,%
(1) ?kj ij ekrk&firk vkSj ns[kHkky djus okyksa ds
lkFk tks mUgas vko';d lgk;rk miyC/ dkj,¡
(2) [kklrkSj ij mUgha ds fy, cuk, x, fo'ks"k
fo|ky;ksa esa
(3) lekos'kh f'k{kk O;oLFkk esa bl izko/ku ds lkFk
fd mudh O;fÙkQxr vko';drkvksa dh iqfrZ dh tk
lds
(4) O;kolkf;d izf'k{k.k dssanzksa esa tks mUgsa thou
dkS'kyksa ds fy, rS;kj djsaxs

173. ftl d{kkd{k esa fofo/ i`’Hkwfe ls fo|kFkhZ vkrs gksa]
ogk¡ ,d izHkkoh f'k{kd%
(1) oafpr i`’Hkwfe ds fo|kfFkZ;ksa dks dfBu ifjJe
djus ds fy, dgsxk rkfd os vius lkfFk;ksa ds
cjkcj igq¡p ldsa
(2) lewg esa oS;fÙkQd fHkÂrk dks crkus ds fy,
mudh lkaLd`frd tkudkjh ij è;ku nsxk
(3) lkaLd`frd tkudkjh dh vuns[kh djsxk vkSj
,d loZekU; rjhds ls vius lHkh fo|kfFkZ;ksa ds lkFk
O;ogkj djsxk
(4) leku vkfFkZd i`’Hkwfe ds fo|kfFkZ;ksa dk lewg
cuk,xk vkSj mUgsa ,d lkFk js[kxk

174. fuEufyf[kr fodkl ds fl¼akrksa dk muds lgh o.kZu
ls feyku dhft,%

fl¼kar
o.kZu
(a) lehi&nwjkfHkeq[k fn'kk (i)

fofHkÂ cPps fHkÂ&fHkÂ nj ls c<+rs gSa
(b) f'kj%inkfHkeq[k fn'kk (ii) f l j
ls iSj dk Øe
(c) varoSZ;fÙkQd fHkÂrk,¡ (iii)

fdlh vdsys cPps esa fodkl dh nj fodkl ds ,d

{ks=k dh vis{kk nwljh esa
fHkÂ gks ldrh gS
(b) varjkoS;kfÙkQd fHkÂrk,¡ (iv) ' k j h
ds dsUnz ls ckgkj dh vksj
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development can vary
from one domian

of development to the
other
(d) Intraindividaul (iv) From the
center of differences body to

outwards

(v) Progression from
simple to complex
(1) a-v, b-ii, c-i, d-iii
(2) a-ii, b-iv, c-i, d-iii
(3) a-ii, b-i, c-iii, d-i
(4) a-iv, b-ii, c-i, d-iii(Ans)

175. Which of the following statements about
cognition and emotions is correct?
(1) Cognition and emotions are intertwined
and affect each other. (Ans)
(2) Cognition and emotions are processes
independent of each other.
(3) Cognition affects emotions but emotions
do not affect cognition.
(4) Emotions affect cognition but cognition
does not affect emotions.

176. In an inclusive classroom with diverse
learners, cooperative learning and peer-
tutoring
(1) should be used only sometimes since it
promotes comparison with classmates
(2) should be actively discouraged and
competition should be promoted
(3) should be actively promoted to facilitate
peer-acceptance (Ans)
(4) should not be praised and students should

(v) ljy ls tfVy dh vksj
òf¼
(1) a-v, b-ii, c-i, d-iii
(2) a-ii, b-iv, c-i, d-iii
(3) a-ii, b-i, c-iii, d-i
(4) a-iv, b-ii, c-i, d-iii

175.laKku vkSj laosx ds ckjs esa fuEufyf[kr dFkuksa esa ls
dkSu&lk dFku lgh gS\
(1) laKku vkSj laosx ijLij tqM+s gSa vkSj ,d&nwljs
dks izHkkfor djrs gSaA
(2) laKku vkSj laosx ,d&nwljs ls Lora=k izfØ;k,¡
gSA
(3) laKku laosxksa dks izHkkofr djrk gS fdarq laosx
laKku dks izHkkfor ugha djrkA
(4) laosx laKku dks izHkkfor djrs gSa fdarq laKku
laosxksa dks izHkkfor ugha djrkA

176. fofo/ f'k{kkfFkZ;ksa okyh ,d lekos'kh d{kk esa
lg;ksxh vf/xe vkSj leo;Ldkas ls lh[kuk%
(1) dsoy dHkh&dHkh gh iz;ksx fd;k tkuk pkfg,
D;ksafd ;g lgikfB;ksa ls rqyuk dks c<+kok nsrk gS
(2) lfØ; :i ls fu:Rlkfgr fd;k tkuk pkfg,
vkSj izfr;ksfxrk dks c<+kok nsuk pkfg,
(3) lfØ; :i ls izksRlkfgr fd;k tkuk pkfg,
ftlls leo;Ldksa dh Lohdk;Zrk c<+s
(4) dk;kZfUor ugha fd;k tkuk pkfg, vkSj fo|kfFkZ;ksa
dks {kerkvksa ds vuqlkj vyx&vyx fd;k tkuk
pkfg,

177.,d f'kf{kdk viuh d{kk esa fofo/rk dks lacksf/r
dj ldrh gS%
(A) fHkÂrkvksa dh Lohkj djds vkSj mls egÙo
nsdj
(B) cPPkksa dh lkekftd&lkaLd`frd i`’Hkwfe dk
f'k{kk&'kkÏh; lalk/u ds :i eas iz;ksx djds
(C) fofHkÂ vf/xe 'kSfy;ksa dks lek;ksftr djds
(D) ekud funZs'k nsdj vkSj fu"iknu gsrq loZekU;
ekun.M fu/kZfjr djds
uhps fn, x, dwV ds vk/kj ij lgh mÙkj pqfu,A
(1) A, B, C vkSj D

(2) A, B vkSj D

(3) B, C vkSj D

(4) A, B vkSj C

178.dksbZ f'kf{kdk viuh d{kk esa iQuhZpj dh rh[kh /
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be segregated based on their abilities
177. A teacher can address diversity in her class

by:
(A) accepting and valuing differences
(B) using socio-cultural background of
children as pedagogic resource
(C) accommodating different learning styles
(D) giving standard instruction and setting
uniform benchmarks for performance (Ans)

178. A teacher asks her class to cover sharp edges
of furniture with cotton and use Touch and
Feel’ notice boards and books. The needs of
which category of special learners is she
attempting to cater to?
(1) Visually- impaired learners (Ans)
(2) Hearing-Impaired learners
(3) Learning- impaired learners
(4) Socially disadvantage learners

179. Gifted children are best catered to by
educational programmes that:
(1) make use of gifts and rewards to
motivate them to perform according to
minimum standards of learning.
(2) emphasize mastery of knowledge by
recall
(3) stimulate their thinking and give them
opportunities to engage in divergent
thinking(Ans)
(4) control their aggressive behaviour

180. Which of the following statements about
students’ failure in schools are correct?
(A) Students belonging to certain castes and
communities fail since they do not have
ability.(Ans)
(B) Students fail in schools because
appropriate rewards are not offered for their
learning.
(C) Students fail because teaching is not done
in a manner in which it is meaningful to them.

kj okys fdukjksa dks :bZ ls <k¡dk j[kus dks dgrh gS
vkSj ^Nqvks rFkk vuqHko djksa* okys lwpuk&iêðksa dk
mi;ksx djus dks dgrh gSA og fdl oxZ ds fo'ks"k
f'k{kkfFkZ;ksa dh vko';drk iwfrZ djus dk iz;kl dj
jgh gS\
(1) n`f‘ fodyakx f'k{kkFkhZ
(2) Jo.k fodykax f'k{kkFkhZ
(3) lh[k u ldus okys f'k{kkFkhZ
(4) lkekftd :i ls oafpr f'k{kkFkhZ

179.izfrHkk'kkyh cPpksa ds fy, lcls vPNs 'kSf{kd dk;ZØe
os gksrs gSa tks%
(1) mUgsa vf/xe ds U;wure ekudksa rd dke djus
dks izsfjr djus ds fy, migkjksa vkSj iqjLdkjksa dk
mi;ksx djrs gSa
(2) izR;kLej.k ds }kjk Kku dh izoh.krk ij cy
nsrs gSa
(3) muds fparu dks izsfjr dj mUgsa fofo/ fopkjksa
esa O;Lr jgus ds volj nsrs gSa
(4) muds vkØked O;ogkj dks fu;af=kr djrs gaS

180 fo|kyp;ksa esa fo|kfFkZ;ksa dh vliQyrk ds ckjs esa
fuEufyf[kr esa ls dkSu&ls dFku lgh gSa\
(1) fo'ksa"k tkfr;ksa vkSj leqnk;ksa ls lacaf/r fo|kFkhZ
vliQy gksrs gS D;kasfd muea ;ksX;rk ugha gksrhA
(2) fo|kFkhZ fo|ky;ksa esa vliQy gksrs gSa D;kasfd
mUgsa vfèkxe ds fy, mi;qÙkQ iqjLdkj ugha fn, tkrsA
(3) fo|kFkhZ vliQy gksrs gSa D;ksfd f'k{k.k ml
rjhds ls ugha fd;k tkrk tks muds fy, lkFkZd gksA
(4) fo|kFkhZ vliQy gksrs gSa D;kssafd fo|ky; O;oLFkk
izR;sd fo|kFkhZ dh vko';drkvksa vkSj vfHk:fp;ksa
dk è;ku ugha j[krhA
(1) C vkSj D (2) A vkSj B   (3)

B vkSj C (4) B vkSj D
181.'kS'odky dh vof/ gSa%

(A)tUe ls 1 o"kZ rd
(B) tUe ls 2 o"kZ rd
(C) tUe ls 3 o"kZ rd
(D) 2 ls 3 o"kZ rd

182. fitk;s ds vuqlkj 2 ls 7 o"kZ ds chp dk ,d
cPpkk laKkukRed fodkl dh  _________ voLFkk
esa gSA
(A) iwoZ lafØ;kRed
(B) vkSipkfjd lafØ;kRed
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(D) Students fail because school system does
not cater to individual child’s needs and
interests.

181. The period of infancy is from:
(A) Birth to 1 year
(B) Birth to 2 year(Ans)
(C) Birth to 3 year
(D) 2 to 3 years

182. According to plaget, a child between 2 to 7
years is in the _________ stage of cognitive
development.
(A) Preoperational (Ans)
(B) Formal Operational
(C) Concrete operational
(D) Sensorimotor

183. Development proceeds from _________ to
________.
(A) General specific (Ans)
(B) Complex  hard
(C) Specific  general
(D) Simple easy

184. When adults adjust to the assistance they
provide to fuclltate progression of the child
from current level of performance to potential
level of performance, it is called:
(A) Proximal development
(B) Scaffolding (Ans)
(C) Participatory learning
(D) Collaborative learning

185. The process of changing the existing schemas
to include new information is called:
(A) Adaptation
(B) Assimilation
(C) Accommodation (Ans)
(D) Egocentrism

186. In middle childhood, speech is more _______
rather than_______
(A) Egocentric, Socialised
(B) Socialized, Egocentric (Ans)

(C) ewrZ lafØ;kRed
(D) laosnh&xfrd

183. fodkl _________ ls  ________ dh vksj c<+uk
gSA
(A) lkekU;  fof'k"V
(B) tfVy 



 dfBu
(C) fof'k"V 



 lk/kj.k
(D) lk/kj.k 



vklku
184. tc o;Ld lg;ksx ls lkaetL; dj ysrs gSa] rks os cPps

ds orZkeku Lrj ds izn'kZu dks laHkkfor {kerk ds Lrj
ds izn'kZu dh rjiQ izxfr Øe dks lqxe cukrs gSa] bls
dgk tkrk gS%
(A) lehiLFk fodkl
(B) lg;ksx nsuk
(C) lgHkkxh vf/xe
(D) lg;ksxkRed vf/xe

185.uohu tkudkjh dks 'kkfey djus ds fy, orZeku
Ldhek (vo/kj.k) esa cnyko dh izfØ;k _____

dgykrh gSA
(A) vuqdwyu
(B) vkRelkRdj.k
(C) lek;kstu
(D) vgadsafnzrk

186.eè; ckY;koLFkk esa Hkk"kk _____ ds ctk; _____

vf/d gSA
(A) vgadsafnzr] lekthd`r
(B) lekthd`r] vagdsafnzr
(C) thooknh] lekthd`r
(D) ifjiDo] vifjiDo

187.cky dsafnzr f'k{kk esa 'kkfey gS%
(A) cPpksa ds fy, gLrijd xfrfof/;k¡
(B) cPpksa dk ,d dksus esa cSBuk
(C) izfrcaf/r ifjos'k esa vf/xe
(D) os xfrfof/;ksa ftuesa [ksy 'kkfey ugha gksrsA

188.d{kk vè;kid us jk?ko dks viuh d{kk esa vius dh
cksMZ dij Lo;a ds }kjk rS;kj fd;k x;k e/qj laxhr
ctkrs gq, ns[kkA d{kk vè;kid us fopkj fd;k fd
jk?ko esa _____ cqf¼ mPp Lrjh; FkhA
(A) LFkkfud
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(C) Animistic, Socialised
(D) Nature immature

187. The child centred education involves:
(A) Hands on activities for kids. (Ans)
(B) Children siting in a corner.
(C) Learning in restricted environment
(D) Activities that do not include play.

188. The class teacher observed Raghav in her
class playing melodious self-composed music
on his keyboard. The class teacher thought
that Raghav seemed to be high in _________
intelligence.
(A) Spatial
(B) Bodily kinaesthetic
(C) Musical (Ans)
(D) Linguistic

189. When a teacher considers boys as naturally
better at mathematics than girls, it shows that
the teachers is:
(A) Ethical
(B) Gender biased (Ans)
(C) Moralistic
(D) Right-minded

190. Inclusive education assumes that we should
change the _______ to fit the ______.
(A) Child / system
(B) System / child (Ans)
(C) Environment / family
(D) Child / environment

191. Children have the potential to create
knowledge and make meaning. From this
perspective the role of a teacher is that of a:
(A) Negotiator
(B) Communicator and Lecturer
(C) Facilitator  (Ans)
(D) Director

192. Which one of the following is not a

(B) 'kkjhfjd&xfrcks/d
(C) laxhre;
(D) Hkk"kk;h

189.tc ,d f'k{kd ;g le>rk gS fd LokHkkfod :i
ls yM+ds xf.kr esa yM+fd;k¡ ls vPNas gS] ;g n'kkZrk
gS fd vè;kid gS%
(A) uhfrijd
(B) fyax (tsaMj) i{kikrh
(C) uSfrd
(D) lgh n`f"Vdks.k

190.lekos'kh f'k{kk ekurh gs fd gesa _____ dks ______

ds vuq:i cnyuk gSA
(A) cPps / O;oLFkk
(B) O;oLFkk / cPps
(C) ifjos'k / ifjokj
(D) cPps / ifjos'k

191.cPpksa esa Kku dh jpuk djus vkSj vFkZ dk fuekZ.k
djus dh {kerk gksrh gSA bl ifjisz{; esa ,d f'k{kd
dh Hkwfedk gS%
(A) rkyesy cSBkus okys dh
(B) laiszid vkSj O;k[;krk dh
(C) lqxedrkZ dh
(D) funsZ'kd dh

192.buesa ls dkSu&lh fo'ks"krk izfrHkk'kkyh cPpksa dh
ugh gS\
(A) mPprj Js.kh dh ekufld izfØ;k,¡
(B) mPp vkRe {kerk
(C) fuEu vkSlrh; ekufld izfØ;k,¡
(D) varnZ̀f"ViwoZd leL;kvksa dk lek/ku djuk

193.dksgycxZ ds fl¼kUr ds iwoZ&ijEijkxr Lrj ds
vuqlkj] dksbZ uSfrd fu.kZ; ysrs le; ,d O;fDr
fuEufyf[kr esa ls fdl rjiQ izo`Ùk gksxk\
(A) varfufgr laHkkfor naM
(B) O;fDrxr vko';drk,¡ rFkk bPNk,¡
(C) O;fDrxr ewY;
(D) ikfjokfjd vis{kk,¡

194. f'k{kkfFkZ;ksa (vf/xedÙkkZ) dh oS;fDÙkd fofHkUurkvksa
ds lanHkZ esa f'kf{kdk dks pkfg,%
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characteristic of gifted children?
(A) Higher order mental processes
(B) High self-efficacy
(C) Below average mental processes (Ans)
(D) Solving problems insightfully

193. According to the pre conventional level of
Kohlberg’s theory, to which of the following
would an individual turn when making a moral
decision ?
(A) Potential punishment involved (Ans)
(B) Personal needs and desires
(C) Individual values
(D) Family expectations

194. Regarding learners’ individual difference, the
teacher should:
(A) Provide a variety of learning situations.
(Ans)
(B) Solve the problems based on deductive
method.
(C) Most of the time use algorithms.
(D) Provide, Facts to students to memorize
them.

195. Which one of the following is not the principle
of child development ?
(A) All development follows a sequence.
(B) All areas of development are important.
(C) All development results from an
interaction of maturation and experience.
(D) All development and learning proceed
at an equal rate.  (Ans)

196. Which one of the following would be the most
effective way to conducting assessment?
(A) Assessment should be at the end of the
session.
(B) Assessment is an inbuilt process in
teaching learning. (Ans)
(C) Assessment should be done twice in an
academic session – at the beginning and at

(A) fofo/ izdkj dks vf/xe ifjfLFkfr;ksa dks miC/
djkukA
(B) fuxeukRed i¼fr ds vk/kj ij leL;kvkas
dk lek/ku djukA
(C) dyufof/ (,Yxksfj;e) dk vf/dkj iz;ksx
djukA
(D) ;kn djus ds fy, f'k{kkfFkZ;ksa dks rF; miyC/
djkukA

195- fUkEufyf[kr esa ls dkSu&lk cky&fodkl dk ,d fl¼kUr
ugha gS\
(A) lHkh fodkl ,d Øe dk ikyu djrs gSaA
(B) fodkl ds lHkh {ks=k egÙoiw.kZ gSaA
(C) lHkh fodkl ifjiDou rFkk vuqHko dh
var%fØ;k dk ifj.kke gksrs gSaA
(D) lHkh fodkl rFkk vf/xe ,d leku xfr
ls vkxs c<+rs gSaA

196. fuEufyf[kr esa ls dkSu&lk vkdyu djus dk lokZf/
d mi;qDr rjhdk gS\
(A) vkdyu l=k dh lekfIr ij djuk pkfg,A
(B) vkdyu f'k{k.k&vf/xe esa varfuZfgr izfØ;k
gSA
(C) vkdyu ,d 'kS{kf.kd l=k eas nks ckj djuk
pkfg,
(D) vkdyu f'k{kd ds }kjk ugha cfYd fdlh
ckã ,tsUlh ds }kjk djkuk pkfg,A

197. fuEufyf[kr esa ls dkSu&lk l`tukRedrk ls laEcfU/
r gS\
(A) vilkjh fpUru
(B) vfHklkjh fpUru
(C) lakosfxd fpUru
(D) vagoknh fpUru

198.cPpksa ds ckjs esa fuEufyf[kr dFkuksa esa ls fdl dFku
ls okbxksRldh lger gksars\
(A) cPps le;Ldksa vkSj o;Ldksa ds lkFk lkekftd
var%fØ;kvksa ds ekè;e ls lh[krs gSA
(B) cPps rc lksprs gS tc muds fy, vkd"kZd
iqjLdkj fu/kZfjr fd, tk,¡A
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the end.
(D) Assessment should be done by an
external agency and not by the teacher.

197. Which one of the following is related to
creativity?
(A) Divergent thinking (Ans)
(B) Convergent thinking
(C) Emotional thinking
(D) Egoistic thinking

198. Which one of the following statements about
children would Vygotsky agree with?
(A) Children learn through social interaction
with peers and adults. (Ans)
(B) Children learn when they are offered
lucrative rewards.
(C) Children’s thinking can be understood
by conducting laboratory experiment an
animals.
(D) Children are born ‘evil’ and need to be
controlled through punishment

199. Children are:
(A) Curious beings who use their own logic
and abilities to explore the world around them.
(Ans)
(B) adult-like in their thinking and there is
it quantitative increase in their thinking as
they grow up.
(C) Like empty vessels in which knowledge
given by the adults is filled.
(D) Passive beings who can produce exact
copies of the information transmitted to them.

200. Which of the following statements about
children’s errors correct?
(A) Children commit errors because they are
careless
(B) Children’s errors are part of the learning
process. (Ans)
(C) Children commit errors when the
teacher is lenient and does not punish then
for mistake.
(D) Children’s errors are insignificant for the
teacher and she should just strike out the
mistakes and not pay any attention to them.

201. A teachers needs to ensure that all learners
in her class feel accepted and valued. To do
this, the teachers should:
(A) Make strict rules and punish children
who do not follow them.

(C) cPpks ds fparu dks rc le>k tk ldrk
gS tc iz;ksx'kkyk esa i'kqvksa ij iz;ksx fd, tk,¡A
(D) cPps tUe ls 'kSarku gksrs gS vkSj mUgsa naM
nsdj fu;af=kr fd;k tkuk pkfg,A

199.cPps %
(A) ftKklq izk.kh gksrs gS tks vius pkjksa vksj ds
txr dks [kkstus ds fy, vius gh rdkZs vkSj
{kerkvksa dk mi;ksx djrs gSaA
(B) fparu esa o;Ldksa dh Hkkafr gh gksrs gSa vkSj
T;ksa&t;ksa os cM+s gksrs gSa muds fparu esa xq.kkRed
òf¼ gksrs  gSA
(C) jhrs cjru ds leku gksrs gSa ftlesa cM+ksa ds
}kjk fn;k x;k Kku Hkkjk gksrk gSA
(D) fuf"Ø; tho gksrs gS tks iznÙk lwpuk dks
T;ksa&dh&T;ksa izfrfyfi ds :i esa izLrqr dj nsrs
gSaA

200.cPpksa dh =kqfV;ksa ds ckjs esa fuEufyf[kr eas ls dkSu&lk
dFku lR; gS\
(A) vlko/kuh ds dkj.k cPps =kqfV;k¡ djrs gSaA
(B) cPpksa dh =kqfV;k¡ muds lh[kus dh izfØ;k dk
vax gSA
(C) cPps rc =kqfV;k¡ djrs gS tc f'k{kd lkSX;
gks vkSj mUgsa =kqfV;k¡ djus ij naM u nsrk gksA
(D) cPpksa dh =kqfV;k¡ f'k{kd ds fy, egÙoghu
gSa vkSj mls pkfg, fd mUgsa dkV ns vkSj mu ij
vf/d è;ku u nsA

201.vè;kid dks ;g lqfuf'pr djuk pkfg, fd mldh
d{kk ds lHkh f'k{kkFkhZ vius vkidks Lohd̀r lEekfur
le>saA blds fy, f'k{kd dks pkfg, fd og%
(A) dM+s fu;e cuk, vkSj tks cPps mudk ikyu
u djsa mUgsa naM nsA
(B) oafpr i`"BHkwfe ls vkus okys cPpksa dk
frjLdkj djsa rkfd os vuqHko djsa fd mUgsa vf/
d dBksj ifjJe djuk gSA
(C) mu f'k{kkfFkZ;ksa dk irk yxk, tks vPnh
vaxszth cksy ldrs gksa] vkSj laiUu ?kjkas ls gksa rFkk
mUgsa vkn'kZ ds :i esa izLrqr djsA
(D) vius f'k{kkfFkZ;ksa dh lekftd vkSj lakLd̀frd
i`"BHkwfe dh tkudkjh izkIr djs vkSj d{kk esa
fofo/ erksa dks izksRlkfgr djsA

202.lqjs'k lkekU; :i ls ,d 'kkar dejs esa vdsys iM+uk
pkgrk gS] tcfd enu ,d lewg esa vius fe=kksa ds



43

CDP

(B) Look down upon children form
‘disadvantaged’ background so that they feel
they have to work harder.
(C) Find out students who speak ‘good’
English and are from ‘rich’ backgrounds and
present the, as role models.
(D) Get to know the social and cultural
background of her students and encourage
diverse opinions in the class(Ans)

202. Suresh generally likes to study alone in a
quiet room whereas Madan likes to study in
a group with his friends. This is because of
difference in their:
(A) Values
(B) Aptitudes
(C) Learning Styles (Ans)
(D) Levels of reflectivity

203. India has a lot of linguistic diversity, In this
context, what is the most appropriate
statement about multilingual classrooms at
primary level  especially class I and II ?
(A) Students should be penalized for using their
mother tongue or local language.
(B) The schools should admit only those
students whose mother tongue is the same
as the language of instruction.
(C) The teacher should respect all languages
and encourage children to communicate in all
of them. (Ans)
(D) The teacher should ignore children who
use their mother longue in the class.

204. What is meant by ‘nature’ in ‘nature rupture’
controversy?
(A) The Environment around us
(B) Biological given or the hereditary
information  (Ans)

lkFk i<+uk pkgrk gSA ;g muds _______ esa fofHkUurk
ds dkj.k gSA
(A) ewY;ksa
(B) vfHk{kerk
(C) vf/xe 'kSyh
(D) ijkoradrk&Lrj

203.Hkkjr esa Hkkfa"kd fofHkUUrk cgqr gSA bl lanHkZ esa
fo'ks"kdj d{kk I vkSj II ds izkFkfed Lrj ij
cgqHkkf"kd d{kkvksa ds ckjs esa loZFkk mi;qDr dFku
gS%
(A)f'k{kkfFkZ;ksa dks viuh ekr`Hkk"kk ;k LFkkuh;
Hkk"kk ij iz;ksx djus ij nafMr fd;k tk,A
(B) fo|ky; esa mUgha cPpksa dks izos'k fn;k tk,
ftudh ekr`Hkk"kk ogh gks tks f'k{kk ds fy,
viukbZ tk jgh gksA
(C) f'k{kd dks lHkh Hkk"kkvksa dk lEeku djuk
pkfg, vkSj lHkh Hkk"kvksa esa vfHkO;fDr ds fy,
cPpksa dks izksRlkfgr djuk pkfg,A
(D) tks cPps d{kk esa ekr`Hkk"kk dk mi;ksx djrs
gS vè;kid dks mudh mis{kk djuh djrs pkfg,A

204. ^izd`fr&iks"k.k* fookn esa ^izd`fr* ls D;k vfHkizk;
gS\
(A) gekjs vkl&ikl dk okrkoj.k
(B) tSfodh; fof'k"Vrk,¡ ;k oa'kkuqØe lwpuk,¡
(C) ,d O;fDr dks e`r o`fr
(D) HkkSfed vkSj lkekftd lalkj dks tfVy
'kfDr;k¡

205. ^tu&lapkj ekè;e lekthdj.k dk ,d egÙoiw.kZ
ekè;e tk jgk gSA**
uhps fn, x, dFkuksa esa ls dkSu&lk lcls mi;qDRk
dFku gS\
(A) lalkj ekè;e inkFkkssZ ds foKkiu vkSj foØ;
ds fy, ,d vPNk ekè;e gSaA
(B) lekthdj.k dsoy] ekrk&firk vkSj ifjokj
ds }kjk fd;k tkrk gSA
(C) tu&lapkj ekè;eksa dh ig¡qp c<+ jgh gS vkSj
tu&lapkj eè;e vfHko`fÙk;k¡] ewY;ksa vkSj fo'oklksa
dks izHkkfor djrk gSA
(D) cPps lalkj ekè;eksa ds lkFk izR;{k :i ls
var% fØ;k ugha dj ldrs gSA
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(C) Temperament of an individual
(D) Complex forces of the physical and social
world

205. Mass Media is becoming a very important
agency of socialization. Which one of the
following is the most appropriate statement?
(A) Media is a very good way to advertise
and sell products.
(B) Socialization is done by the parents and
the family only.
(C) Access in mass media is growing and
mass media influences attitudes, values and
beliefs. (Ans)
(D) Children cannot directly interact with
media.

206. How children learn? Which one of the
following is not true with respect to this
statement?
(A) Children learn in class only.(Ans)
(B) Children learn when they are cognitively
ready.
(C) Children learn in a number of ways
(D) Children learn as they are naturally
motivated.

207. Which one of the following strategies should
a primary school teacher adopt to motivate
her students?
(A) Encourage competition for marks
amongst individual student.
(B) Use incentives, rewards and punishment as
motivating factors for each activity.
(C) Help children set goals as per their
interests and support them in working
towards the same.(Ans)
(D) Set standard goals for the entire class
and have rigid parameters to assess
achievement of those goals.

208. Which one of the following is the primary
agent of socialization ?
(A) Family (Ans)
(B) Computer
(C) Heredity
(D) Political parties

209. Giving children group work is an effective
pedagogic strategy since:
(A) It helps to reduce the teacher’s work.
(B) It allows some children to dominate the

206.cPps fdl izdkj ls lh[krs gS\ uhps fn, x,
dFkuksa esa ls dkSu&lk bl iz'u ds fo"k; esa lgh
ugha gS\
(A) cPps dsoy d{kk esa lh[krs gSaA
(B) cPps rc lh[krs gSa tc os laKkukRed :i
ls rS;kj gksrs gSA
(C) cPps vusdksa izdkj ls lh[krs gSA
(D) cPps lh[krs gS D;ksafd os LokHkkfod :i ls
izsfjr gksrs gSA

207.izkFkfed fo|ky; f'k{kd dks vius f'k{kkfFkZ;ksa dks
vfHkiszfjr djus ds fy, fuEufyf[kr esa ls fdl
j.kuhfr dks viukuk pkfg,\
(A) izR;sd f'k{kkFkhZ esa vad ykus ds fy, Li/
kZ dks izksRlkfgr djukA
(B) izR;sd xfrfof/ ds iszjd ds :i esa izksRlkgu]
iqjLdkj vkSj naM dk mi;ksx djukA
(C) cPpksa dks mudh :fp;ksa ds vuqlkj vius
y{; fuèkkZfjr djus vkSj mUgsa ikus ds m{e esa
lgk;rk djukA
(D) iwjh d{kk ds fy, ekud y{;

208. fuEufyf[kr esa ls dkSu&lk lekthdj.k dk ,d
izeq[k dkjd gS\
(A) ifjokj
(B) dEI;wVj
(C) vkuqoaf'kdrk
(D) jktuhfrd ny

209.cPpksa dks lewg dk;Z nsuk ,d izHkkoh f'k{k.k&j.kuhfr
gSa] D;ksfd
(A) blls f'k{kd dk dke de tkrk gSA
(B) NksVs lewg esa dqN cPpksa dks nwljs cPpksa ij
gkoh gksus dh vuqefr gksrh gSA
(C) lh[kus dh izfØ;k esa cPps ,d&nwljs ls
lh[krs gS vksj ijLij lgk;rk Hkh djrs gSA
(D) cPps viuk dke tYnh djus esa leFkZ gksrs
gSA

210.,d vkSlr cqf¼ okyk cPpk ;fn Hkk"kk dks i<+us
,oa le>us esa dfBukbZ iznf'kZr djrk gS rks ;g
ldsar nsrk gS fd cPpk ______ dk y{k.k
iznf'kZr dj jgk gSA
(A) iBu&v{kerk
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others in small groups.
(C) Children learn from each other and
support each other in the learning process.
(Ans)
(D) Children will be able to do their work
quickly.

210. A child with normal Intelligence shows difficulty
in reading and comprehending languages. It
indicates that the child is showing symptoms
of:
(A) Dyslexia(Ans)
(B) Dysgraphia
(C) Dyscalculia
(D) Dyspraxia

211. Do children acquire language because they
are genetically predisposed to do so or
because parents intensively teach them from
an early age ? This question essentially
highlights:
(a) the nature-nurture debate.(Ans)
(b) the discussion on development as a
multi-factor ability.
(c) whether development is a continuous
process or discontinuous one ?
(d) the influence of cognition on
development of language.

212. Development of the capacity for abstract
scientific thinking is a characteristic of:
(a) Sensori-motor stage
(b) Pre-operational stage
(c) Concrete operational stage
(d) Formal operational stage(Ans)

213. A child reasons - 'You do this for me and I'll
do that for you.' In which stage of Kohlberg's
moral reasoning would this child fall ?
(a) The instrumental purpose
orientation(Ans)
(b) The punishment and obedience
orientation
(c) The 'good boy-good girl' orientation
(d) The social-contract orientation

214. Progressive education :
(a) reaffirms the belief that the teacher has
to be firm in her approach and in today's world

(B) ys[ku&v{kerk
(C) xf.kÙkh;&v{kerk
(D) xfrleUo;&v{kerk

211. D;k cPps blfy, Hkk"kk vftZr djrs gSa] D;ksafd muesa vkuqoaf'kd
:i ls ,slk djus dh iwoZizòfÙk gksrh gS ;k muds ekrk&firk
izkjafHkd voLFkk ls gh mUgsa xgu :i ls fl[kkrs gSa\ ;g iz'u
vko';d :i ls n'kkZrk gS%

(a) izd`fr vkSj iks"k.k ij cglA

(b) cgq&dkjd ;ksX;rk ds :i esa fodkl ij ppkZ
(c) D;k fodkl ,d lrr~ izfØ;k gS ;k ,d vlrr~
izfØ;k\

(d) Hkk"kk ds fodkl ij laKku dk izHkko

212- vewrZ oSKkfud fpUru ds fy, {kerk dk fodkl fuEufyf[kr
voLFkkvksa esa ls fdldh ,d fo'ks"krk gS\
(a) laosnh&xfrd voLFkk

(b) iwoZ&lafØ;kRed voLFkk

(c) ewr~ lafØ;kRed voLFkk
(d) vkSipkfjd lafØ;kRed voLFkk

213- ,d cPpk rdZ izLrqr djrk gS& ^vki ;g esjs fy, djsa vkSj eSa
og vkids fy, d:axkA* ;g cPpk dksgycxZ dh uSfrd rdZ.kk
dh fdl voLFkk ds varxZr vk,xk\

(a) lgk;d mn~ns'; vfHkeq[khdj.k
(b) n.M vkSj vkKkikyu vfHkeq[khdj.k

(c) ^vPNk yM+dk&vPNh yM+dh* vfHkeq[khdj.k

(d) lkekftd&vuqca/ vfHkeq[khdj.k
214- izxfroknh f'k{kk%

(a) bl er ij fo'okl djrjh gS fd f'k{kd dks vius
mikxe esa n`<+ jguk gS vkSj orZeku le; esa fcuk n.M dk
iz;ksx fd, cPpksa dks i<+k;k ugh tk ldrk gSA

(b) leL;k lek/ku vkSj vkykspukRed fparu ij vf/d
cy nsrh gSA
(c) vuqca/u vkSj iqucZyu ds fl¼karksa ij vk/kfjr gSA

(d) ikB~;&iqLrdksa ij vk/kfjr gS] D;ksafd os Kku ds
,dek=k oS/ lzksr gSaA

215- fofHkUu eqn~nksa vkSj foe'kksaZ ij muds fy, dkj.k izLrqr djrs gq,
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children cannot be taught without using
punishment.
(b) lays strong emphasis on problem solving
and critical thinking.(Ans)
(c) is based on the principles of conditioning
and reinforcement.
(d) is centred around textbooks since they
are the only valid source of knowledge.

215. Questions encouraging students to voice
their individual opinions on issues and
reflections while giving reasons for the same,
promote :
(a) Convergent thinking
(b) Recall of information
(c) Standardized assessment of children
(d) Analytical and critical thinking(Ans)

216. Which one of the following statements best
sums up the relationship between
development and learning ?
(a) Learning and development are
synonymous terms.
(b) Learning and development are inter-
related in a complex manner.(Ans)
(c) Development is independent of learning.
(d) Learning trails behind development.

217. Which one of these is NOT a principle of
development?
(a) Development is life-long.
(b) Development is influenced by both
heredity and environment
(c) Development is modifiable.
(d) Development is governed and
determined by culture alone.(Ans)

218. A key feature of a child-centred classroom is
that in which :
(a) there's coercive and psychological
control of the teacher who determines the
learning trajectory and the behaviour of the
children.
(b) the teacher lays down uniform ways of
behaviour for children and gives them
appropriate rewards when they do the same.
(c) the teacher's role is to present the
knowledge to be learned and to assess the
students on standard parameters.
(d) the students with the teacher's guidance
are made responsible for constructing their
own understanding.(Ans)

219. Which one of the following statements is most
appropriate about intelligence?

cPpksa dks viuh O;fDrxr jk; dks O;Dr djus ds fy, izksRlkfgr
djus okys iz'u fdldks c<+kok nsrs gSa\

(a) vfHklkjh fparu

(b) tkudkjh dk iqu%Lej.k
(c) cPpksa dk ekudhd`r vkdyu

(d) fo'ys"k.kkRed vkSj vkykspukRed fparu

216- fuEufyf[kr esa ls dkSu&lk dFku fodkl vkSj vf/xe ds chp
laca/ dks loZJs"B :i esa tksM+rk gS\
(a) vf/xe vkSj fodkl lekukFkZd ikfjHkkf"kd 'kCn gSaA

(b) vf/xe vkSj fodkl ,d tfVy rjhds ls var%lacaf/
r gSaA

(c) fodkl vf/xe ls Lora=k gSA
(d) vf/xe fodkl ds ihNs jgrk gSA

217- buesa ls dkSu&lk fodkl dk ,d fl¼kar ugha gS\

(a) fodkl thoui;Zar gksrk gSA
(b) fodkl oa'kkuqØe vkSj i;kZoj.k nksuksa ls izHkkfor gksrk
gSA

(c) fodkl la'kks/u;ksX; gksrk gSA

(d) fodkl dsoy laLd`fr ls 'kkflr vkSj fu/kZfjr gksrk gSA
218- cky&dsafnzr d{kk dh ,d izeq[k fo'ks"krk gS fd mlesa

(a) f'k{kd ds }kjk cy iz;ksx vkSj eukSoSKkfud fu;a=k.k
gksrk gS] tks vf/xe iFk vkSj cPpkas ds O;ogkj dks fuèkkZfjr
djrk gSA

(b) f'k{kd cPpksa ds fy, O;ogkj ds le:i rjhdksa dks
fu/kZfjr djrk gS vkSj tc os mldk ikyu djrs gSa] rks mUgsa
mi;qDr iqjLdkj nsrk gSA
(c) f'k{kd dh Hkwfedk Kku dks lh[kus ds fy, mls izLrqr
djuk gS vkSj f'k{kkfFkZ;ksa dk ekud ekin.Mksa ij vkdyu
djuk gSA

(d) f'k{kd ds ekxZn'kZu ls f'k{kkfFkZ;ksa dks viuh Lo;a dh
le> dk fuekZ.k djus ds fy, mÙkjnk;h cuk;k tkrk gSA

219- cqf¼ ds ckjs esa fuEufyf[kr esa ls dkSu&lk dFku lokZf/d
mi;qDr gS\
(a) cqf¼ fo|ky; esa vPNk izn'kZu djus dh ;ksX;rk gSA

(b) cqf¼ cgq&vk;keh gS vkSj blesa dbZ igyw fufgr gSaA

(c) cqf¼ dks dsoy ekudhd`r cqf¼yfC/ ijh{k.kksa ds
vk;kstu ds }kjk fo'okluh; :i ls fu/kZfjr fd;k tk
ldrk gSA
(d) cqf¼ ewyHkwr :i ls Luk;q&ra=k&laca/h dk;Ziz.kkyh gSA
mnkgj.kkFkZ& izØe.k dh xfr] laosnh&foHksn vkfnA

220- fyax (tsaMj) i{kikr --------------------- dh vksj ladsr djrk gSA

(a) vius 'kjhj&foKku ds dkj.k yM+dksa vkSj yM+fd;ksa ds
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(a) Intelligence is the ability to do well in
school.
(b) Intelligence is multi-dimensional having
several aspects to it.(Ans)
(c) Intelligence can be reliably determined
only by administering standardised IQ tests.
(d) Intelligence is fundamentally
neurological functioning, for example speed
of processing, sensory discrimination etc.

220. Gender bias refers to :
(a) acknowledgement of differences
between boys and girls due to their
physiology.
(b) differential treatment of boys and girls
based on expectations due to cultural
attitudes.(Ans)
(c) genetic differences that exist between
boys and girls.
(d) perception of self as relatively feminine
and masculine in characteristics.

221. As an upper primary school teacher you have
quite a few children who are 'first generation
school goers' in your classroom. Which one
of the following are you most likely to do ?
(a) Tell the children that they do not have
the capability to study further and they should
now help their parents at work.
(b) Call the parents and gently ask them to
enrol their children for tuition.
(c) Provide scaffolding and other kinds of
supprot during classroom activities and for
homework.(Ans)
(d) Give them homework of memorizing and
copying the answers in their notebooks five
times.

222. Even children of the same age vary greatly in
appearance, abilities, temperament,
interests, aptitude amongst other things.
What is the role of the school in this regard?
(a) Ensure that all children develop in the
same manner.
(b) Ensure that each child gets
opportunities to develop as per her
potential.(Ans)
(c) Lay down normative standards of
assessment for children.
(d) Ensure that the teacher uses

chp fofHkUurkvksa dh Lohd`fr

(b) lkaLd`frd vfHko`fÙk;kas ds dkj.k vis{kkvksa ij vk/kfjr
yM+dksa vkSj yM+fd;ksa ls fHkUu O;ogkj djuk

(c) vkuqoaf'kd fofHkUurk,a tks yM+dksa vkSj yM+fd;ksa esa
ekStwn gSa
(d) fL=k;ksfpr vkSj iq#"kksfpr fo'ks"krkvksa esa lkisf{kd :i
ls Lo;a dk cks/

221- ,d mPp izkFkfed fo|ky; ds f'k{kd ds :i esa vkids ikl
d{kk esa dqN ,sls cPps gSa tks izFke ih<+h ds :i esa fo|ky;
vk jgs gSaA vkids }kjk fuEufyf[kr esa ls fdl fd, tkus dh
laHkkouk lokZfèkd gS\

(a) cPpksa ls dgsaxs fd muesa vkxs i<+us dh {kerk ugha gS
vkSj vc mUgsa vius ekrk&firk ds dke esa lgk;rk djuh
pkfg,A
(b) ekrk&firk dks cqyk,axs vkSj muls vius cPpksa dks
V~;w'ku yxkus dks uezrkiwoZd dgsaxsA

(c) d{kk xfrfof/ ds le; vkSj x`gdk;Z ds fy, mUgsa
cqfu;knh lg;ksx vkSj vU; lgk;rk miyC/ djk,axsA

(d) mUgsa ;kn djus ds fy, vkSj mÙkj dks ikap ckj viuh
mÙkj&iqfLrdk esa fy[kus ds fy, x`gdk;Z nsaxsA

222- leku vk;q ds cPpksa esa Hkh vkd̀fr] ;ksX;rk] LoHkko] #fp]
izo`fÙk vkSj vU; ckrksa esa cgqr varj gksrk gSA bl lanHkZ esa
fo|ky; dh D;k Hkwfedk gS\

(a) lqfuf'pr djuk fd lHkh cPpksa dk fodkl ,d gh
izdkj ls gksA

(b) lqfuf'pr djuk fd izR;sd cPps dks viuh {kerkvksa ds
vuqlkj fodkl ds volj feysaA
(c) cPpksa ds vkdyu ds fy, fu;ked ekud LFkkfir
djukA

(d) lqfuf'pr djuk fd f'k{kd ekudhd`r funsZ'k vkSj
ikB~;&iqLrdksa dk mi;ksx djsA

223- ,d lekos'kh d{kk esa fdlh f'kf{kdk dh lcls egRoiw.kZ Hkwfedk
gS%
(a) lqfuf'pr djuk fd izR;sd cPps dks viuh laHkkouk
dks izkIr djus dk volj feysA

(b) d{kk ds fy, ,slh ;kstuk cukuk fd izR;sd cPpk leku
xfr ls vkxs c<+sA

(c) ;g lqfuf'pr djuk fd f'kf{kdk d{kk dks ekud
funsZ'k ns jgh gSA
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standardized instruction and textbooks.
223. A teacher's most important role in an

inclusive classroom is:
(a) to ensure that every child gets an
opportunity to realize her potential.(Ans)
(b) to plan for the class so that every child
progresses at the same pace.
(c) to ensure that the teacher gives standard
instructions to the class.
(d) to find out the occupations of parents of
children so that the teacher knows what each
child's future occupation would be.

224. How would you help children in your class to
make changes in their concepts ?
(a) By giving factual information.
(b) By giving children an opportunity to
express their own understanding of the
concepts.(Ans)
(c) By dictating the information to the
children and then asking them to memorize
it.
(d) By punishing children if their concepts
are wrong.

225. A certificate is giveh to children when they
read a specific number of books. In the long
run this strategy might not worksince:
(a) a large number of certificates would have
to be given when more children start reading.
(b) reading books would distract children
from completing their homework.
(c) this might lead to children reading only
for getting the certificates.(Ans)
(d) the library would need to buy a lot of
books.

226. Role of a teacher in a class is to :
(a) fill the students with her own knowledge
and prepare them for examinations.
(b) transmit knowledge in a straight fashion
and prepare students for right answers.
(c) follow the time-table strictly and stick to
the course.
(d) provide authentic learning situations and
facilitate independent thinking in
students.(Ans)

227. Which of the following statements is most
appropriate about children's making errors
?
(a) Children commit errors since they do not
have the capacity to think.
(b) Children's errors are a window into how
they think.(Ans)

(d) cPps ds ekrk&firk ds O;olk; dks tkuuk rkfd

224- f'kf{kdk izR;sd cPps ds Hkkoh O;olk; dks tku ldsA

viuh d{kk ds cPpksa dks mudh viuh vo/kj.kkvksa dks cnyus
esa vki fdl izdkj lgk;rk djsaxs\
(a) rF;kRed tkudkjh nsdjA

(b) vo/kj.kkvksa ds ckjs esa cPpksa dks viuh le> dks ODr
djus dk volj nsdjA

(c) cPpksa dks lwpuk,a fy[kkdj mUgsa ;kn djus dks dgdjA
(d) ;fn cPpksa dh vo/kj.kk,a xyr gksa rks mUgsa n.M nsdjA

225- tc cPps ,d fo'ks"k la[;k esa iqLrdsa i<+rs gSa rks mUgsa ,d
izek.k&i=k fn;k tkrk gSA ;g j.kuhfr 'kk;n vf/d le; rd
dke u djs] D;ksafd%

(a) tc vf/d la[;k esa cPps i<+uk 'kq: dj nsaxs rks cM+h
ek=kk esa izek.k&i=k nsus gksaxsA
(b) iqLrdksa dks i<+uk cPpksa dks muds x`gdk;Z dks iwjk djus
esa ck/k MkysxkA

(c) ;g laHkor% cPpksa dks dsoy izek.k&i=k izkIr djus ds
fy, iqLrdksa dks i<+us dh rjiQ ys tk ldrk gSA

(d) iqLrdky; esa cgqr vf/d iqLrdksa dks [kjhnus dh
vko';drk gksxhA

226- fdlh d{kk esa f'k{kd dh Hkwfedk gS%

(a) vius Kku ls f'k{kkfFkZ;ksa dks ifjiw.kZ djuk vkSj mUgsa
ijh{kk ds fy, rS;kj djukA

(b) lh/s rjhds ls Kku igqapkuk vkSj f'k{kkfFkZ;ksa dks lgh
mÙkjksa ds fy, rS;kj djukA
(c) le;&lkj.kh dk dBksjrk ls ikyu djuk vkSj ikB~;&Øe
ls ca/s jgukA

(d) lh[kus dh fo'oluh; fLFkfr;ka tqVkuk vkSj f'k{kkfFkZ;ksa
dks Lora=k fparu dh lqfo/k nsukA

fuEufyf[kr esa ls dkSu&lk dFku cPpksa dh =kqfV;ksa ds laca/ esa
lcls mi;qDr gS\
(a) cPps xyfr;ka djrs gSa D;ksafd muesa fopkj djus dh
{kerk ugha gksrhA

(b) cPpksa dh xyfr;ka ,d f[kM+dh ds leku gksrh gSa] ;g
tkuus ds fy, fd os fdl izdkj lksprs gSaA

(c) xyfr;ksa ls cpus ds fy, cPpksa dks f'k{kd dk vuqdj.k
djuk pkfg,A
(d) cPpksa dh xyfr;ksa dks xaHkhjrk ls fy;k tkuk pkfg,
vkSj mUgsa dBksj n.M fn;k tkuk pkfg, rkfd os xyfr;ka u
nqgjk,aA
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(c) To avoid making errors, children need
to imitate the teacher.
(d) Children's errors need to be taken
seriously and they should be punished
severely so that they do not repeat the
mistakes.

228. Assessment is an integral part of teaching-
learning process because :
(a) in today's time marks are the only
important thing in education.
(b) children need to be marked so that they
know where they stand in comparison to their
peers.
(c) assessment helps the teacher to
understand children's learning and serves as
a feedback for her own teaching.(Ans)
(d) assessment is the only way to ensure that
teachers have taught and students have learnt.

229. "The curriculum must enable children to find
their voices, nurture their curiosity - to do
things, to ask questions and to pursue
investigations, sharing and integrating their
experiences with school knowledge - rather
than their ability to reproduce textual
knowledge." National Curriculum
Framework 2005, p-13.
Against this backdrop, what should be the
primary role of the teacher ?
(a) to do the chapters of the textbooks
sequentially.
(b) to ensure that the teacher asks good
questions and the children write the answers
in their notebooks.
(c) to give plenty of opportunities to
children to share their own understanding and
knowledge.(Ans)
(d) to discard the experiences of the
children and focus on the textbook.

230. To encourage children to put in efforts in their
studies teachers need to :
(a) motivate the child(Ans)
(b) scold the child
(c) control the child
(d) compare the child with others.

231. Which one of these statements in the context
of emotions, learning and motivation is most
appropriate?

vkdyu f'k{k.k&vf/xe izfØ;k dk vfHkUu vax gS D;ksafd%

(a) vkt ds le; esa dsoy vad gh f'k{kk esa egRoiw.kZ gSaA

(b) cPpksa dks vad fn, tkus pkfg, rkfd os le> ldsa fd
vius lgikfB;ksa dh rqyuk esa dgka ij gSaA
(c) vkdyu ls vè;kIkd cPpksa ds vf/xe dks le>rk gS
vkSj mlds vius f'k{k.k dh ifjiqf"V Hkh gksrh gSA

(d) vkdyu gh ,dek=k rjhdk gS tks vk'oLr djrk gS fd
f'k{kdksa us i<+k;k vkSj cPpksa us lh[kkA

229. ^^ikB~;&p;kZ ,slh gks tks ikB~;&iqLrd ds Kku dks iqu% izLrqr
djus ds LFkku ij cPpksa dks viuh vkoktsa ikus] dk;Z djus ds
fy, viuh ftKklk dk iks"k.k djus] iz'u iwNus vkSj tkap&iM+rky
djus rFkk vius vuqHkoksa dks ckaVus rFkk fo|ky; ds Kku ds lkFk
tksM+us esa l{ke cuk,A** jk"Vªh; ikBp;kZ dh :ijs[kk 2005] ì-
13 bl ì"BHkwfe esa] ,d f'k{kd dh izkFkfed Hkwfedk D;k gksuh
pkfg,\
(a) ikB~;&iqLrd ds vè;;ksa dks Øeokj iwjk djkukA

(b) ;g lqfuf'pr djuk fd f'kf{kdk vPNs iz'u iwNs vkSj
f'k{kkFkhZ viuh mÙkj&iqfLrdk esa mÙkj fy[ksaA

(c) cPpksa dks mudh viuh le> vkSj vius Kku dks lk>k
djus ds i;kZIr volj nsukA
(d) cPpksa ds vuqHkoksa dks fujLr dj ikB~;&iqLrdksa ij
è;ku dsafnzr djukA

230- cPpksa dks vius vè;;u esa iz;kl djus gsrq izksRlkfgr djus ds
fy, f'k{kdksa dks --------------------- dh vko';drk gksrh gSA

(a) cPps dks izsfjr djus
(b) cPps dks MkaVus

(c) cPps dks fu;a=k.k esa j[kus

(d) vU; cPpksa ds lkFk rqyuk djus
231- Hkkoukvksa] vf/xe vkSj vfHkizsj.kk ds lanHkZ esa fuEufyf[kr esa ls

fdl dFku ls vki lger gSa\

(a) lh[kus ds fy, vfHkizsfjr djus esa Hkkoukvkas dh dksbZ
Hkwfedk ugha gksrhA

(b) dqN u;k lh[kuk bl ij fuHkZj djrk gS fd mlesa ge
fdrus fuiq.k gSaA
(c) lh[kus ds fy, Hkkoukvksa dks vyx j[k nsuk pkfg,A

(d) izsj.kk vkSj lh[kus ds lkFk Hkkouk,a ?kfu"B :i ls tqM+h
gSaA

232- cgqfodYih iz'u cPpksa dh ------------------- dh ;ksX;rk dk vkdyu
djrs gSaA
(a) lgh mÙkj dh igpku djus
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(a) Emotions do not play any role in
motivating us to learn.
(b) Learning something new is dependent
on how good we are at that.
(c) Emotions need to be pushed aside to
allow for learning to take place.
(d) Emotions are inextricably intertwined
with motivation and learning.(Ans)

232. Multiple Choice Questions assess the child's
ability to:
(a) recognize the correct answer.(Ans)
(b) recall the correct answer.
(c) construct the correct answer.
(d) explain the correct answer.

233. Process of socialization does NOT include :
(a) Learning the customs and norms of a
culture
(b) Acquisition of skills
(c) Acquiring values and beliefs
(d) Genetic transmission(Ans)

234. What term/phrase does Piaget use for 'mental
structures which are the building blocks of
thinking' ?
(a) Schemas(Ans)
(b) Zones of development
(c) Gene
(d) Maturation blocks

235. According to Vygotsky why do children speak
to themselves?
(a) Children are egocentric.
(b) Children use speech to guide their
actions.(Ans)
(c) Children use their speech to attract the
attention of adults to them.
(d) Children are very talkative by nature.

236. Children with learning disabilities :
(a) have retarded mental development.
(b) have low IQ.
(c) have confusion between letters and
alphabets that look alike.(Ans)
(d) easily recognise and comprehend sight
words.

237. What is Creativity ?
(a) Ability to identify or prepare original and
divergent solutions to problems.(Ans)
(b) Creativity is best defined as an IQ of
above 200.

(b) lgh mÙkj dks izR;kLej.k djus

(c) lgh mÙkj dk fu/kZj.k djus

(d) lgh mÙkj dh O;k[;k djus
233- lekthdj.k dh izfØ;k esa 'kkfey ugha gS%

(a) ,d laLd`fr dh jhfr;ksa vkSj ekun.Mksa dks lh[kukA

(b) dkS'kyksa dk vtZuA
(c) ewY;ksa vkSj fo'oklksa dk vtZu

(d) vkuqoaf'kd lapj.kA

234- ^ekufld lajpuk,a tks fparu ds fuekZ.k iz[k.M gSa*& blds fy,
fi;kts us fdl 'kCn@in dk iz;ksx fd;k gS\
(a) Ldhek (vo/kj.kk,a)

(b) fodkl ds {ks=k

(c) thu
(d) ifjiDou iz[k.M

235- ok;xksRLdh ds vuqlkj cPps Lo;a ls D;ksa cksyrs gSa\

(a) cPps vgadsfUnzr gksrs gSaA
(b) cPps vius dk;Z dks fn'kk nsus ds fy, cksyrs gSaA

(c) cPps vius izfr o;Ldksa dk è;ku vkdf"kZr djus ds
fy, cksyrs gSaA

(d) cPps LoHkko ls cgqr ckrwuh gksrs gSaA
236- vf/xe v'kDrrk okys%

(a) cPpksa dk ekufld fodkl ean gksrk gSA

(b) cPps fuEu cqf¼yfC/ okys gksrs gSaA
(c) cPpksa dks ,d leku fn[kkbZ nsus okys v{kjksa vkSj o.kksaZ
esa Hkze gksrk gSA

(d) cPps ǹ';&'kCnksa (lkbV oM~Zl) dks vklkuh ls igpkurs
vkSj le>rs gSaA

237- l̀tukRedrk D;k gS\
(a) leL;kvksa ds ekSfyd vkSj vilkjh lek/kuksa dks igpkuus
vFkok rS;kj djus dh ;ksX;rkA

(b) l`tukRedrk 200 ls Åij dh cqf¼yfC/ ls lokZf/d
csgrj <ax ls ifjHkkf"kr gksrh gSA

(c) cqf¼ dk ,d izdkj tks mu dkS'kyksa ls lacaf/r gS tks
lafpr fd, x, Kku vkSj vuqHko ij fuHkZj gksrs gSaA
(d) cqf¼ dk ,d izdkj tks lalk/u dh xfr dks 'kkfey
djrs gq, lwpuk&izØe.k dkS'kyksa ij vR;f/d fuHkZj gksrk gSA

238- Hkkjr esa cgqr ls cPps] fo'ks"kdj yM+fd;ka] fo|ky; esa vkus ls
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(c) A form of intelligence that refers to skills
that depend on accumulated knowledge and
experience.
(d) A form of intelligence that depends
heavily on information- processing skills
including the speed of processing.

238. A lot of children in India, especially girls do
household chores before coming to school and
after going back from school. What do you
think a teacher should do regarding
homework in this context ?
(a) Ask the parents of the children to get
tuition for completing the homework for their
children.
(b) She should give harsh punishment to the
children who do not complete
their homework.
(c) The teacher should give homework that
connects the learning at school to the
children's lives at home.(Ans)
(d) The teacher should ensure that the
children wake up early in the morning and
stay till late to complete their homework.

239. In an effective classroom :
(a) the children fear the teacher since the
teacher uses verbal and physical punishment.
(b) the children don't have any regard for
the teacher and do as they please.
(c) the children look up to the teacher for
guidance and support to facilitate their
learning.(Ans)
(d) the children are always anxious and kept
on their toes since the teacher keeps on
giving regular tests to assess their ability for
recall.

240. Presenting disconnected chunks of
knowledge would:
(a) make it difficult for the learners to gain
conceptual understanding.(Ans)
(b) make recall easier for the learners.
(c) help learners organize information on
their own.
(d) make the task of the teacher difficult and
that of the learners easy.
(c) Extra materials
(d) Newspaper clipping

241. Teachers, in order to help learners construct

igys vkSj fo|ky; ls okil tkus ds ckn ?kj dk dke djrs gSaA
vkids fopkj ls bl lanHkZ esa ,d f'kf{kdk dks x̀gdk;Z ds ckjs
esa D;k djuk pkfg,\

(a) cPpksa ds ekrk&firk ls muds x`gdk;Z dks iwjk djkus ds
fy, V~;w'ku yxokus ds fy, dfg,A

(b) mls mu cPpksa dks dBksj n.M nsuk pkfg, tks viuk
x`gdk;Z iwjk ugha djrs gSaA
(c) f'kf{kdk dks ,slk x`gdk;Z nsuk pkfg, tks fo|ky; esa
djk, x, vf/xe dks cPpksa ds ?kjsyw thou ls tksM+rk gSA

(d) f'kf{kdk dks lqfuf'pr djuk pkfg, fd cPpas viuk
x`gdk;Z iwjk djus ds fy, lqcg tYnh mBsa vkSj nsj rd #dsaA

239- ,d izHkkoh d{kk esa%
(a) cPps f'k{kd ls Mjrs gSa] D;ksafd og ekSf[kd vkSj
'kkjhfjd n.M dk iz;ksx djrk gSA

(b) cPps f'k{kd dk lEeku ugha djrs gSa vkSj tSlk mUgsa
vPNk yxrk gS oSlk gh djrs gSaA

(c) cPps vius vf/xe dks lqxe cukus ds fy, ekxZn'kZu
,oa lg;ksx gsrq f'k{kd ls lgk;rk ysrs gSaA
(d) cPps ges'kk mRlqd vkSj rS;kj jgrs gSa] D;ksafd f'k{kd
mudh izR;kLej.k ;ksX;rk dk vkdyu djus ds fy, fu;fer
:i ls ijh{kk ysrk jgrk gSA

240- Kku ds ,d cM+s vlEc¼ Hkkx dks izLrqr djuk%

(a) f'k{kkfFkZ;ksa ds fy, vo/kj.kkRed le> dks izkIr djus
dks dfBu cuk,xkA
(b) f'k{kkfFkZ;ksa ds fy, izR;kLej.k dks vklku cuk,xkA

(c) vH;kl i=kd

(d) iz'u&i=k

241- f'k{kkfFkZ;ksa ds Kku vtZu esa lgk;rk djus ds Øe esa
vè;kidksa dks fdl ij è;ku dsfUnzr djuk pkfg,\
(A) f'k{kkFkhZ ds }kjk izkIr fd, x, vadksa@xszMksa ij
(B) f'k{kkFkhZ dks lfØ; lgHkkfxrk ds fy, 'kkfey
djuk
(C) f'k{kkFkhZ ds }kjk vf/xe dh vo/kj.kkvksa esa
dq'kyrk izkIr djuk
(D) lqfuf'pr djuk fd f'k{kkFkhZ lc dqN ;kn
djrs gSa

242.vè;kid ds ǹf"dks.k ls izfrHkk'khyrk fdldk la;kstu
gS\
(A) mPp izsj.kk&mPp opuc¼rk&mPp {kerk
(B) mPp ;ksX;rk&mPp {kerk& mPp opuc¼rk
(C) mPp {kerk&mPp l̀tukRedrk&mPp Lej.k'kfÙkQ
(D) mPp ;ks sX;rk& mPp l`tukRedrk& mPp
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knowledge, need to focus on
(A) Scores/marks obtained by the learner.
(B) Involving the learner for active
participation. (Ans)
(C) Mastering learning of concepts by the
learner.
(D) Making sure the learner memorizes
everything.

242. Giftedness from teacher’s point of view is a
combination of
(A) High Motivation – High Commitment–
High Talent
(B) High Ability – High Talent – High
Commitment (Ans)
(C) High Talent – High Creativity– High
Memory
(D) High Ability – High Creativity – High
Commitment

243. According to NCF 2005, errors are important
because they
(A) Provide a way to the teachers to scold
the children.
(B) Provide an insight into the child’s
thinking and help to identify solutions. (Ans)
(C) Provide space for removing some
children from the class.
(D) Are an important tool in classifying
students into groups of ‘passed’ and ‘failed’.

244. A child’s notebook shows errors in writing
like reverse images, mirror imaging etc. Such
a child is showing signs of
(A) Learning disability (Ans)
(B) Learning difficulty
(C) Learning Problem
(D) Learning disadvantage

245. Which one of the following is best suited for
emotional development of children?
(A) No involvement of the teachers as it is

opuc¼rk
243.,u-lh-,iQ- 2005 ds vuqlkj xyfr;k¡ bl dkj.k ls

egÙoiw.kZ gksrh gSa%
(A) ;g vè;kidksa dks cPpksa dks Mk¡Vus ds fy, ,d
rjhdk miyC/ djkrh gSa
(B) ;s cPps ds fopkj dh vUrnZ̀f"V miyC/ djkrh
gSa rFkk lek/kuksa dks igpkuus esa lgk;rk djrh gSa
(C) ;s d{kk ls dqN cPpksa dks gVkus ds fy, vk/
kj miyC/ djkrh gSa
(D) ;g fo|kfFkZ;ksa dks ̂ mÙkh.kZ* ,oa ̂ vuqÙkh.kZ* lewgksa
esa oxhZd`r djus ds fy, ,d egÙoiw.kZ midj.k gSa

244.,d cPps dh dkWih esa fy[kus es foijhr Nfo;k¡]
niZ.k,] Nfo] vkfn tSlh xyfr;k¡ feyrh gSA bl
izdkj dk cPPkk y{k.k iznf'Zkr dj jgk gS
(A) vf/xe esa v'kÙkQrk ds
(B) vf/xe esa dfBukbZ ds
(C) vf/xe eas leL;k ds
(D) vf/xe ds vlqfo/k ds

245. fuEufyf[kr esa ls dkSu&lk cPpksa ds laosxkRed fodkl
ds fy, lokZf/d mi;qÙkQ gS\
(A) vè;kidksa dh dksbZ Hkh lgHkkfxrk ugha D;ksafd
;g ekrk&firk dk dk;Z gS
(B) d{kk&d{k dk fu;af=kr ifjos'k
(C) d{kk&d{k dk vf/dkjoknh ifjos'k
(D) d{kk&d{k dk iztkrkaf=kd ifjos'k

246.cPpksa ds vf/xe dks lqxe cukus ds fy, vè;kidksa
dks ,d vPNs d{k;h ifjos'k dk l`tu djus dh
vko';drk gskrh gSA bl izdkj ds vf/xe ifjos'k
dk l`tu djus ds fy, uhps fn, x, dFkuksa esa ls
dkSu&lk lgh ugha gS\
(A) vè;kidksa ds vuqlkj dk;Z djuk
(B) cPPks dks Lohdkj djuk
(C) vè;kid dk ldkjkRed :[k
(D) cPps ds iz;klksa dks Lohd`fr

247.yM+dksa ,oa yM+fd;ksa ds fo"k; esa dqN dFku uhps
fn, x, gSaA vkids vuqlkj buesa ls dkSu&lk lgh gS\
(A) yM+dksa dks ?kj ds dkeksa esa lgk;drk djuh
pkfg,A
(B) lHkh yM+dksa dks foKku rFkk yM+fd;ksa dks x`g
foKku i<+k;k tkuk pkfg,A
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the task of the parents
(B) Controlled classroom environment
(C) Authoritarian classroom environment
(D) Democratic classroom environment
(Ans)

246. Teachers need to create a good classroom
environment to facilitate children’s learning.
To create such a learning environment, which
one of the given statements is not true?
(A) Compliance with teachers (Ans)
(B) Acceptance of the child
(C) Positive tone of the teacher
(D) Approval of the child’s efforts

247. Given below are some statements about boys
and girls. According to you, which one of these
is true?
(A) Boys should help in housedhold chores.
(Ans)
(B) All Boys should be taught Science and
girls, Home Science.
(C) Girls should help in household chores.
(D) Boys should help in activities outside the
home.

248. To be an effective teacher it is important to
(A) Focus on individual learning rather than
group activity.
(B) Avoid disruption caused due to
questioning by students.
(C) Be in touch with each and every child.
(Ans)
(D) Emphasize dictating answers from the
book.

249. Which one of the following is not a suitable
formative assessment task?
(A) Project
(B) Observation
(C) Ranking the students
(D) Open-ended questions

250. Deficiency in the ability to write, associated
with impaired handwriting, is a symptom of
(A) Dyspraxia

(C) yM+fd;ksa dks ?kj ds dkeksa esa lgk;rk djuh
pkfg,A
(D) yM+dksa dks ?kj ds ckgj ds dkeksa esa lgk;rk
djuh pkfg,A

248.,d izHkko'kkyh vè;kfidk gksus ds fy, ;g egRoiw.kZ
gS%
(A) lewg xfrfof/ ds ctk; oS;fÙkQ vf/xe ij
è;ku nsuk
(B) fo|kfFkZ;ksa ds }kjk iz'u iwNus ds dkj.k mRiÂ
O;o/ku dh vuns[kh djuk
(C) izR;sd cPPks ds lEidZ essa jguk
(D) iqLrd ls mÙkjksa dks fy[kkus ij cy nsuk

249. fuEufyf[kr esa ls dkSu&lk ,d mi;qÙkQ jpukRed
vkdyu dk;Z ugha gS\
(A) ifj;kstuk
(B) voyksdu
(C) fo|kfFkZ;ksa dk ;ksX;rk Øe fu/kZfjr djuk
(D) [kqys vUr okys iz'u

250. fod`r fy[kkoV ls lEcfU/r fy[kus dh ;ksX;rk esa
deh fdldk ,d y{k.k gS\
(A) fMLiSzfDl;k
(B) fMLdSYdqfy;k
(C) fMLysfDl;k
(D) fMLxzkfiQ;k

251. fi;k”ks ds fl¼kUr ds vuqlkj] fuEufyf[kr esa ls
dkSu&lk O;fÙkQ ds laKkukRed fodkl dks izHkkfor
ugha djsxk\
(A) lkekftd vuqHko
(B) ifjiDou
(C) fØ;kdyki
(D) Hkk"kk

252.buesa ls dkSu&lk f=kar=kh; fl¼kUr esa O;kogkkfjd
cqf¼ dk vfHkizk; ugha gS\
(A) dsoy vius fo"k; esa O;kokfgjd :i ls fopkj
djuk
(B) bl izdkj ds i;kZoj.k dk p;u djuk ftlesa
vki liQy gks ldrs gSa
(C) i;kZoj.k ds lkFk vuqdwyu djuk
(D) i;kZoj.k dk iqufuekZ.k djuk

253. ^^dksbZ Hkh ukjk”k gks ldrk gS& ;g vklku gS] ijUrq
,d lgh O;fÙkQ ds Åij] lgh ek=kk esa] lgh le;
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(B) Dyscalculia
(C) Dyslexia
(D) Dysgraphia(Ans)

251. According to Piaget theory, which one out of
the following will not influence one’s cognitive
development?
(A) Social experiences(Ans)
(B) Maturation
(C) Activity
(D) Language

252. Which of these does not imply practical
intelligence in Triarchic theory?
(A) Thinking practically about oneself only
(Ans)
(B) Choosing an environment in which you
can succeed
(C) Adapting to the environment
(D) Reshaping the environment

253. “Anyone can become angry- that is easy, but
to be angry with the right person, to the right
degree, at the right time, for the right
purpose, and in the right way – that is not
easy.” This is related to
(A) Social development
(B) Cognitive development
(C) Physical development
(D) Emotional development (Ans)

254. In learning, assessment is essential for
(A) Screening test
(B) Motivation(Ans)
(C) Fostering of the purpose of segregation
and ranking
(D) Grades and Marks

255. Fitting new information into existing schemes
is known as
(A) Equilibration
(B) Assimilation (Ans)
(C) Organization
(D) Accommodation

ij] lgh mís'; ds fy, rFkk lgh rjhds ls ukjk”k
gksuk vklku ugha gSA ;g lEcfU/r gS
(A) lkekftd fodkl ls
(B) laKkukRed fodkl ls
(C) 'kjhfjd fodkl ls
(D) laosxkRed fodkl ls

254.vf/xe esa vkdyu fdl fy, vko';d gksrk gS\
(A) tk¡p ijh{k.k ds fy,
(B) iszj.kk ds fy,
(C) i`Fkdj.k vkSj Js.khdj.k ds mís'; dks izksRlkgu
nsus ds fy,
(D) xszM ,oa vadks ds fy,

255.izpfyr ;kstukvksa esa ubZ tkudkjh tksM+us dks fdl
uke ls tkuk tkrk gS\
(A) lkE;/kj.k
(B) vkRelkRdj.k
(C) laxBu
(D) lek;kstu

256.ge lHkh viuh cqf¼] iszj.kk] vfHk:fp] vkfn ds
lanHkZ esa fHkÂ gksrs gSaA ;g fl¼kUr lEcfUèkr gS
(A) cqf¼ ds fl¼kUrksa ls
(B) oa'kkuqØe ls
(C) i;kZoj.k ls
(D) oS;fÙkQd fHkÂrk ls

257.oafpr lewgksa ds fo|kfFkZ;ksa dks lkekU; fo|kfFkZ;ksa ds
lkFk&lkFk i<+kuk pkfg,A bldk vfHkizk; gS
(A) fo'ks"k f'k{kk
(B) ,dhd`r f'k{kk
(C) viotZd f'k{kk
(D) lekos'kh f'k{kk

258. ^vkWmV&vkWiQ&n&ckWDl* fpUru fdlls lEcfU/r gS\
(A) Le`fr&vk/kfjr fparu
(B) vilkjh fparu
(C) vfHklkjh fparu
(D) vuqdwy fparu

259. f'k{k.k esa vè;kidksa ds }kjk fo|kfFkZ;ksa dk vkdyu
bl vUrnZ̀f"V dks fodflr djus ds fy, fd;k tk
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256. We all differ in terms of our intelligence,
motivation, interest, etc. This principle refers
to
(A) Theories of intelligence
(B) Heredity
(C) Environment
(D) Individual difference(Ans)

257. Students of disadvantaged groups should be
taught along with the normal students. It
implies
(A) Special Education
(B) Integrated Education
(C) Exclusive Education
(D) Inclusive Education (Ans)

258. ‘Out-of-the-box’ thinking is related to
(A) Memory-based Thinking
(B) Divergent Thinking (Ans)
(C) Convergent Thinking
(D) Consistent Thinking

259.  The assessment of students can be used by
teachers in teaching to develop insight into
(A) Not promoting those students who do not
meet school standards.
(B) Changing the teaching approach
according to the learners’ need  (Ans)
(C) Creating groups of ‘bright’ and ‘weak’
students in the class.
(D) Identifying the students who need to be
promoted to the higher class.

260. Learning experience should be planned in a
manner so as to make learning meaningful.
Which of the given learning experiences does
not facilitate meaningful learning for the
children?
(A) Formulating questions on content
(B) Discussion and debate on the topic
(C) Presentation on the topic
(D) Repetition based on mere recall of
content (Ans)

261. Giving punishment, verbal or non-verbal, to
the children results in

ldrk gS%
(A) mu fo|kfFkZ;ksa dks izksÂrk u djuk tks fo|ky;
ds Lrj ds vuqdwy ugha gS
(B) f'k{kkfFkZ;ksa dh vko';drk ds vuqlkj f'k{k.k
mikxe esa ifjorZu djuk
(C) d{kk esa ̂ izfrHkk'kyh* rFkk ̂ detksj* fo|kfFkZ;ksa
ds lewg cukuk
(D) mu fo|kfFkZ;ksa dh igpku djuk ftUgsa mPprj
d{kk esa izksÂr djuk gS

260.vf/xe vuqHkoksa dks bl izdkj esa v;ksftr fd;k
tkuk pkfg, ftlls vf/xe dks lkFkZd cuk;k tk
ldsA uhps fn, x, vfèkxe vuqHkoksa esa ls dkSu&lk
cPpksa ds fy, lkFkZd vf/xe dks lqxe ugha cukrk
gS\
(A) fo"k;&oLrq ij iz'u cukuk
(B) izdj.k ij ifjppkZ vkSj okn&fookn
(C) izdj.k ij izLrqrhsdj.k
(D) fo"k;&oLrq dh dsoy ;kn djus ds vk/kj ij
iqujkòfÙk

261.cPPkksa dks 'kfCnd ;k xSj&'kfCnd n.M nsus dk
ifj.kke gksrk gS
(A) cPps dh Nfo dh lqj{kk djukA
(B) muds vadksa esa lq/kj djukA
(C) muds Lo;a ds izfr vo/kj.kk dks u"V djukA
(D) mUgsa dk;Z djus ds fy, iszfjr djukA

262.vè;kfidk us ,d desVh ds iz/ku dks ̂ lHkkifr* ds
LFkku ij ^lHkkè;{k* fy[kkA ;g ladsr djrk gS fd
vè;kfidk
(A) Hkk"kk ij vPNk vf/dkj j[krh gS
(B) ,d fyax&eqÙkQ Hkk"kk dk iz;ksx dj jgh gS
(C) fyax iwoZxzg ls xzLr gS
(D) ,d vf/d mi;qÙkQ ikfjHkkf"kd 'kCn dk ikyu
djrh gS

263.lrr ,oa O;kid ewY;kadu fdl fy, vko';d gS\
(A) f'k{kk cksMZ dh tokcnsgh de djus ds fy,
(B) tYnh&tYnh dh tkus okyh x+yfr;ksa dh rqyuk
esa de vUrjky ij dh tkus okyh xyfr;ksa dks lq/
kjuk
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(A) Protecting the child’s image.
(B) Improving their scores.
(C) Damaging their self-concept. (Ans)
(D) Motivation them to work.

262. A teacher, labelled the head of a committee,
as ‘chairperson’ instead of ‘chairman’. It
indicates that the teacher
(A) Has a good command of language
(B) Is using a gender-free language (Ans)
(C) Has gender bias
(D) Follows a more acceptable term

263. Continuous and Comprehensive Evaluation
is essential for
(A) Diluting the accountability of the Board
of Education
(B) Correcting less-frequent errors more
than more-frequent errors.
(C) Understanding how learning can be
observed, recorded and improved upon (Ans)
(D) Fine tuning of test with the teaching

264. In Lawrence Kohlberg’s theory, which level
signifies the absence of morality in the true
sense?
(A) Level IV
(B) Level I (Ans)
(C) Level II
(D) Level III

265. Which one of the following is not correct for
the progressive model of socialization of
children?
(A) Children accept what they are offered by
the school irrespective of their social
backgrounds. (Ans)
(B) There should be a place for democracy
in the classroom.
(C) Socialization is an adoption of social
norms.
(D) Active participation in the group work

(C) ;g le>us ds fy, fd vf/xe dk fdl izdkj
voyksdu fd;k tkrk gS] n”kZ fd;k tkrk gS o lq/
kj fd;k tk ldrk gS
(D) f'k{k.k ds lkFk ijh{k.k dk rkyesy cSBkus ds
fy,

264.ykWjsUl dksg~ycxZ ds fl¼kUr esa dkSu&lk Lrj uSfrdrk
dh vuqifLFkfr dks lgh vFkZ esa lwfpr djuk gS\
(A) Lrj IV

(B) Lrj I

(C) Lrj II

(D) Lrj III

265. fuEufyf[kr esa ls dkSu&lk cPpksa ds lekthdj.k ds
izxfr'khy ekWMy ds lanHkZ esa lgh ugha gS\
(A) cPps fo|ky; esa crkbZ xbZ ckrksa dks Lohsdkj
djrs gSa pkgs mudh lkeftd i`’Hkwfe dqN Hkh gksA
(B) d{kk esa iztkra=k ds fy, LFkku gksuk pkfg,A
(C) lekthdj.k lkekftd fu;eksa dk vf/xzg.k gSA
(D) lewg dk;Z esa lfØ; lgHkkfxrk rFkk lkekftd
dkS'kyksa dks lh[kukA

266.vè;kfidk ds è;ku fn;k fd iq"ik vius&vki fdlh
,d leL;k dk le/ku ugha dj ldrh gSA fiQj Hkh
og ,d o;Ld ;k lkFkh ds ekxZn'kZu dh mifLFkfr
esa ,slk djrh gSA bl ekxZn'kZu dks dgrs gSa
(A) iwoZ&fØ;kRed fpUru
(B) lehiLFk fodkl dk {ks=k
(C) lgkjk nsuk
(D) ik'oZdj.k

267. fuEufyf[kr esa ls dkSu izkjfEHkd ckY;koLFkk vof/
ds nkSjku mu Hkwfedkvksa ,oa O;ogkjksa ds ckjs esa
tkudkjh iznku djrs gSa tks ,d lewg esa Lohdk;Z gSa\
(A) vè;kid ,oa lkFkh
(B) lkFkh ,oa ekrk&firk
(C) ekrk&firk ,oa HkkbZ&cgu
(D) HkkbZ&cgu ,oa vè;kid

268 fuEufyf[kr esa ls dkSu&lk vk;q lewg ijrrhZ ckY;koLFk
Js.kh ds vUrxZr vkrk gS\
(A) 18 ls 24 o"kZ
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and learning social skills.
266. The teacher noticed that Pushpa cannot solve

a problem on her own. However, she does so
in the presence of adult or peer guidance.
This guidance is called
(A) Pre-operational thinking
(B) Zone of proximal development
(C) Scaffolding (Ans)
(D) Lateralization

267. Which one out of the following provides
information about the roles and behaviors
which are acceptable in a group, during early
childhood period?
(A) Teachers and Peers
(B) Peers and Parents
(C) Parents and Siblings(Ans)
(D) Siblings and Teachers

268. Which of the following age groups falls under
later childhood category?
(A) 18 to 24 years
(B) Birth to 6 years
(C) 6 to 11 years(Ans)
(D) 11 to 18 days

269. Aarjav says that language development is
influenced by one’s innate predisposition
while Sonali feels that it is because of the
environment. This discussion between Aarjav
and Sonali is about
(A) Stability and Instability argument
(B) Continuous and Discontinuous learning
(C) Nature and Nurture debate (Ans)
(D) Critical and Sensitive feeling

270. Making students members of a cleanliness
community to motivate them for the same,
reflects
(A) Behavioristic approach motivation
(B) Humanistic approach to motivation
(C) Cognitive approach to motivation
(D) Socio-cultural conceptions of motivation
(Ans)

271. Which one of the following statements best
summarizes the relationship between
development and learning as proposed by

(B) tUe ls 6 o"kZ
(C) 6 ls 11 o"kZ
(D) 11 ls 18 o"kZ

269.vktZo rdZ nsrk gS fd Hkk"kk dk fodkl O;fÙkQ dh
uSlfxZd izoqfÙk ls izHkkfor gksrk gS tcfd lksukyh
eglwl djrh gS fd ;g ifjos'k ls izHkkfor gksrk gSA
vktZo vkSj lksukyh ds chp ;g ppkZ fdl fo"k; esa
gS\
(A) fLFkjrk rFkk vfLFkjrk ij cgl
(B) lrr rFkk vlrr vf/xe
(C) izd`fr rFkk ikyu&iks"k.k okn&fookn
(D) pqukSrhiw.kZ rFkk laosnu'khy Hkkouk

270. fo|kfFkZ;ksa dks LoPNrk ds fy, iszfjr djus gsrq mUgsa
LoPNrk lfefr dk lnL; cukuk] izfrfcfEcr djrk
gS
(A) iszj.kk dk O;ogkjoknh mikxe
(B) iszj.kk dk ekuorkoknh mikxe
(C) iszj.kk dk laKkukRed mikxe
(D) izsj.kk dh lkekftd&lkaLd`frd ladYiuk,¡

271. fuEufyf[kr dFkuksa esa ls dkSu&lk okbxksRldh ds
}kjk izLrkfor fodkl rFkk vf/xe ds chp lEcU/
dk loZJs"B :i esa lkj izLrqr djrk gS\
(a) fodkl vf/xe ls Lok/hu gSA
(b) fodkl&izfØ;k vf/xe&izfØ;k ls ihNs jg tkrh
gSA
(c) fodkl vf/xe dk lekukFkZd gSA
(d) vf/xe ,oa fodkl lekUkkUrj izfØ;k,¡ gSA

272.dksg~ycxZ ds fl¼kUr dh ,d izeq[k vkykspuk D;k
gS\
(a) dksg~ycxZ us fcuk fdlh vuqHkwfrewyd vk/kj
ds fl¼kUr izLrqr fd;kA
(b) dksg~ycxZ us izLrko fd;k fd uSfrd rkfdZdrk
fodklkRed gSA
(c) dksg~ycxZ us iq:"kksa ,oa efgykvksa dh uSfrd
rkfdZdrk esa lkaLd`frd fofHkUrkvksa dks egRo ugha
fn;kA
(d) dksg~ycxZ us uSfrd fodkl dh Li"V voLFkkvkas
dk mYys[k ugha fd;kA
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273.,d f'k{kkFkhZ&dsfUnzr d{kk&d{k esa vè;kkfidk djsxh
(a) vf/xe dks lqxe cukus ds fy, cPpksa dks ,d
nwljs ds lkFk vadksa ds fy, eqdkcyk djus gsrq
izksRlkfgr djukA
(b) og vius fo|kfFkZ;ksa ls ftl izdkj dh vis{kk
djrh gS mls iznf'kZr djuk vkSj rc cPPkksa dks oSlk
djus ds fy, fn'kk&funsZ'k nsukA
(c) bl izdkj dh i¼fr;ksa dks fu;ksftr djuk
ftlesa f'k{kkFkhZ vius LOk;a dks vf/xe ds fy, igy
djus esa izksRlkfgr gksaA
(d) eq[; rF;ksa dh O;k[;k djus ds fy, O;k[;ku
i¼fr dk iz;ksx djuk vkSj ckn esa f'k{kkfFkZ;ksa dk
mudh ltxrk ds fy, vkdyu djukA

274.xkMZuj ds cgq&cqf¼ ds fl¼kUr ds vuqlkj] og
dkjd tks O;fÙkQ ds ^vkRe&cks/* gsrq lokZf/d
;ksxnku nsxk] og gks ldrk gS
(a) laxhre;
(b) vkè;kfRed
(c) Hkk"kk&fo"k;d
(d) vUr% oS;fÙkQd

275.okbxksRLdh rFkk fi;k”ks ds ifjisz{;ksa esa ,d izeq[k
fofHkÂrk gS
(a) O;ogkjoknh fl¼kUrksa dh mudh vkykspukA
(b) cPpksa dks ,d ikyu&iks"k.k dk ifjos'k miyC/
djkus dh HkwfedkA
(c) Hkk"kk ,oa fpUru ds ckjs esa muds n`f"Vdks.kA
(d) Kku ds lfØ; fuEkkZrkvksa ds :i esa cPPkksa dh
ladYiukA

276.bl ij vR;f/d okn&fookn gksrk gS fd D;k
yM+dksa ,oa yM+fd;ksa ?kVdksa ds dkj.k gksrk gSA bl
lanHkZ esa fuEufyf[kr esa ls vki lcls vf/d fdlls
lger gSa\
(a) yM+fd;ksa dks lsokHkko ds fy, lkekftd :i
ls rS;kj fd;k tkrk gS tcfd yM+dksa dks jksus tSlk
laosx iznf'kZr djus ds fy, grksRlkfgr fd;k tkrk
gSA
(b) ;kSoukjEHk ds ckn yM+dsa vkSj yM+fd;k¡ ,d
lkFk ugha [ksy ldrs gSa D;ksafd mudh vfHk:fp;k¡
iw.kZr;k foijhr gksrh gSaA
(c) lHkh yM+fd;ksa esa dYkk&fo"k;ksa ds fy, vUrfuZfgr
izfrHkk gksrh gS tcfd yM+ds vkØked [ksyksa esa
csgrj izn'kZu ds fy, vkuqoaf'kd :i ls rS;kj gksrs

Vygotsky?
(a) Development is independent of learning.
(b) Development process lags behind the
learning process. (Ans)
(c) Development is synonymous with
learning.
(d) Learning and development are parallel
processes.

272. What is a major criticism, of kohlberg’s
theory?
(a) Kohlberg proposed a theory without any
empirical basic.
(b) Kohlberg proposed that moral reasoning
is development.
(c) Kohlberg did not account for cultural
differences in moral reasoning of men and
women. (Ans)
(d) Kohlberg did not give clear cut stages
of moral development.

273. In a learner-centered classroom, the teacher
would
(a) Encourage children to compete with
each other for marks to facilitate learning.
(b) Demonstrate what she expects her
students to do and then gives them guidelines
to do the same.
(c) Employ such methods in which the
learners are encouraged to take initiative for
their own learning. (Ans)
(d) Use lecture method to explain key facts
and then assess the learners for their
attentiveness.

274. According to Gardner’s theory of multiple
intelligence, the factor that would contribute
most for being a ‘self-aware’ individual would
be
(a) Musical
(b) Spiritual
(c) Linguistic
(d) Intrapersonal (Ans)

275. A major difference between the perspectives
of Vygotsky an Piaget pertains to
(a) Their critique of behavioristic principles.
(b) The role of providing nurturing
environment to children.
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gSaA
(d) yM+ds lsokHkko okys ugha gks ldrs gSa D;ksfd os
tUe ls bl izdkj ds gksrs gSaA

277.,d vè;kfidk ;g lqfuf'pr djuk pkgrh gS fd
mlds fo|kFkhZ vkUrfjd :i ls iszfjr gSaA bl lanHkZ essa
og djsaxh%
(a) lHkh cPpksa ds fy, miyfC/ ds ,dleku
ekudksa dks mfyYf[kr djuk
(b) vfUre ifj.kke ij è;ku nsus ds ctk; O;fÙkQxr
:i ls cPPkksa dh vf/xe dh izfØ;kvkssa ij è;ku nsuk
(c) oLrq :i esa iqjLdkj&izLrqr djuk
(d) bl izdkj dh vf/xe xfrfof/;ksa dh ;kstuk
cukuk tks vfHklkjh fpUru dks izksRlkgu nsrh gSa

278.d{kk&ijh{k.kksa esa vPNk izn'kZu djus esa ,d cPps
dh vliQyrk gesa bl fo'okl dh rjiQ ys tkrh gS
fd
(a) vkdyu oLrqfu"B gS rFkk vliQyrkvksa dks
Li"V :i ls igpkuus ds fy, bldk iz;ksx fd;k tk
ldrk gSA
(b) ikBÔØe] f'k{k.k&i¼fr rFkk vkdyu izfØ;kvksa
ij fopkj djus dh vko';drk gSA
(c) dqN cPPkksa dks vuqÙkh.kZ gksuk gh gS] pkgs
O;oLFkk mu ij fdruk Hkh vf/d iz;kl djsaA
(d) cPPks dqN fuf'Pr l{kerkvksa vkSj dfe;ksa ds
lkFk iSnk gksrs gSaA

279.vkidh d{kk esa dqN cPPksa gSa tks x+yfr;k¡ djrs gSaA
bl ifjfLFkfr dk vkids fo'ys"k.k ds vuqlkj buesa
ls dkSu&lk dFku lokZf/d mi;qÙkQ gS\
(a) cPpksa dk cqf¼LRkj fuEUk gSA
(b) cPpksa dh vè;;u esa :fp ugha gS vkSj os
vuq'kklughurk mRiÂ djuk pkgrs gSaA
(c) cPPkksa dks vkidh d{kk esa izksÂr ugha djuk
pkfg, FkkA
(d) cPpksa us vHkh ,d ladYiukRed Li"Vrk izkIr
ugha dh gS rFkk vkidks viuh f'k{k.k&fof/ ij
fpUru djus dh vko';drk gSA

280.,d fo|kFkhZ ,d izdj.k eas eq[; fcUnqvksa dk js[kkafdr
djrh gS] mldk ,d n`';kRed izLrqrhdj.k cukrh

(c) Their views about language and thought.
(Ans)
(d) Their conception of children as active
constructors of knowledge.

276. A lot of debate surrounds whether girls and
boys here specific sets of abilities due to their
genetic materials. Which one of the following
are you most likely to agree with in this
context?
(a) Girls are socialized to be caring while
boys are discouraged to show emotions such
as crying.   (Ans)
(b) After puberty boys and girls cannot play
with each other since their interests are
complete opposites.
(c) All girls have inherent talent for arts
while boys are genetically programmed to be
better at aggressive sports.
(d) Boys cannot be caring since they are
born that way.

277. A teacher wants to ensure that her students
are motivated intrinsically. She would
(a) Specify uniform standards of
achievement for all children.
(b) Focus on the processes of learning of
individual children rather than on the final
outcome.
(c) Offer tangible rewards.
(d) Plan learning activities which encourage
convergent thinking.

278. Failure of a child to perform well in class tests
leads us to believe that
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gS RkFkk izdj.k dh lekfIr ij vius fnekx esa mRiÂ
gksus okys iz'uksa dh izLrqr djrh gSA og
(a) fopkjksa ds la?kVu ds }kjk vius fpUru dks
funsZf'kr djus dh dksf'k'k dj jgh gSA
(b) vuqj{k.k iwokZH;kl dh j.kuhfr dk iz;ksx djus
dh dksf'k'k dj jgh gSA
(c) isz{k.k vf/xe lqfuf'pr dj jgh gSA
(d) dsUnz&fcUnq dh fof/ dk iz;ksx djus dh dksf'k'k
dj jgh gSA

281. fdl izdkj ls ,d vè;kfidk cPpksa dks csgrj
leL;k lekèkudÙkkZ cuus esa lgk;rk dj ldrh gS\
(a) cPPkksa dks fofo/ izdkj dh leL;kvksa dk
lek/ku djus ds ekSds nsuk rFkk mudk gy djrs
le; lg;ksx nsuk
(b) cPpksa dks ikBÔ&iqLRkd esa leL;kvksa dk mÙkj
ns[kus ds fy, izksRlkfgr djuk
(c) fo|kfFkZ;ksa ds lkeus izLrqqr lHkh leL;kvksa ds
lgh lekèkku miyC/ djkuk
(d) leL;kvksa dk lek/ku djus ds fy, oLrq :i
ls iqjLdkj nsuk

282. fuEufyf[kr dFkuksa esa ls vki fdlls legr gSa\
(a) vf/xe iq.kZ :i ls ckã míhiu ds }kjk
fu;af=kr gksrk gSA
(b) vf/xe rc rd ?kfVr ugha gks ldrk gS tc
rd fd bldk vadksa ds :i ls ckã :i ls vkdyu
ugha dj fy;k tkrk gSA
(c) vf/xe dsoy rHkh gksrk gS ;fn ;g O;ogkj esa
lqLi"V gksrk gSA
(d) vf/xe ,d lkekftd&lkaLd`frd ifjos'k esa
?kfVr gksrk gSA

283.buesa ls dkSu&lk cky fodkl dk ,d fl¼kUr gS\
(a) fodkl ifjiDou rFkk vuqHko ds chp
vU;ksU;fØ;k dh otg ls ?kfVr gksrk gSA
(b) vuqHko fodkl dk ,dek=k fu/kZjd gSA
(c) fodkl izcyu rFkk n.M ds }kjk lqfuf'pr
fd;k tkrk gSA
(d) fodkl izR;sd cPps dh xfr dk lgh <ax ls
vuqeku yxk ldrk gSA

284. ^izd`fr&ikyu iks"k.k* okn&fookn ds lanHkZ esa

(a) Assessment is objective and can be used
to clearly identify failures.
(b) There is a need to reflect upon the
syllabus, pedagogy and assessment
processes.(Ans)
(c) Some children are deemed to fail
irrespective of how the system tries.
(d) Children are born with certain
capabilities and deficits.

279. There are a few children in your class who
make errors. Which of these in most likely
to be your analysis of the situation?
(a) The children are not interested in
studies and want to create indiscipline.
(b) The children are not interested in
studies and want to create indiscipline.
(c) The children should not have been
promoted to your class.
(d) The children have not yet gained
conceptual clarity and there is need for you
to reflect on your pedagogy. (Ans)

280. A students highlights the main points in a
chapter, draws a visual representation and
poses questions that arise in her mind at the
end of the chapter. She is
(a) Trying to regulate her own thinking by
organization of ideas. (Ans)
(b) Trying to use the strategy of maintenance
rehearsal.
(c) Ensuring observational learning.
(d) Trying to use method of loci.

281. How can a teacher help children become
better problem solvers?
(a) By giving children a variety of problems
to solve and support while solving them (Ans)
(b) By encouraging children to look for
answers to the problems in the textbook
(c) By providing correct solutions to all the
problems they pose to students
(d) By giving tangible rewards for solving
problems

282. Of the following statements, which one do you
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fuEufyf[kr dFkuksa esa ls dkSu&lk vkidksa mi;qÙkQ
izrhr gksrk gS\
(a) ,d cPpk ,d [kkyh LysV ds leku gksrk gS
ftldk pfj=k ifjos'k ds }kjk fdlh Hkh vkdkj esa
<kyk tk ldrk gSA
(b) ,d cPPks ds O;ogkj dk fu/kZj.k djus esa
ifjos'kh; izHkkoksa dk cgqr de egÙo gksrk gS_ og
izFkkfed :i ls vkuqoaf'kd :i ls fu/kZfjr gksrk gSA
(c) oa'kkuqØe rFkk ifjos'k vfHkÂ :i ls ,d&nwljs ls
xq¡Fks gq, gSa vkSj nksuksa fodkl dks izHkkfor djrs gSaA
(d) cPps vkuqoaf'kd :i ls ml rjiQ izo`Ùk gksrs gSa
ftl rjiQ gksuk pkfg,] blls dksbZ iQdZ ugha iM+rk
gS fd os fdl izdkj ds ifjos'k esa iy&c<+ jgs gSaA

285.lekthdj.k ,d izfØ;k gS
(a) ewY;ksa] fo'oklksas rFkk vis{kkvksa dks vftZr djus
dhA
(b) ?kqyus&feyus rFkk lek;kstu dhA
(c) ,d lekt dh laLd`fr dh vkykspuk djuk
lh[kus dhA
(d) fe=kksa ds lkFk lekftd cuus dhA

286. fi;k”ks vuqeksnu djrs gSa fd iwoZ&lafØ;kRed cPps
;kn j[kus esa vleFkZ gksrs gSaA fuEufyf[kr dkjdksa esa
ls fdldks mUgksaus bl vleFkZrk ds fy, f”kEessnkj
Bgjk;k gS\
(a) ifjdfYir&fuxeukRed rkfdZdrk dh v;ksX;rk
(b) O;fÙkQxr dfYir dFkk
(c) fopkj dh vuqRØe.kh;rk (iyV u lds)
(d) mPp&Lrj dh vewrZ rkfdZdrk dh deh

287. fi;k”ks ds fl¼kUr ds vuqlkj] cPPks fuEu es ls
fdlds }kjk lh[krs gSa\
(a) lgh izdkj ls è;ku yxkdj tkudkjh ds ;kn
djuk
(b) lekt ds vf/d ;ksX; lnL;ksa ds }kjk miyC/
djk, x, lgkjs ds vk/kj ij
(c) vuqdwy dh izfØ;k,¡
(d) mi;qÙkQ iqjLdkj fn, tkus ij vius O;ogkj esa
ifjorZu djuk

agree with?
(a) Learning is completely governed by
external stimuli.
(b) Learning cannot take place unless it is
assessed externally in terms of marks.
(c) Learning has taken place only if it is
evident in behavior.
(d) Learning takes place in a socio-cultural
context. (Ans)

283. Which one of these is principle of child
development?
(a) Development occurs due to interaction
between maturation and experience. (Ans)
(b) Experience is the sole determinant of
development.
(c) Development is determined by
reinforcement and punishment.
(d) Development can accurately predict the
pace of each individual child.

284. In the context of ‘nature-nurture’ debate,
which one of the following statements seems
appropriate to you?
(a) A child is like a blank slate whose
character can be moulded by the environment
into any shape.
(b) Environmental influences only have a
little value in shaping up a child’s behavior
which is primarily genetically determined.
(c) Heredity and environment are
inseparable interwoven and both influence
development. (Ans)
(d) Children are genetically predisposed to
what they would be like irrespective of
whatever environment they grow up in.

285. Socialization is a process of
(a) Acquiring values, beliefs and
expectations. (Ans)
(b) Assimilation and accommodation.
(c) Learning to critique the culture of a
society.
(d) Socializing with friends.

286. Piaget proposes that pre-operational children
are unable to conserve. He attributes this
inability to which one of the following factors?
(a) Inability of hypothetic-deductive
(b) Personal fable
(c) Irreversibility of thought (Ans)
(d) Lack of high-level abstract reasoning
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288.okbxksRLdh ds vuqlkj] lehiLFk fodkl dk {ks=k gS
(a) vè;kfidk ds }kjk fn, x, lg;ksx dh lhek
fu/kZfjr djukA
(b) cPps ds }kjk Loar=k :i ls fd, tk ldus okys
rFkk lgk;rk ds lkFk djus okys dk;Z ds chp
vUrjA
(c) cPps dks viuk lkeF;Z izkIr djus ds fy,
miyC/ djk, x, lg;ksx dh ek=kk ,oa izd`frA
(d) cPph vius vki D;k dj ldrh gS ftldk
vkdyu ugha fd;k tk ldrk gSA

289.,d cgq&lakLd`frd d{kk&d{k esa ,d vè;kfid
lqfuf'pr djsxh fd vkdyu esa fuEufyf[kr esa
lfEefyr gks%
(a) vius vkdyu midj.k dh fo'oluh;rk rFkk
oS/rk
(b) vf/xe ds U;wure Lrjksa ds fy, vuqikyu
djrs gq,  fo|ky; iz'kklu dh vis{kkvksa dks iwjk
djukA
(c) vkdyu midj.k ds ekudhdj.k
(d) vius fo|kfFkZ;ksa dh lkekftd& lkaLd̀fr ì’Hkwfe

290.,d mPp izkFkfed fo|kyl ds lajpukRed d{kk&d{k
esa vius Lo;a ds vkdyu esa fo|kfFkZ;ksa dh Hkwfedk
fuEufyf[kr eas ls D;k ns[kk tk,xk\
(a) ,d foLr`r fn'kk&funsZ'k cukuk dh fdl izdkj
fo|kfFkZ;ksa dh miyfC/ RkFkk d{kk esa izfr"Bk vadks ds
lkFk lg&lEc¼ fd;k tk,xkA
(b) fo|kFkhZ vius vkdyu ds ,dek=k fu/kZjd gksa
(c) fo|kFkhZ vè;kid ds lkFk vkdyu esa fy,
;kstuk cuk,¡xs
(d) f'k{k.k&vf/fu;e esa vkdyu dh Hkwfedk udkjuk

291.lekos'kh f'k{kk ds ihNs ewyk/kj ;g gS fd
(a) lekt esa fofHkÂrk gS vkSj fo|ky;ksa dks fofHkÂrk
ds izfr laosnu'khy gksus ds fy, lekos'kh gksus dh
vko';drk gSA
(b) gesa fo'ks"k vko';drk okys cPpksa ds Åij
djus dh vko';drk gS vkSj lqfo/kvksa mudh igq¡p
gksuh pkfg,A
(c) fo'ks"k vko';drk okys cPPkksa ds fy, fo|ky;ksa
dh O;oLFkk djuk ykxr izHkkoh
(d) izR;sd cPps ds fu"iknu ds fy, ekud ,dl
rFkk ekudhd`r gksus pkfg,A

292. fuEufyf[kr esa ls dkSu&rjhdk vè;kfidk ds }kjk

287. According to Piaget’s theory, children learn
by
(a) Memorizing information by paying due
attention.
(b) Scaffolding provided by more able
members of the society.
(c) Processes of adaptation.(Ans)
(d) Changing their behaviour when offered
appropriate rewards.

288. According to Vygotsky, zone of proximal
development is
(a) Zone demarking the support offered by
the teacher.
(b) The gap between what the child can do
independently and with assistance. (Ans)
(c) The amount and nature of support
provided to the child to achieve her potential.
(d) What the child can do on her own which
cannot be assessed.

289. A teacher in a multi-cultural classroom would
ensure that the assessment considers the
following:
(a) Reliability and validity of her assessment
tool
(b) Expectations of the school
administration by complying with the
minimum levels of learning
(c) Standardization of the assessment tool
(d) Socio-cultural context of her students
(Ans)

290. An upper primary school constructivist
classroom would foresee the following role
of students in their own assessment:
(a) Maker detailed guidelines for how marks
would be correlated to students’ achievement
and prestige in class.
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,d l`tukRed cPps dh igpku djus ds fy,
lokZf/d mi;qÙkQ gksxk\
(a) ;g voyksdu djuk dh cPph lewg dk;Zsa esa
lkfFk;ksa ds lkFk fdl izdkj ls izfrfØ;k djrh gS
(b) ekudhd`r c`f¼ ijh{k.kksa dks nsuk
(c) oLrqfu"B izdkj ds ijh{k.kksa dks nsuk
(d) cPPks dk foLr`r :i ls voyksdu djuk]
fo'ks"k :i ls ml le; tc og leL;kvksa dk gy
djrh gS

293.,d vè;kfidk lekt ds ̂ oafpr oxksZa* ls vk, cPpksa
dh vko';dkrkvksa ds izfr izHkko'kkyh rjhds ls
izfrfØ;k fuEufyf[kr }kjk dj ldrh gS%
(a) ^vU; cPPkksa* dks ̂ oafpr oxZ ls vk, cPpksa* ds
lkFk lg;ksx djus ds fy, dguk rFkk fo|ky; ds
rjhdksa dks lh[kus esa mudh lgk;rk djus ds fy,
dguk
(b) fo|ky;h O;oLFkk rFkk Lo;a ds mu rkSj&rjhdksa
ds ckjs esa fopkj djuk ftuls i{kikr ,oa :f<+c¼rk,¡
>ydrh gSa
(c) muds izrkfM+r gksus ds voljksa dks de djus ds
fy, ;g lqfuf'pr djuk fd cPps vkil esa
vU;ksU;fØ;k djus dk ekSdk u ik,¡
(d) oafpr oxZ ls vk, cPpksa dks fo|ky;' ds
fu;eksa ,oa  vis{kkvksaa ds izfr laosnu'khy cukuk
rkfd os mudk vuqikyu djsa

294.vuqla/ku ls irk pyk gS fd fo|ky;ksa esa vusd Lrjksa
ij foHksnhdj.k ik;k tkrk gSA mPp izkFkkfed Lrj
ij buesa ls dkSu&lk foHksnhdj.k dk ,d mnkgj.k
ugha gS\
(a) cgqr ls vè;kid i<+kus ds fy, dsoy O;k[;ku
fof/ dk iz;ksx djrs gSaA
(b) eè;kâ Hkkstu ds nkSjku nfyr cPpksa dks vyx
cSBk;k tkrk gSA
(c) yM+fd;ksa dks xf.kr rFkk foKku fo"k;ksa dks ysus
ds fy, izksRlkfgr ugha fd;k tkrk gSA
(d) vè;kidksa dh fuEu lkekftd&vkfFkZd ifjos'k
ls vk, cPpksa ls cgqr de vis{kk,¡ gksrh gSaA

295.buesa ls dkSu&lh vf/xe&v'kÙkQrk okys cPps dh
fo'ks"krk gS\
(a) 50 ls uhps dh cqf¼ yfC/
(b) vU; cPPkksa dks /edkuk rFkk vkØked dke
yxs jguk

(b) Students would be the sole determinants
of their own assessment.
(c) Students would plan for assessment with
the teacher. (Ans)
(d) Denying that assessment has a role in
teaching-learning.

291. The rationale behind inclusive education is
that
(a) Society is heterogeneous and schools
need to be inclusive to cater to
heterogeneous society. (Ans)
(b) We need to take pity on special children
and provide them access to facilities.
(c) It is not cost-effective to provide for
separate schools for special children.
(d) The benchmarks for performance of each
child should be uniform and standardized.

292. Which one of the following would be the most
effective way to identify a creative child by
the teacher?
(a) Observing how the child interacts with
peers in team tasks
(b) Administering standardized inte3lligence
tests
(c) Giving objective type tests
(d) Detailed observation of the child
especially when she solve problems (Ans)

293. A teacher can effectively respond to the needs
of children from ‘disadvantaged children’ and
help them learn the ways of the school.
(a) Telling the ‘other children’ to co-operate
with the ‘disadvantaged children’ and help
them learn the ways of the school.
(b) Reflecting on the school system and
herself about various ways in which biases and
stereotypes surface. (Ans)
(c) Ensuing that the children do not get a
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(c) ,d gh izdkj dh xR;kRed fØ;k dks ckj&ckj
nksgjkuk
(d) /kjkizokg :i ls i<+us rFkk 'kCnksa ij iYkV
tkus esa dfBukbZ

296. fuEufyf[kr esa ls dkSu&lk dFku lcls csgrj <ax ls
o.kZu djrk gS fd d{kk esa cPpksa dks iz'u iwNus ds
fy, D;ksa izksRlkfgr djuk pkfg,\
(a) iz'u cPpksa dh ftKklk dks c<+krsa gSaA
(b) iz'u vU;ksU;fØ;k ds }kjk vf/xe dks c<+krs gS
rFkk ladYiukRed Li"Vrk dh fn'kk c<+rs gSaA
(c) cPpksa dks vius Hkk"kk dkS'kyksa ds vH;kl
vko';drk gksrh gSA
(d) ftu phtksa ds ckjs esa cPps ugha tkurs gS mudksa
mlds ckjs esa fopkj djokdj mUgsa ;g eglwl
djok;k tk ldrk gS fd muesa cqf¼ dh deh gSA

297. fuEufyf[kr esa ls dkSu&lh vkdyu i¼fr fo|kfFkZ;ksa
dh lokZsÙke {kerk dks iksf"kr djsxh\
(a) tc fo|kfFk;ksZ dks cgq&fodYih; iz'uksa ekè;e
ls fd, x, ijh{k.k ds :i ls rF;ksa nksgjkus dh
vko';drk gksrh gS
(b) tc ladYiukRed ifjorZu rFkk fo|kfFkZ;ksa ds
oSdfYid lek/kuksa dks vkdyu dh fof/ fof/;ksa
ds }kjk vkdfyr fd;k tkrk gS
(c) tc d{kk esa fo|kfFkZ;ksa ds }kjk izkIr fd, x,
vkSj LFkku liQyrk dk ,dek=k fu/kZjd gksrs gS
(d) tc ijh{kk ds vadksa vkSj fo|kFkhZ dh ;ksX;rk chp
ldkjkRed lglEcU/ ij cy fn;k gS

298.,d cPps dks lgkjk nsus dh ek=kk ,oa izdkj esa
ifjorZu bl ckr ij fuHkZj djrk gS%
(a) vè;kfidk dh euksn'kk
(b) dk;Z ds fy, izLrkfor iqjLdkj
(c) cPps ds fu"iknu dk LRkj
(d) cPps dh uSlfxZd ;ksX;rk,¡

299.mPp izkFkfed fo|ky; dh xf.kr&vè;kfidk ds
:i esa vki fo'okl djrh gSa fd
(a) fo|kfFkZ;ks a dh xyfr;k¡ muds fpUru esa
vUrnZ̀f"V;k¡ miyC/ djkrh gSaA
(b) mPp izkFkkfed fo|ky; ds lHkh cPpksa esa
xf.kr i<+us dh ;ksX;rk ugha gksrh gSA
(c) yM+ds xf.kr dks fcuk vf/d iz;kl fd, lh[k
tk,¡xs D;ksafd ;g mudh ^tUetkr* fo'ks"krk gS rFkk
vkidks yM+fd;ksa ds Åij vf/d è;ku nsus dh

chance to interact with each other to minimize
the chances of their being bullied.
(d) Sensitizing the disadvantaged children to
the norms and strictures of schools so that
they can comply with those.

294. Research has pointed out that several levels
of discrimination exist in the schools. Which
of these is not an example of discrimination
at upper primary level?
(a) Many teachers use only lecture method
to teach. (Ans)
(b) Dalit children are made to sit separately
during mid-day meals.
(c) Girls are not encouraged to take up math
and science.
(d) Teachers have low expectations of
children from lower soci-economic strata.

295. Which of these of a characteristic of child with
learning disability?
(a) An IQ below 50
(b) Bullying other children and engaging in
aggressive acts
(c) Doing the same motor action repeatedly
(d) Difficulty in reading fluently and
reversing words (Ans)

296. Which one of the following statements best
describes why children should be encouraged
to ask questions in the class?
(a) Questions increase the curiosity of the
children.
(b) Questions take learning forward by
interactions and lead to conceptual clarity.
(Ans)
(c) Children need to practice their language
skills.
(d) Children can be made to realize that they
lack intelligence by making them think of all
the things they don’t know about.

297. Which one of the following assessment
practices will bring out the best in students?
(a) When students are required to
reproduce facts as tested via multiple choice
questions
(b) When conceptual change and students’
alternative solution are assessed through
several different methods of assessment
(Ans)
(c) When the marks obtained and the
position secured by the students in the class
are the ultimate determinates of success
(d) When the emphasis is laid upon positive
correlation between test scores and student
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ability
298. The amount and type of scaffolding to a child

would change depending on the
(a) Mood of the teacher.
(b) Rewards offered for the task.
(c) Level of the child’s performance. (Ans)
(d) Child’s innate abilities.

299. As an upper primary school mathematics
teachers you believe that
(a) Students’ errors provide insights into
their thinking. (Ans)
(b) Not all children have the ability to study
mathematics in upper4 primary school.
(c) Boys will learn mathematics without
much effort since they are ‘born with it’ and
you need to pay more attention to girls.
(d) Students need to possess procedural
knowledge even if they don’t understand
conceptual basis.

300. Which one of these statements do you agree
with?
(a) A child fails because the government is
not giving enough technological resources in
schools.
(b) A child’s failure can be attributed directly
to the genetic material he/she has acquired
from his/her parents.
(c) A child’s failure is a reflection on the
system and its inability to respond to the child.
(Ans)
(d) A child’s failure is primarily due to lack
of parent’s education and economic status.

vko';drk gSA
(d) fo|kfFkZ;ksa dks dk;Zfof/d Kku dks tkuus dh
vko';drk gksrh gS] pkgs os ladYiukRed vk/kj
ugha le>rs gksaA

300.bu dFkuks eas ls vki fdlls lger gSa\
(a) ,d cPpk vuqÙkh.kZ gksrk gS D;ksafd ljdkj
fo|ky;ksa esa i;kZIr izkS|ksfxdh; lalk/u iznku ugha
dj jgh gSA
(b) ,d cPPks dh vliQyrk ds fy, oa'kkuqØe
?kVdksa dks izR;{k :i ls ftEesnkj Bgjk;k tk ldrk
gS] ftls mlus vius ekrk&firk ls vftZr fd;k gSA
(c) ,d cPps dh vliQyrk O;oLFkk rFkk cPps ds
izfr izfrfØ;k djus esa budh vleFkZrk dk ,d
izfrfcEc gSA
(d) ,d cPPks dh vliQyrk eq[; :i ls ekrk&firk
dh f'k{kk rFkk vkfFkZd Lrj esa deh ds dkj.k gSA
(d) oSKkfud Kku ds fodkl ls dYiuk 'kfDr
l`tukRedrk lfEEkfyr gksrh gSA
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